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!1&% (∃∀∋�
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#2&!� +#∀������<��.−�+/.∀�.−��&�! ∃/ %∀���
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�

�

<��3/≅8(/�∋1786(+/���

�&�+/∃∃−%∀�.∀������9�������
���∀(��+/%+∀!%∗∀�)&!���
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#2∀=�∀%( /%∋� .2 ∃∃∀−1#∀(� .∀� 0!&%.∀� 7&−�∀−!∋� .2 %(�&##&� /%(� %−+#∗& !∀(� .∀� 1&(∀� ∀��
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#2&# 0%∀∃∀%�∋�(&−3�5�. ()/(∀!�.2−%∀�+/−!�.2∗6/#−� /%�)∀!∃∀��&%��.2∀33∀+�−∀!�#∀(�∃&%Υ−6!∀(�.2&++8(�&−�
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2����2/14∀+� 3�∗�&%��.∀�)!∗(∀!6∀!�#∀(�7&1 �&%�(�.∀(�

6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #&� 6−∀� +!∗∗∀� ./%%∀� (−!� −%∀�

)!/)! ∗�∗�! 6∀!& %∀�+/%(�!− �∀�/−�+/%(�!−+� 1#∀�.&%(�−%∀�6/+&� /%�.27&1 �&���

�

�%3 %∋�.&%(�#∀�+&(�.∀��∀!!&((∀(�&++∀(( 1#∀(�/−�.∀�1&#+/%(∋�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�#∀�

% 6∀&−�3 % �.∀�)#&%+7∀!�∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�%∀�)∀−��∆�!∀� %3∗! ∀−!∀�5�.∀−=�

3/ (�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5���∃���=�Η�9�Ι��
0���


#� +/%6 ∀%��.2∀%�∀%.!∀�)&!�Κ�∀!!&((∀�&++∀(( 1#∀Κ∋�%/%�)&(�−%∀�&++∀(( 1 # �∗� �∀+7% ,−∀�%∗+∀(( �∗∀�)/−!�

−%∀�!& (/%�.2∀%�!∀� ∀%∋�∃& (�−%∀�&++∀(( 1 # �∗�.∀�Κ# ∀−�.∀�6 ∀Κ∋�∃∆∃∀�/++&( /%%∀#���2/14∀+� 3�∗�&%��.∀�

)!∗(∀!6∀!� #∀(� 7&1 �&%�(� .∀(� 6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #∀�

1&#+/%� /−� #&� �/ �−!∀<�∀!!&((∀� +!∗∀� −%∀� 6−∀� (−!� #&� )!/)! ∗�∗� ! 6∀!& %∀� ∀�� −% ,−∀∃∀%�� ( � #&� # ∃ �∀�

(∗)&!&� 6∀�./%%∀�(−!�−%�∀()&+∀�+/%(�!− ��/−�+/%(�!−+� 1#∀�.&%(�−%∀�.∀(� %&� /%�.27&1 �&���

�

�∴����
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�.∀�#&�∃&!0∀�.∀�!∀+−#���

•  #∀(� +7∀∃ %∗∀(∋� /−6!&0∀(� �∀+7% ,−∀(� ∀�� &−�!∀(� (−)∀!(�!−+�−!∀(� Β+7&−33∀! ∀(∋� &%�∀%%∀(∋�

)&!&�/%%∀!!∀(∋�0&!.∀<+/!)(∋�∀�+����Χ�.∗)&((&%��.∀�#&��/ �−!∀∋�

•  �/−�∀�(& ## ∀�.∀�∃/ %(�.∀��∋��∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�/−�∀3/ (� ( � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� )/−!!/%�� ∆�!∀� &.∃ (∀(� )/−!�

#	 ∃)#&%�&� /%�.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�

�

��	����� ��� �� ��
���	�	�������� ����	���	����� ���������
��� ��

��	� ��,� ��	����

�������������
��
���	��

�
�� ∃/ %(� ,−∀� #∀(� 1Γ� ∃∀%�(� %∀� (/ ∀%�� +/%� 0−(∋� #&� . (�&%+∀� #∀(� (∗)&!&%�� ./ �� ∆�!∀� �∀##∀� ,−∀�

( ∃−#�&%∗∃∀%��#∀(�+/%. � /%(�.∀�)&((&0∀�∀��.∀�3/%+� /%%∀∃∀%��.−�∃&�∗! ∀#�.∀�#−��∀�+/%�!∀�#2 %+∀%. ∀�

(/ ∀%��(&� (3& �∀(∋��/−��∀%�)! 6 #∗0 &%��&−�∃ ∀−=�#	∀%(/#∀ ##∀∃∀%���

�

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  15 

�

�

�

��	������������
������������
�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��#∀�!&))/!��.∀�#&�(−!3&+∀�)!/4∀�∗∀�&−�(/#�.∀(�6/#−∃∀(�7/!(�Υ−6!∀�.∀�

#2∀%(∀∃1#∀� .∀(� +/%(�!−+� /%(� /−�  %(�&##&� /%(∋� 5� #&� (−!3&+∀� .−� �∀!!& %� Β#∀(� 1&#+/%(∋� #/00 &(∋� �∀!!&((∀(∋�

) (+ %∀(�%/%�+/−6∀!�∀(∋�.∗1/!.(�.∀��/ �−!∀�%∀�(/%��)&(�)! (�∀%�+/∃)�∀�.&%(�#∀�+&#+−#Χ���

�2∀%�!∀%�� ∗0&#∀∃∀%�� )&(� .&%(� #∀� +&#+−#∋� #∀(� 0&!&0∀(� /−� &−�!∀(� #/+&−=� ∀%�∀!!∗(� ∀%� �/�&# �∗� /−�

)&!� ∀##∀∃∀%�∋�( �−%�(/#�&!� 3 + ∀#�&++∀(( 1#∀�∀(��!∀+/%(� �−∗�&−<.∀((−(∋�∀%�+/%� %− �∗�&6∀+�#∀�(/#�%&�−!∀#���

�


%� .∗)&((∀∃∀%�� .−� ���� .∀� ��]� ∃&= ∃−∃� (∀!&� &−�/! (∗� )/−!� #∀(� +/%(�!−+� /%(� !∀∃)# ((&%�� .∀(�

+! �8!∀(� .∀� )∀!3/!∃&%+∀(� ∗%∀!0∗� ,−∀(� /−� +/∃)/!�&%�� .∀(� ∗,− )∀∃∀%�(� .∀� )!/.−+� /%� .	∗%∀!0 ∀(�

!∀%/−6∀#&1#∀(��

�

�∀� +/∀33 + ∀%�� .2∀∃)! (∀� &−� (/#� ∀(�� # ∃ �∗� 5� ϑ .� (&−3� ∀%� (∀+�∀−!(� �)� ∀�� �∗� .&%(� #∀(,−∀#(�  #� %2∀(�� )&(�

# ∃ �∗��

�

�∀�+/∀33 + ∀%��.	∀∃)! (∀�&−�(/#�%∀�(	&))# ,−∀�)&(�)/−!�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3���

�

�

��	�������ϑ���
��	������,��������������	���	�����
�

�&� 7&−�∀−!� .∀(� +/%(�!−+� /%(� ./ �� !∀()∀+�∀!∋� #∀� +&(� ∗+7∗&%�∋� +(/�&63(∋7173&∋/�9∃1=4∋1;(=(∋7�(7�9(�

06&;61==173&∋��

�

�∀�% 6∀&−�&#� ∃∗�! ,−∀�.−�)#&%+7∀!�#∀�)#−(�1&(�.∀�#&�+/%(�!−+� /%�%∀�.∀6!&�)&(�∆�!∀� %3∗! ∀−!�5�#&�+/�∀�

.−��∀!!& %�%&�−!∀#�Β)! (�&−�)/ %��#∀�)#−(�1&(�.&%(�#2∀∃)! (∀�.∀�#&�+/%(�!−+� /%Χ��

�

�&�7&−�∀−!�.∀(�%/−6∀##∀(�+/%(�!−+� /%(�%∀�./ ��)&(�∀=+∗.∀!���% 6∀&−=�7/!(�(/#∋�)/!�∗�5���% 6∀&−=�7/!(�

(/#�.&%(�#∀(�(∀+�∀−!(��∗�∀���)∋�#∀��!/ ( 8∃∀�% 6∀&−∋�/−�,−&�! 8∃∀�% 6∀&−�.&%(�#∀(�(∀+�∀−!(��∗�∀���)∋�%∀�

)/−6&%�� ∆�!∀� &#/!(� ,−∀� .∀(� +/∃1#∀(� &∃∗%&0∗(� (/ �� Κ��Π��Π+/∃1#∀(Κ� ∀�� Κ��Π��Π+/∃1#∀(Κ� .&%(� #∀(�

(∀+�∀−!(��∗�∀���)��

�&%(�#∀�+&(�.∀�+/∃1#∀(�&∃∗%&0∗(∋� #�%∀�(∀!&�&−�/! (∗�,−2−%�(∀−#�% 6∀&−�.&%(�#∀(�+/∃1#∀(���∀��∀�!80#∀�

∀(��6∗! 3 ∗∀�+/−)∀�)&!�+/−)∀�∀%�+&(�.∀�+/%(�!−+� /%(�&6∀+�.∀(�.∗+&#&0∀(�.∀�% 6∀&−=��

�

�&!� & ##∀−!(∋� #&� 7&−�∀−!� .∀(� 1263/� 9(� Κ1693∋/� %∀� 3& (&%�� )&(� +/!)(� &6∀+� #&� +/%(�!−+� /%� )! %+ )&#∀∋�

∃∀(−!∗∀�5�)&!� !�.−�% 6∀&−�.−�(/#�%&�−!∀#�Β&−�+∀%�!∀�.∀�#2&1! Χ�4−(,−2&−�(/∃∃∀��Β�/ �−!∀�+/∃)! (∀Χ�.∀�

#2&1! ∋�%∀�./ ��)&(�∀=+∗.∀!��∋���∃��

�

�(/�)&∋/768)73&∋/�493534(/�(∋�+3=37(�/4016173Χ(�%∀�)/−!!/%��∀=+∗.∀!��∋���∃�.∀�7&−�∀−!�5�#2&)#/∃1�.∀�

#&� # ∃ �∀�� �∀��∀� 7&−�∀−!� )&((∀� 5� �∋��� ∃8�!∀(� ∀%� (∀+�∀−!� �)� ∀�� �∗∋� (&−3� ( � #&� # ∃ �∀� (∗)&!&� 6∀� ∀%�

,−∀(� /%�+/!!∀()/%.�&−(( �5�−%∀�# ∃ �∀�&6∀+�#&�:/%∀�
∋�+&(�.&%(�#∀,−∀#�+2∀(��#&�!80#∀�.∀�#&�:/%∀�
�,− �

(2&))# ,−∀��

�∀��∀�7&−�∀−!�(∀�∃∀(−!∀�5�#2&)#/∃1�.∀�#&�# ∃ �∀�+/∃∃∀�(− ����

<� � � #∀� )/ %�� ∀(�� ( �−∗� 5� ���∃� /−� ∃/ %(� .∀� . (�&%+∀� .∀� #2&# 0%∀∃∀%�� .∀� #&� 6/ ∀� .∀� + !+−#&� /%�

)−1# ,−∀∋� #&� 7&−�∀−!� (∀� ∃∀(−!∀� 5� )&!� !� .−� % 6∀&−� .−� 3/%.� .∀� �!/��/ !� /−� .∀� #2&++/�∀∃∀%�� #∀� )#−(�

)!/+7∀��

<�� �#∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�

.−�% 6∀&−�∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  16 

�

�

� �∀##∀(�(2&))− ∀%��5�−%∀�+/%(�!−+� /%�.∗45� ∃)#&%�∗∀�∀%�# ∃ �∀�.∀�)!/)! ∗�∗�(−!�#∀�3/%.(�6/ ( %∋�/−�5�−%�

∃−!�.∀�+#Η�−!∀∋�#&�7&−�∀−!�.∀(�+/%(�!−+� /%(�∀%�# ∃ �∀�(∗)&!&� 6∀�(∀!&�# ∃ �∗∀�5�+∀##∀∋�(/ ��.−�1Γ� ∃∀%��

∀= (�&%�∋� (/ �� .−� ∃−!� ∀= (�&%��� �∀��∀� # ∃ �&� /%� .∀� 7&−�∀−!� .∀(� +/%(�!−+� /%(� ∗. 3 ∗∀(� ∀%� # ∃ �∀�

(∗)&!&� 6∀�%∀�(2&))# ,−∀�)&(∋�.&%(� #∀�+&(� .2/)∗!&� /%�.2∀%(∀∃1#∀>�&−=� # ∃ �∀(�(∗)&!&� 6∀(�+!∗∗∀(�)&!�

#2/)∗!&� /%��

�

�&−3� ∀%� (∀+�∀−!� �)� ∀�� �∗∋� #/!(,−2∀##∀(� %∀� (/%�� % � &++/#∗∀(∋� % � 4/ %� 6∀(� /−�  %�∗0!∗∀(� &−� 1Γ� ∃∀%��

)! %+ )&#∋�#∀(�+/%(�!−+� /%(�&%%∀=∀(�.∀�#27&1 �&��∀��#∀(�&1! (�.∀�4&!. %�∗. 3 ∗(�∀%�# ∃ �∀�.∀�#2&# 0%∀∃∀%��

.∀(�6/ ∀(�/−6∀!�∀(�5�#&�+ !+−#&� /%�6∗7 +−#∀�)−1# ,−∀�%∀�)/−!!/%��∀=+∗.∀!��∋���∃�.∀�7&−�∀−!�∃∀(−!∗∀�

5�#2&)#/∃1�.∀�#2&# 0%∀∃∀%��∀��)&!�!&))/!��&−�% 6∀&−�.∀�3/%.�.∀��!/��/ !��

�

�∴����
������

�/!(,−∀�#∀−!(�+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�#2 ∃)/(∀%�∋�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�

3& 1#∀�∀∃)! (∀�)/−!!/%��∆�!∀�∀=∀∃)�∗(�.∀�#&�!80#∀�.∀�7&−�∀−!��

�

�&%(�#∀�+&(�.∀�+/%(�!−+� /%(�)!∗∀= (�&%�∀(�)!∗(∀%�&%��−%∀�7&−�∀−!�(−)∗! ∀−!∀�5�+∀##∀�3 =∗∀�+ <.∀((−(∋�

.&%(� −%� 1−�� .∀� 1/%%∀�  %�∗0!&� /%� &!+7 �∀+�−!&#∀∋� #∀−!(� ∀=�∀%( /%(� )/−!!/%�� )!∗(∀%�∀!� −%∀� 7&−�∀−!�

∗0&#∀∋�&−�)#−(∋�5�+∀##∀�.−�1Γ� �)!∗∀= (�&%���

�

�

��	�������������
��	��,	�������
�

�4∋461+374/�

�∀(�+/%(�!−+� /%(∋�Φ�+/∃)! (�#∀(�&%%∀=∀(∋�./ 6∀%��)!∗(∀%�∀!�−%�&()∀+��+/∃)&� 1#∀�&6∀+�#∀�+&!&+�8!∀�/−�

#2 %�∗!∆��.∀(�# ∀−=�&6/ ( %&%�(∋�.−�( �∀�∀��.∀(�)&Φ(&0∀(���∀(�6/#−∃∀(�.∀(��/ �(�∀��#∀(�∃&�∗! &−=�./ 6∀%��

∆�!∀�+7/ ( (�.∀�∃&% 8!∀�5�+/∃)/(∀!�−%��/−��7/∃/08%∀�&6∀+� #∀(� ∃∃∀−1#∀(�∀= (�&%�(�./%�� #&�,−&# �∗�

&!+7 �∀+�−!&#∀� ∃∗! �∀� .2∆�!∀� !∀()∀+�∗∀∋� (&%(� �/−�∀3/ (� +/%(� �−∀!� −%� )&(� +7∀� .2&!+7 �∀+�−!∀� )(∀−./<

!∗0 /%&#∀��

�

�2&()∀+��.∀(�+/%(�!−+� /%(�5�−(&0∀�.2&+� 6 �∗�/−�.2∗,− )∀∃∀%�(�+/##∀+� 3(�,− ∋�)&!�#∀−!�(−!3&+∀�/−�#∀−!�

6/#−∃∀∋�%∀�)∀−6∀%��(2&(( ∃ #∀!�5�.∀(�1Γ� ∃∀%�(��!&. � /%%∀#(�Β7&%0&!(∋�(&##∀�.∀(�3∆�∀(∋�ΤΧ�.∀6!&∋�)&!�#∀�

4∀−� .∀(� 3/!∃∀(� ∀�� #2−� # (&� /%� .∀� ∃&�∗! &−=� ∀�� .∀� �∀+7% ,−∀(� &))!/)! ∗∀(∋� ∀=)! ∃∀!� −%∀� +∀!�& %∀�

!∀+7∀!+7∀� .&%(� #∀� 1−�� .∀� �!&.− !∀� .∀� 3&Ο/%� ∀(�7∗� ,−∀� #∀−!� +&!&+�8!∀� 3/%+� /%%∀#� ∀�� .	&((−!∀!� #∀−!�

1/%%∀� %�∗0!&� /%�&−�+&.!∀�1Γ� ��

�

�∀(� ∗#∗∃∀%�(� (∀� !&))/!�&%�� &−� +/∃∃∀!+∀� Β.∀6&%�−!∀(� .∀� ∃&0&( %(� ∀�� #∀−!(� ∀%(∀ 0%∀(Χ� ./ 6∀%�� ∆�!∀�

 %�∗0!∗(�.&%(�#&�+/∃)/( � /%�&!+7 �∀+�−!&#∀�.∀(�1Γ� ∃∀%�(�(&%(�)/!�∀!�&��∀ %�∀�)&!� #∀−!(�. ∃∀%( /%(∋�

#∀−!(�+/−#∀−!(∋�#∀(�∃&�∗! &−=�∀∃)#/Φ∗(∋�&−�+&!&+�8!∀�.∀�#2∀%6 !/%%∀∃∀%���

�

�/−!�#∀(�∗#∗∃∀%�(�!∀)∗!∗(�&−�� �!∀�.∀(�. ()/( � /%(�.∀�#	&!� +#∀������<�<�∋�Ε;∋�.∀(�)!∀(+! )� /%(�()∗+ &#∀(�

)/−!!/%�� ∆�!∀�  ∃)/(∗∀(∋� &−� 6−� .∀(� +&!&+�∗! (� ,−∀(�  .∀%� 3 ∗∀(� ∀�� .∗+! �∀(� .&%(� #∀(� 3 +7∀(� ?�Α +7∀(�

.2 .∀%� 3 +&� /%�.−�)&�! ∃/ %∀≅�#∀(�+/%+∀!%&%�∋�4/ %�∀(�&−�!&))/!��.∀�)!∗(∀%�&� /%��

�/−(� �!&6&−=� &Φ&%�� )/−!� ∀33∀�� .∀� .∗�!− !∀� /−� ∃/. 3 ∀!� −%� .∀� +∀(� ∗#∗∃∀%�(∋� ∀%� &))# +&� /%� .−� Ε;� .∀�

#2&!� +#∀�����<�<��.−�+/.∀�.∀�#2−!1&% (∃∀�∀��%/%�(/−∃ (�5�−%�!∗0 ∃∀�.∀�.∗+#&!&� /%�/−�.2&−�/! (&� /%∋�

./ 6∀%�� 3& !∀� #2/14∀�� .	−%∀� .∗+#&!&� /%� )!∗&#&1#∀∋� 6/ !∀� .	−%� )∀!∃ (� .∀� .∗∃/# !� +/%3/!∃∗∃∀%�� 5�

#	&!� +#∀������<�ϑ�.−��/.∀�.∀�#	
!1&% (∃∀���

�

�∀(�. ()/( � /%(�.∗!/0&�/ !∀(�(∀!/%��)/(( 1#∀(�#/!(,−	∀##∀(�)∀!∃∀��!/%����

•  #&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�./∃∀(� ,−∀(�(/#& !∀(��7∀!∃ ,−∀(�/−�)7/�/6/#�&⊥,−∀(∋�

•  /−�.∀��/−(�&−�!∀(�. ()/( � 3(� %. 6 .−∀#(�.∀�)!/.−+� /%�.	∗%∀!0 ∀�!∀%/−6∀#&1#∀∋�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  17 

•  /−� #	−� # (&� /%� ∀%� 3&Ο&.∀� .−� 1/ (� /−� .∀� �/−�� &−�!∀� ∃&�∗! &−� !∀%/−6∀#&1#∀� )∀!∃∀��&%��

.2∗6 �∀!�.∀(�∗∃ (( /%(�.∀�0&:�5�∀33∀��.∀�(∀!!∀∋�

•  /−�#&�!∗&# (&� /%�.∀��/ �−!∀(�6∗0∗�&# (∗∀(�/−�!∀�∀%&%��#∀(�∀&−=�)#−6 &#∀(���

.−� ∃/∃∀%�� ,−	∀##∀(� !∗(−#�∀%�� .	−%∀� !∗3#∀= /%� 6 (&%�� 5� #∀(�  %�∗0!∀!� 6 (−∀##∀∃∀%�� &−� ∃ ∀−=� 5� #∀−!(�

∀%6 !/%%∀∃∀%��∀��5�#&�+/∃)/( � /%�&!+7 �∀+�−!&#∀�.−�1Γ� ∃∀%���

�

	&3786(/�

Α/!∃∀(�.∀��/ �−!∀(�

�2 #�∀= (�∀�−%∀�)∀%�∀∋�∀##∀�./ ��!∀)!∀%.!∀�#&�./∃ %&%�∀�.∀(�)∀%�∀(�.−�(∀+�∀−!∋�&6∀+�−%�∃ % ∃−∃�.∀���;�

)/−!�#∀(�%/−6∀##∀(�+/%(�!−+� /%(�5�−(&0∀�.27&1 �&� /%���∀��∀�)∀%�∀�∃ % ∃&#∀�%∀�(2&))# ,−∀�)&(�)/−!�#∀(�

&))∀%� (∋� 6∗!&%.&(∋� )∀!0/#&(∋� 6∀!! 8!∀(� /−�  %(�&##&� /%(� .−� ∃∆∃∀� �Φ)∀∋� &��∀%&%�(� &−� 1Γ� ∃∀%��

.27&1 �&� /%��

�

�∀(� �/ �−!∀(�5�−%�(∀−#�6∀!(&%��(−!�6/#−∃∀� (/#∗�%∀�(/%��&−�/! (∗∀(�,−∀�)/−!� #∀(�&))∀%� (�∀��&%%∀=∀(��

�∗&%∃/ %(∋�∀##∀(�)∀−6∀%��∆�!∀�&.∃ (∀(�∀%�+&(�.2∀=�∀%( /%�.∀�1Γ� ∃∀%�(�)! %+ )&−=∋�/−�( �∀##∀(�∀%�!∀%��

.&%(�#&�+/∃)/( � /%�.2−%�∀%(∀∃1#∀�.∀��/ �−!∀(�.∗+&#∗∀(��

�

�∀(��/ �−!∀(<�∀!!&((∀(�(/%��&−�/! (∗∀(�(/−(�!∗(∀!6∀�.−�!∀()∀+��.∀�#2&!� +#∀�Ε�.−�)!∗(∀%��+7&) �!∀���

 
�&�∗! &−=�.∀�+/−6∀!�−!∀�

�/%��  %�∀!. �(� #∀(� ∃&�∗! &−=� %/%� !∀6∆�−(∋� 1! ##&%�(∋� .∀� ∃&−6& (� &()∀+�� .∀� (−!3&+∀∋� /−� ./%�� #∀�

6 ∀ ## ((∀∃∀%��&#�8!∀�#2&()∀+���

�

�1746318Β�(7�)&8+(86/�

�


%∀�+∀!�& %∀�7/∃/0∗%∗ �∗�.∀6!&�∆�!∀�!∀+7∀!+7∗∀�.&%(�#∀��!& �∀∃∀%��.∀��/−�∀(�#∀(�3&Ο&.∀(��

�

�∀(� 3&Ο&.∀(� .	7&1 �&� /%� ./ 6∀%�� ∆�!∀� )∀ %�∀(� /−� ∀%.− �∀(� 5� #2∀=+∀)� /%� .∀(� ) ∀!!∀(� .∀(� %∗∀(� .8(�

#2/! 0 %∀� 5� !∀(�∀!�6 ( 1#∀(� Β∀%+&.!∀∃∀%�(∋� 1&%.∀&−=∋� +/!% +7∀(∋� ΤΧ� 5�∃/ %(� ,−∀� #∀(�∃&�∗! &−=� −� # (∗(�

(/ ∀%�∋�.∀�)&!�#∀−!�%&�−!∀�∀��#∀−!�∃ (∀�∀%�Υ−6!∀∋�.2−%∀�,−&# �∗�(−33 (&%�∀�)/−!�!∀(�∀!�&))&!∀%�(��

�∀(�&−�!∀(�∃−!(�)∀−6∀%��∆�!∀�∀%.− �(�/−�4/ %�/Φ∗(�5�3#∀−!�Β∀%.− ��. ��5�) ∀!!∀�6−∀∋�4/ %�(�. �(�1∀−!!∗(Χ��

�∀(�∃−!(�.∀�+#Η�−!∀�∀%�) ∀!!∀(�∃/%�∗∀(�5�(∀+�+/%(∀!6∀!/%��+∀��&()∀+��.∀�) ∀!!∀�&))&!∀%�∀��

�

�/%�� %�∀!. �(���

��#∀(� ∃ �&� /%(�.∀�∃&�∗! &−=∋��∀##∀(�,−∀�3&−((∀(�1! ,−∀(∋�3&−=�)&%(�.∀�1/ (∋�∀�+���∋�

��#2∀∃)#/ �.∀�+/−#∀−!(�+! &!.∀(�/−�. (+/!.&%�∀(�(−!�#∀(�∃−!(∋�∃∀%− (∀! ∀(�/−��/−��&−�!∀�∗#∗∃∀%��

6 ( 1#∀�.∀�#&�6/ ∀�)−1# ,−∀��

�

�+Λ786(/��

�� ∃/ %(� ,−2∀##∀(� %∀� !∗)/%.∀%�� 5� .∀(� %∗+∀(( �∗(� !∗(−#�&%�� .∀� #&� %&�−!∀� /−� .−� +&!&+�8!∀� .∀(�

+/%(�!−+� /%(�∗. 3 ∗∀(�(−!�#∀��∀!!& %∋�#∀(�%/−6∀##∀(�+#Η�−!∀(�./ 6∀%��!∀()∀+�∀!�−%∀�7&−�∀−!�∃&= ∃&#∀�.∀�

��∃8�!∀(�∀��∆�!∀�+/%(� �−∗∀(���

� ��(/ ��)&!�.∀(�∃−!(�∀%�) ∀!!∀�/−�∃&Ο/%%∗(�.	−%∀�7&−�∀−!�∃ % ∃−∃�.∀��∋���∃∋�

� ��(/ ��)&!�.∀(�0! ##&0∀(�(−!∃/%�&%��∗6∀%�−∀##∀∃∀%��−%∀�∃−!∀��∀�.2−%∀�7&−�∀−!�∃&= ∃&#∀�

.∀��ϑ ∀.�=∋�./−1#∗(�.∀�7& ∀(�6 6∀(∋�

� ��(/ ��)&!�.∀(�0! ##∀(∋�(−!∃/%�&%��∗6∀%�−∀##∀∃∀%��−%∀�∃−!∀��∀�.2−%∀�7&−�∀−!�∃&= ∃&#∀�.∀�

ϑ �.�=∋�

� ��(/ ��)&!��/−(�&−�!∀(�. ()/( � 3(�5�+#& !∀�<�6/ ∀�(−!∃/%�&%��∗6∀%�−∀##∀∃∀%��−%∀�∃−!∀��∀�.2−%∀�

7&−�∀−!�∃&= ∃&#∀�.∀�ϑ �.=∋�./−1#∗(�/−�%/%�.∀�7& ∀(�6 6∀(��

�

�&�7&−�∀−!�.∀(�+#Η�−!∀(∋�5�#2&)#/∃1�.∀�#&�# ∃ �∀�(∀�∃∀(−!∀�+/∃∃∀�(− ����

<�� �#∀�)/ %��∀(��( �−∗�5����∃�/−�∃/ %(�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%��.∀�#&�6/ ∀�.∀�+ !+−#&� /%�)−1# ,−∀∋�#&�

7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�.−�3/%.�.∀��!/��/ !�/−�.∀�#2&++/�∀∃∀%��#∀�)#−(�)!/+7∀��



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  18 

<�� �#∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�

∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��

�

�&�7&−�∀−!�∀��#&�%&�−!∀�.∀(�+#Η�−!∀(�( �−∗∀(�)!8(�.∀(�+&!!∀3/−!(�/−�.&%(�#&�)&!� ∀� %�∗! ∀−!∀�.∀(�6 !&0∀(�

)∀−6∀%��3& !∀�#2/14∀�∋�(−!�&6 (�.∀(�(∀!6 +∀(�0∀(� /%%& !∀(�.∀�#&�6/ ! ∀∋�.∀�)!∀(+! )� /%(�()∗+ &#∀(�∀%�6−∀�

.2&((−!∀!�#&�6 ( 1 # �∗�∀��#&�(∗+−! �∗�.∀�#&�+ !+−#&� /%�.∀(�6∗7 +−#∀(�∀��.∀(�) ∗�/%(��

�

�3Χ(6/�

�∀(� + �∀!%∀(� .∀� 0&:� /−� .∀� ∃&:/−�� ./ 6∀%�� ∆�!∀� . ()/(∗∀(� (−!� #∀(� �∀!!& %(� .∀� 3&Ο/%� 5� ∆�!∀� #∀� ∃/ %(�

)/(( 1#∀�6 ( 1#∀(�.∀(�6/ ∀(�.∀�.∀((∀!�∀��

�

�∀(�&1! (�.∀�4&!. %(�6 ( 1#∀(�.∀)− (�#2∀()&+∀�)−1# +�.∀6!/%��∆�!∀�!∗&# (∗(�.&%(�.∀(�3/!∃∀(�∀��∃&�∗! &−=�

)∀!∃∀��&%��−%∀� %�∗0!&� /%�7&!∃/% ∀−(∀�.&%(�#2∀%6 !/%%∀∃∀%���

�

�	−%∀� ∃&% 8!∀� 0∗%∗!&#∀∋� #∀(� . ()/( � 3(� �∀+7% ,−∀(� .	 %(�&##&� /%� �7∀!∃ ,−∀(� ∀=�∗! ∀−!(� Β)/∃)∀(� 5�

+7&#∀−!∋� +# ∃&� (∀−!(∋� ∀�+�Χ� .∀6!/%�� ∆�!∀�  %�∗0!∗(� +/!!∀+�∀∃∀%�� .&%(� #	∀%(∀∃1#∀� &!+7 �∀+�−!&#� /−�

)&Φ(&0∗��

�

�∀(�. ()/( � /%(�. 33∗!∀%�∀(�)/−!!/%��∗0&#∀∃∀%��∆�!∀�&.∃ (∀(∋�#/!(,−∀�#2∗+/%/∃ ∀�.−�)!/4∀��#∀�4−(� 3 ∀∋�

)/−!�.∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�

��	������������	�	��������	�
�

��
��
�����

�∀�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�+/!!∀()/%.&%��&−=�1∀(/ %(�.∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�&.∃ (∀(�

./ �� ∆�!∀� &((−!∗� ∀%� .∀7/!(� .∀(� 6/ ∀(� )−1# ,−∀(� /−� )! 6∗∀(� /−6∀!�∀(� 5� #&� + !+−#&� /%� 0∗%∗!&#∀∋� (−!� #∀�

�∀!!& %�.2&(( ∀��∀�.∀�#&�+/%(�!−+� /%�/−�.∀�#2 %(�&##&� /%�∀��(∀#/%�#∀(�∃/.&# �∗(�+ <&)!8(���

�


#� (∀!&�∀= 0∗�&−�∃ % ∃−∃�)/−!�#∀(�+/%(�!−+� /%(�5�−(&0∀�.	7&1 �&� /%�����)#&+∀�.∀�(�&� /%%∀∃∀%��)&!�

�!&%+7∀�.∀�.ϑ=Μ�9(�/8651)(�9(�0+1∋)∗(6�.∀(� %∗∀�5�#	7&1 �&�∋�(&+7&%��,−∀��/−�∀��!&%+7∀�+/∃∃∀%+∗∀�

+/∃)�∀� +/∃∃∀� −%∀� �!&%+7∀� +/∃)#8�∀� ∀�� ,−	 #� %∀� )/−!!&� )&(� ∆�!∀�  ∃)/(∗� )#−(� .∀� �!/ (� )#&+∀(� .∀�

(�&� /%%∀∃∀%��)&!�#/0∀∃∀%���

�

�%� �/−�∀� 7Φ)/�78(∀∋� #∀(� :/%∀(� .∀� ∃&%Υ−6!∀� ./ 6∀%�� ∆�!∀�  %.∗)∀%.&%�∀(� .∀(� 6/ ∀(� )−1# ,−∀(� ∀��

!∀()∀+�∀!�#∀(�!80#∀(�.	&++8(�3 =∗∀(�5�#	&!� +#∀���+ <.∀((−(��

�

�∴����
������

�%����	
��������!6����6���������������	���������������∀����� ���������
�������� ����	����∀�������������	��

����� �����������������������	��������
.�

�

1Χ��	&!� +#∀������<�<���.−��/.∀�.∀�#	
!1&% (∃∀�(	&))# ,−∀���

7�∃..%��	�∀��������������������	������������������	������
��������	�������
�
��������
����	�������+�������

��
�	������ ���������� ������
� &
	�� 	��������� ��	� ��� 
�		���� �������

�� ��� ����� ���� ����	�������
�

�������
.�∃..%�

��	�∀��� �������������	�������	���������� �������������������������
���������������	�
�����	�����������

���
����� ��
�����	���� �������
����� 	����
��
���� 
	����
��������������	����
��	
������ ��� ���
� &
	�� 
����

∀��

���������������
�����������
�����
�����	������������∀�����������
�	������	������&�������
��������
��
����

������������������������
�	�������������	�������������
�
��������
�� ��
��
����������	�����	������
����

�
���
������	� ���
����������	�
��������
��������∀����
��������������������������������������������	���	����

����
�
��������
�	�������
��� ��&���������
����.��



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  19 

)�� ���������� ����� 
��� ��	��� ��� ����������	�� ��� ��	���� ��� ��� ��� ��������� ��� ����������
���� �� ����

�����	�
�����	�����������
�&
	��
���������	��	��������������������	
�����
�����������������	������
����

�����	���������������
�
��������
����������������
�������������������	
������.�66!�8�������	����
�����.��

��	�∀��������	������
�
��������
����
���	�����������
�������������	��������������������������
�	������

�������	���	��������
�
��������
�����
�
	������������
������	�������� ���� ��	����	��������������	����
�

�	
������ ����� ��� ���
� ����� &
	�� �	���� ��� ����
��� ��� 
��
� ��� ��� ��	
���� �� ����������� ������ ���������

��
�	���
���.9�

�

�%� )�� ���� ��� 	�+�����
�
���� ��� 	��
��	�
���� ��� ������� � ��
��
�� ����� �	��
���� ��� ������ �

���������
��	���� ��� ��� ���� ��� ������� � 
������� ��� ������� � ��
��
�� �
� ��� ��� 
�		���� �������

�� ����
�


	���� � ��
� ����������
�� ���� � �������� ���������� �� ���� ���������� ���		��
� &
	�� ���	
���� �� � ����� ���

������
�	����	�+�����
�
���������
	��������
������
�	����������	�	�������:�������	�	�����	���������������	��

��
	���������	����.�

�

�

��	�������������
�������������	�
���	�	���� ���
��������������������
�

�/−!� 3&+ # �∀!� #	 %(∀!� /%�.∀(�+/%(�!−+� /%(�/−�  %(�&##&� /%(�%/−6∀##∀(�.&%(� #∀�( �∀∋�.∀(�&∃∗%&0∀∃∀%�(�

)&Φ(&0∀!(�)∀−6∀%��∆�!∀� ∃)/(∗(��

�

�/−��)!/4∀��.∀6!&�∆�!∀�+/∃)&� 1#∀�&6∀+�#∀(�)!∀(+! )� /%(�)&Φ(&08!∀(�.∀(�/! ∀%�&� /%(�.2&∃∗%&0∀∃∀%��

∀��.∀�)!/0!&∃∃&� /%�(2 #�∀%�∀= (�∀%��(−!�#∀�(∀+�∀−!�+/%+∀!%∗��

�

�+Λ786(/�

�∀(� 7& ∀(� ∃/%/<()∗+ 3 ,−∀(� +/∃)/(&%�� #∀(� +#Η�−!∀(� (/%��  %�∀!. �∀(�� �∀(� 7& ∀(� .∀� +#Η�−!∀� .∀6!/%�� ∀%�

∀33∀��)!∗(∀%�∀!�&−�∃/ %(��!/ (�∀((∀%+∀(�. 33∗!∀%�∀(�.∀�6∗0∗�&−=∋�.∀�)!∗3∗!∀%+∀�.∀(�∀((∀%+∀(�#/+&#∀(��

�2−� # (&� /%�.∀��−Φ&(�/−�&(( ∃ #∗(�/−�.∀��&−! ∀!(�∀(�� %�∀!. �∀�∀%�+#Η�−!∀�(&−3��!8(�)/%+�−∀##∀∃∀%���

�

�

���	����������
��������	�����,��������∃�	�����	�����������
�

��	�������∀������!!�����	��%����
�	�����������
�


#�%	∀(��)&(�3 =∗�.∀�+/∀33 + ∀%��.	/++−)&� /%�.−�(/#�/−�.∀�.∀%( �∗�∃ % ∃&#∀�)&!�#∀�)!∗(∀%��&!� +#∀��

�

�

���	���������������	�������
��������,�����	���	���� �	�����, �

���	����	������	�����������	��
�

��	�������.���������	�������
�����������	��������
��!���������������	�−�����	�

������������	�����

�

#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

�

��	�������Φ���������	�������
�����������	������∃��!���	���	������	�������,����

���������	���������	����−����

�

#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  20 

�
�
�	������#���������
�

�

�

���
���	�������������	�������

���������

�

�

�

�����	������������������
�

�&� :/%∀� 
�� ∀(�� −%∀� :/%∀� &++−∀ ##&%�� .∀(� &+� 6 �∗(� ∗+/%/∃ ,−∀(∋� ,−	 #� +/%6 ∀%�� .∀� ∃& %�∀% !� ∀�� .∀�

)/−6/ !�.∗6∀#/))∀!�.&%(�+∀!�& %∀(�+/%. � /%(��

�

�##∀�%	&�)&(�6/+&� /%�5�&++−∀ ## !�.∀�#	7&1 �&��(&−3�(2 #�∀(��# ∗�∀��%∗+∀((& !∀�5�−%∀�&+� 6 �∗�)!∗(∀%�∀�(−!�#∀�

( �∀��

�


%∀�)&!� ∀�.∀�#&�:/%∀�∀(��&33∀+�∗∀�)&!�#&�1&%.∀�.∀�1!− ��# ∗∀�5�#&������ϑ�.&%(�#&,−∀##∀�.∀(�)!∀(+! )� /%(�

.2 (/#&� /%� &+/−(� ,−∀� (/%��  ∃)/(∗∀(� &−=� +/%(�!−+� /%(� (∀#/%� #&� !80#∀∃∀%�&� /%� ∀%� 6 0−∀−!�

Β&+�−∀##∀∃∀%��#2&!!∆�∗�.−����∃& ������∃/. 3 ∗�)&!�#2&!!∆�∗�.−����4− ##∀������Χ��

�


%∀�)&!� ∀�.∀�#&�:/%∀�∀(��&33∀+�∗∀�∗0&#∀∃∀%��)&!�#∀(�:/%∀(�.∀�.&%0∀!�.∀��#&�+&%&# (&� /%�.∀��!&%()/!��

.27Φ.!/+&!1−!∀(� .∀� �∗3∀%(∀� �/∃∃−%∀∋� .&%(� #∀(,−∀##∀(� �/−�� �!&6&−=� /−� +/%(�!−+� /%� ∀(�� (/−∃ (� 5�

)!∀(+! )� /%(� +/%3/!∃∗∃∀%�� 5� #&� !∗0#∀∃∀%�&� /%� ∀%� 6 0−∀−!∋� !&))∀#∗∀� .&%(� #∀� � �!∀� �� Κ� ()/( � /%(�

0∗%∗!&#∀(Κ�.−�)!∗(∀%��!80#∀∃∀%���

�

�

���	����������	��������%����
�	�����	�����%�	�����	����������������
�

�/−�∀�/++−)&� /%�∀��−� # (&� /%�.−�(/#�%/%� %�∀!. �∀�/−�%/%�(/−∃ (∀�5�.∀(�+/%. � /%(�)&!� +−# 8!∀(�&−=�

&!� +#∀(���∀����∀(��&.∃ (∀��

�

�

��	���������#�����
�	������	��	�����	��������������	����	����
�

�∀(�/++−)&� /%(�∀��−� # (&� /%(�.−�(/#�(− 6&%�∀(�(/%�� %�∀!. �∀(���

�

- �∀�+&∃) %0∋�#∀�(�&� /%%∀∃∀%��.∀�+&!&6&%∀(� (/#∗∀(∋�& %( �,−∀�#∀(�7&1 �&� /%(�#∗08!∀(�.∀�#/ ( !(∋�

- �∀(�+/%(�!−+� /%(�5�−(&0∀�.27&1 �&� /%�(&−3�+∀##∀(�&−�/! (∗∀(�5�#	&!� +#∀�
��∋�

- �∀(�)&!+(�.	&��!&+� /%(�/−6∀!�(�&−�)−1# +∋�

- �∀(�.∗)Η�(�.∀�6∗7 +−#∀(�.∗(&33∀+�∗(∋�

- �∀(�+&!! 8!∀(∋�

- �∀(�) (+ %∀(��

�

�

��	����� ���� #� ����
�	����� �	� �	�����	����� ��� ���� ��������� �� ���� �����	�����


��	�����������
�

�∀(� +/%(�!−+� /%(� ∀��  %(�&##&� /%(� .2&+� 6 �∗(� ∗+/%/∃ ,−∀(� (/%�� &.∃ (∀(� .&%(� #&� ∃∀(−!∀� /Ψ� ∀##∀(�

%2∀%�!&ς%∀%�� )&(� .∀� .&%0∀!� Β∀%� �∀!∃∀(� .∀� (∗+−! �∗� ∀�� .∀� (&#−1! �∗� )−1# ,−∀Χ∋� .2 %+/%6∗% ∀%�(� /−� .∀�

%− (&%+∀(�0!&6∀(�Β6 (−∀##∀(∋�(/%/!∀(�/−�/#3&+� 6∀(Χ�4−0∗∀(� %+/∃)&� 1#∀(�&6∀+�#&�)!/= ∃ �∗�.∀�#27&1 �&���

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  21 

�∀(�+/%(�!−+� /%(�.27&1 �&� /%�& %( �,−∀�#∀−!(�&%%∀=∀(�(/%��&−�/! (∗∀(�(∀−#∀∃∀%��(2 #�(2&0 ��.2∀=�∀%( /%�

/−�( �∀##∀(�(/%��∀%�# ∀%�&6∀+�−%�#/0∀∃∀%��∀= (�&%�∋�/−�1 ∀%�( ���

- ∀##∀(�(/%��. !∀+�∀∃∀%��# ∗∀(�∀��%∗+∀((& !∀(�5�−%∀�&+� 6 �∗�&.∃ (∀�.&%(�#&�:/%∀∋�

- ∀##∀(�(/%�� %�∗0!∗∀(�/−�&++/#∗∀(�&−�1Γ� ∃∀%��.2&+� 6 �∗�∀%�+∀�,− �+/%+∀!%∀�#&�)&!� ∀�7&1 �&1#∀∋��

- .&%(�#&�# ∃ �∀�.∀�����∃[�.∀�(−!3&+∀�.∀�)#&%+7∀!�)&!�#/0∀∃∀%�∋�

- ∀��.&%(�#&�# ∃ �∀�.	−%�#/0∀∃∀%��−% �∗�)&!� %(�&##&� /%�∗+/%/∃ ,−∀��

�

�∀(� &33/− ##∀∃∀%�(� ∀�� ∀=7&−((∀∃∀%�(� .∀� (/#� (/%�� &−�/! (∗(� (/−(� !∗(∀!6∀� ,−2 #(� (/ ∀%�� # ∗(� 5� −%∀�

 %(�&##&� /%∋� −%∀� +/%(�!−+� /%� /−� −%� &∃∗%&0∀∃∀%�� &−�/! (∗� .&%(� #&� :/%∀� ∀�� .&%(� #&� # ∃ �∀� .2−%∀�

7&−�∀−!�.∀���∃�Β7/!∃ (�#∀(��!&6&−=�.2&∃∗%&0∀∃∀%��%∗+∀((& !∀(�&−�!∀∃1#& ∀∃∀%��.∀(��∀!!& %(�4−(,−25�

#&�+/�∀�.∀�3/%.�.∀��!/��/ !�/−�5�#&�!∗&# (&� /%�.∀�1&(( %(�.∀�!∗�∀%� /%�∀��/−6!&0∀(�.2 %3!&(�!−+�−!∀�,− �

%∀�(/%��)&(�# ∃ �∗(Χ��

�

�%� /−�!∀∋� �/−�∀(� #∀(� /++−)&� /%(� ∀�� −� # (&� /%(� .−� (/#� %/%�  %�∀!. �∀(� /−� (/−∃ (∀(� 5� .∀(� +/%. � /%(�

)&!� +−# 8!∀(�)&!� #∀(�&!� +#∀(���∀���∋� (/%��&.∃ (∀(�(/−(�+/%. � /%�.∀�%∀�)&(�+!∗∀!�.∀�(/−(<(/#�∀%�∀!!∗�

�/�&#∀∃∀%��/−�)&!� ∀##∀∃∀%��∀��.∀�!∗&# (∀!�−%�6 .∀<(&% �& !∀�&.&)�∗�5�#&�%&�−!∀�.−�! (,−∀�.∀�!∀∃/%�∗∀�

.∀�%&))∀�+/%%−��

�

�

3������(� 4��
��� ���� ������
����� �
� �
�����
����� ��� ���� 	��
��
� ���������� ��
	�� ��
	��� �������
�����

�	�����������	
�����3����������5���������0	������������������������	
�����3�����!����	������	����
����

�����������	�
���
�����������	�
�������∀���.�

�

�

���	��������������	���������∃����
�	�����������
�

�

��	������������������	��������

�
�))Ε/�

�

�/−�� �∀!!& %� ∀%+#&6∗� ∀(��  %+/%(�!−+� 1#∀∋� 5� ∃/ %(� ,−∀� (/%� )!/)! ∗�& !∀� %∀� )!/.− (∀� −%∀� (∀!6 �−.∀� .∀�

)&((&0∀�(−33 (&%�∀� %(� �−∗∀�)&!�&+�∀�&−�7∀%� ,−∀�/−�)&!�6/ ∀�4−. + & !∀∋�∀%�&))# +&� /%�.∀�#2&!� +#∀��ϑ��

.−�+/.∀�+ 6 #��

�

�/!(,−∀�#∀��∀!!& %�∀(��! 6∀!& %�.∀�.∀−=�/−�)#−( ∀−!(�6/ ∀(�)−1# ,−∀(∋� #2&++8(�(−!�+∀##∀�.∀�+∀(�6/ ∀(�,− �

)!∗(∀%�∀!& ��−%∀�0∆%∀�/−�−%�! (,−∀�)/−!�#&�+ !+−#&� /%�)∀−��∆�!∀� %�∀!. ���

�

�/−�∀� /)∗!&� /%� ./ �� )!∀%.!∀� #∀� ∃ % ∃−∃� .2&++8(� (−!� #∀(� 6/ ∀(� )−1# ,−∀(�� �∀(� +&!&+�∗! (� ,−∀(� .∀(�

&++8(�+7&!!∀� ∀!(�./ 6∀%��∆�!∀�&.&)�∗∀(�5�#2/)∗!&� /%�∀��%/�&∃∃∀%��)∀!∃∀��!∀�.∀�(&� (3& !∀�&−=�!80#∀(�

.∀�.∗3∀%(∀�+/%�!∀� #2 %+∀%. ∀∋�∀��&∃∗%&0∗(�.∀� 3&Ο/%�5�&))/!�∀!� #&�∃/ %.!∀�0∆%∀�5� #&�(∗+−! �∗�∀��5� #&�

+ !+−#&� /%�)−1# ,−∀��

�

�&363(�

�

�∀(�. ∃∀%( /%(∋�3/!∃∀(�∀��+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�.∀(�6/ ∀(�./ 6∀%��∆�!∀�&.&)�∗∀(�&−=�/)∗!&� /%(�

/−�+/%(�!−+� /%(�,−2∀##∀(�./ 6∀%��.∀((∀!6 !��

�

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  22 

��	�������∀���������	��
�������������,�
�

�/−(� #∀(� . ()/( � 3(� )!/4∀�∗(� !∀#&� 3(� 5� #2&# ∃∀%�&� /%� ∀%� ∀&−� ∀�� 5� #2&((& % ((∀∃∀%�� .∀6!/%�� ∆�!∀�

+/%3/!∃∀(�5�#&�!∗0#∀∃∀%�&� /%�∀%�6 0−∀−!��

�

�18�0&712+(�

�

�/−�∀� +/%(�!−+� /%� /−�  %(�&##&� /%� %/−6∀##∀� %∗+∀(( �&%�� −%∀� &# ∃∀%�&� /%� ∀%� ∀&−� )/�&1#∀� ./ �� ∆�!∀�

!&++/!.∗∀�&−�!∗(∀&−�+/##∀+� 3�.∀�. (�! 1−� /%�.2∀&−�)/�&1#∀��

�

�//13∋3//(=(∋7�

�

�&−=�−(∗∀(�

�

�/−�∀� +/%(�!−+� /%� /−�  %(�&##&� /%� %/−6∀##∀� ./ �� ∗6&+−∀!� (∀(� ∀&−=� −(∗∀(� )&!� .∀(� +&%&# (&� /%(�

(/−�∀!!& %∀(� !&++/!.∗∀(� &−� !∗(∀&−� +/##∀+� 3� .2&((& % ((∀∃∀%�∋� #/!(,−2 #� ∀= (�∀� ∀%� +&)&+ �∗� &.&)�∗∀∋�

+/%3/!∃∗∃∀%��&−=�!80#∀∃∀%�(�(&% �& !∀(�∀%�6 0−∀−!��

�

�2∗6&+−&� /%�.∀(�∀&−=�−(∗∀(∋�.&%(�#∀(�3/((∗(∋�+/−!(�.2∀&−�/−�∗0/−�(�.2∀&−=�)#−6 &#∀(∋�∀(�� %�∀!. �∀��

�

�∀(� ∀&−=�  %.−(�! ∀##∀(� )/−!!/%�� ∆�!∀� !∀3−(∗∀(� /−� &.∃ (∀(� &)!8(� )!∗�!& �∀∃∀%�� +/%3/!∃∗∃∀%�� &−=�

!80#∀(�∀%�6 0−∀−!��

�

�&−=�)#−6 &#∀(�

�

�∀(�&∃∗%&0∀∃∀%�(�%∗+∀((& !∀(�&−�# 1!∀�∗+/−#∀∃∀%��.∀(�∀&−=�)#−6 &#∀(�∀��∗6∀%�−∀##∀∃∀%��+∀−=�6 (&%��5�

#&�# ∃ �&� /%�.∀(�.∗1 �(�∗6&+−∗(�.∀�#&�)!/)! ∗�∗�/−�5�#2 %3 #�!&� /%�.&%(�#∀�(/#�(/%��5�#&�+7&!0∀�∀=+#−( 6∀�

.−�)!/)! ∗�& !∀�,− �./ ��!∗&# (∀!�#∀(�. ()/( � 3(�&.&)�∗(�5�#2/)∗!&� /%�∀��&−��∀!!& %��

�

�18Β� 0+8Χ31+(/� ∋&∋� /&83++4(/� �� �∀(� ∀&−=� )#−6 &#∀(� )!/)!∀(� �∀##∀(� ,−∀� #∀(� ∀&−=� .∀� �/ �−!∀(� (∀!/%��

!∀+−∀ ## ∀(�∀��!∗−� # (∗∀(�&−�&%��,−∀�)/(( 1#∀�&6&%�� %3 #�!&� /%�(−!�#∀��∀!!& %���

�/−�∀3/ (∋� ∀%� +&(� .	 ∃)/(( 1 # �∗� .	 %3 #�!&� /%� �/�&#∀� /−� )&!� ∀##∀� # ∗∀� 5� #&� %&�−!∀� .−� (/#� /−� 5� −%∀�

( �−&� /%�3/%+ 8!∀� !!∗∃∗. &1#∀∋�−%�. ()/( � 3�.∀�!∗�∀%� /%�.∀(�∀&−=�)#−6 &#∀(�(−!�#∀��∀!!& %�.	&(( ∀��∀�.−�

)!/4∀��)/−!!&�∆�!∀� ∃)/(∗�&6&%��&++∀)�&� /%�.∀�!∀4∀��.−�(−!)#−(�.&%(�#∀�∃ # ∀−�/−�#∀�!∗(∀&−∋�∀%�+&(�.∀�

)!∗(∀%+∀�.∀�+∀#− <+ �∀%�+&)&+ �∗�&.&)�∗∀���∀�. ()/( � 3�+7/ ( �)/−!�Φ�)&!6∀% !�.∀6!&�∆�!∀�+/%3/!∃∀�&−=�

%/!∃∀(�∀%�6 0−∀−!��

�

�18Β� 0+8Χ31+(/� /&83++4(/� �� �∀(� )∗� � /%%& !∀(� ./ 6∀%�� !∗&# (∀!� 5� #∀−!� +7&!0∀� ∀=+#−( 6∀� −%� . ()/( � 3�

&.&)�∗�)/−!�!∀+−∀ ## !�∀��∗)−!∀!� #∀(�∀&−=�)#−6 &#∀(�(/− ##∗∀(� Β)&!�∀=∀∃)#∀� #∀(�∀&−=�&Φ&%��!− ((∀#∗�(−!�

.∀(� (−!3&+∀(� .∀� + !+−#&� /%� /−� .∀� (�&� /%%∀∃∀%�� .∀� 6∗7 +−#∀(� ∃/�/! (∗(Χ∋� &6&%�� �/−�� !∀4∀�� .&%(� #∀�

∃ # ∀−�.8(�,−∀�#&�(−)∀!3 + ∀� ∃)∀!∃∗&1 # (∗∀�./%��∀##∀(�(/%�� ((−∀(�&��∀ %�����∃[�.2−%�(∀−#��∀%&%����

�

�/−�∀3/ (∋�∀%�+&(�.∀�)!∗(∀%+∀�.2−%�!∗(∀&−�.2∀&−=�)#−6 &#∀(�(−33 (&%��&6∀+�−%�. ∃∀%( /%%∀∃∀%��∀��−%∀�

&#� ∃∗�! ∀� &.&)�∗(∋� #∀� !&++/!.∀∃∀%�� 5� +∀#− <+ � (∀!&� )/−!!&� ∆�!∀�  ∃)/(∗� 5� #&� +7&!0∀� ∀=+#−( 6∀� .−�

)!/)! ∗�& !∀� /−� .∀� #2&∃∗%&0∀−!∋� &6∀+� −%∀� # ∃ �&� /%� .−� .∗1 �� !∀4∀�∗� ∀�� −%� �!& �∀∃∀%�� .∀(� ∀&−=�

Β.∀((&1#∀−!∋�(∗)&!&�∀−!�5�7Φ.!/+&!1−!∀ΤΧ�( �%∗+∀((& !∀���∀(�. ()/( � 3(�+7/ ( (�)/−!�Φ�)&!6∀% !�.∀6!/%��

∆�!∀�+/%3/!∃∀(�&−=�%/!∃∀(�∀%�6 0−∀−!��

�

�+()763)374 �74+40∗&∋(�(7�74+493558/3&∋�

�

�∀(� !∗(∀&−=� ∀�� 1!&%+7∀∃∀%�(� %/−6∀&−=� ./ 6∀%�� ∆�!∀� !∗&# (∗(� ∀%� (/−�∀!!& %� (&−3� . 33 +−#�∗� �∀+7% ,−∀�

∃&4∀−!∀��

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  23 

�3Χ(6/�

�

�/−!� #2&))# +&� /%� .∀(� . ()/( � /%(� .−� )!∗(∀%�� &!� +#∀∋� ( � +/∃)�∀� �∀%−� .∀� #&� .∀(� %&� /%� .∀� #&�

+/%(�!−+� /%�)!/4∀�∗∀∋� #∀(�!∗(∀&−=�)−1# +(�%∀�(/%��)&(�.∀�+&)&+ �∗�(−33 (&%�∀∋� #∀�)∀!∃ (�.∀�+/%(�!− !∀�

)/−!!&�∆�!∀�!∀3−(∗�/−�∆�!∀�(/−∃ (�5�.∀(�)!∀(+! )� /%(�()∗+ &#∀(�)∀!∃∀��&%��.∀�)&## ∀!�#2 %(−33 (&%+∀�.∀(�

!∗(∀&−=���

�

�&%(� �/−�∀� #&� :/%∀∋� #∀(� . ()/( � /%(� .∀� #2&!� +#∀� �� ���<�� .−� �/.∀� .∀� #2
!1&% (∃∀∋� %/�&∃∃∀%�∋�

.∀∃∀−!∀%�� &))# +&1#∀(� �� ���	�∀���� ����
�� 
���� ��� ��� ���
���
���� ��� ��� ����
	��
���� ��� ���

������������
� �	���
��� ���� 
	���� � ��	
��
� ��	� ���� 	����� � �������� ��� ���
	���
���� �������

���������������
����������
	���
����������
	���
�����
���������	������	�����	�	���������	
������	���
�����

��	�����������
	��	��������������	�������
�&
	������	����������
�	�
�������
��
������
������������	��

������∀��	� ����� ∀���� ������ �
� ��	� ∀������ ������
���
�� �����∀��� ��� ��	� ∀���� �������������	�� ��� ��	�����

�����������
	���� �������
�&
	��� ���
�����

�

�

��	�������.��������	����	�−��������	��������
�


#�%2∀(��)&(� ∃)/(∗�.∀�+&!&+�∗! (� ,−∀�)&!� +−# 8!∀�)/−!�,−2−%��∀!!& %�(/ ��+/%(�!−+� 1#∀��

�

�

��	�������Φ�����
���	�	������������	���	�����
�����

��	���,��������	���
������


����−����

�
�−+−%∀�!80#∀�.2 ∃)#&%�&� /%�%2∀(�� ∃)/(∗∀�)&!�!&))/!��&−=�∀∃)! (∀(�&−�!∀(�,−∀�#∀(�6/ ∀(�/−6∀!�∀(�5�#&�

+ !+−#&� /%�)−1# ,−∀�.∀(�6/ �−!∀(∋�,−2∀##∀(�(/ ∀%��)−1# ,−∀(�/−�)! 6∗∀(���

�

�∀(�%/−6∀##∀(�+/%(�!−+� /%(∋�&−�!∀(�,−∀�+∀##∀(�.∀(� %∗∀(�&−�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�&−�/∃/1 #∀(∋�

)∀−6∀%��∆�!∀� ∃)#&%�∗∀(���

<�(/ ��∀%�!∀()∀+�&%��−%�!∀+−#�.2&−�∃/ %(���=�)&!�!&))/!��5�#2&# 0%∀∃∀%�∋�

<�(/ ��5�#2&# 0%∀∃∀%��.∀�#&�!−∀�(−!��/−��/−�)&!� ∀�.−�1Γ� ∃∀%�∋�

<�(/ ��.&%(�#∀�)!/#/%0∀∃∀%��.∀�1Γ� ∃∀%�(�∀= (�&%�(��

�

�∀(� %/−6∀##∀(� +/%(�!−+� /%(� .∀(� %∗∀(� &−� (�&� /%%∀∃∀%�� .∀(� 6∗7 +−#∀(� &−�/∃/1 #∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(� ∀%� !∀()∀+�&%�� −%� !∀+−#� .2&−� ∃/ %(� ��∃� &−� .!/ �� .∀� #2∀%�!∗∀� .∀� 0&!&0∀� )&!� !&))/!�� 5�

#2&# 0%∀∃∀%�∋�(&−3�5�. ()/(∀!�.2−%∀�+/−!�.2∗6/#−� /%�)∀!∃∀��&%��.2∀33∀+�−∀!�#∀(�∃&%Υ−6!∀(�.2&++8(�&−�

0&!&0∀�∀%�.∀7/!(�.∀�#&�6/ ∀�.∀�.∀((∀!�∀���∀(�. ()/( � /%(�. 33∗!∀%�∀(�)/−!!/%���/−�∀3/ (�∆�!∀�&.∃ (∀(�

∀%�+&(�.2 ∃)∗!&� 3��∀+7% ,−∀�5�4−(� 3 ∀!��

�

�∴����
������������
�����2����
���
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�#∀(�(& ## ∀(�.2&−�)#−(��∋���∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�&%(�#∀�+&(�.∀�+ !+/%(�&%+∀(�)&!� +−# 8!∀(�Β6 !&0∀�&++∀%�−∗∋�+!/ (∀∃∀%��.∀�6/ ∀(∋�3/!�∀�)∀%�∀∋�/−�)/−!�

.∀(� ∃/� 3(� .∀� !∀+7∀!+7∀� .−� ∃∀ ##∀−!� ∀%(/#∀ ##∀∃∀%�Χ∋� −%� !∀+−#� . 33∗!∀%�� .−� )! %+ )∀� + <.∀((−(� (∀!&�

&.∃ (∋�/−�)/−!!&�∆�!∀� ∃)/(∗�)/−!�.∀(�∃/� 3(�.∀�(∗+−! �∗��

� � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� (∀!/%�� &.∃ (∀(� )/−!� #	 ∃)#&%�&� /%�

.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  24 

��	����� ��Γ� �� ��
���	�	���� ���� ����	���	����� 
��� ��

��	� ��,� ����	���

��
���	�����
�

��
��
�����

�∀(� +/%(�!−+� /%(� )∀−6∀%�� (	 ∃)#&%�∀!� ∀%� # ∃ �∀� (∗)&!&� 6∀�� �&%(� +∀� +&(∋�  #� ∀(��  %�∀!. �� .∀� +!∗∀!� −%∀�

/−6∀!�−!∀� .&%(�−%�∃−!�.∀� +/%(�!−+� /%�  ∃)#&%�∗�∀%� # ∃ �∀�(∗)&!&� 6∀∋�+!∗&%�� 4/−!�/−�6−∀���%�/−�!∀∋�

.&%(� +∀��∀� 7Φ)/�78(∀� .2 ∃)#&%�&� /%� ∀%� # ∃ �∀∋� �/−�∀(� #∀(� . ()/( � /%(� ./ 6∀%�� ∆�!∀� )! (∀(∋� ∀%�

)&!� +−# ∀!�)&!�#	∗�&1# ((∀∃∀%��.∀�∃−!(�+/−)∀<3∀−∋�)/−!�∗6 �∀!�#&�)!/)&0&� /%�.∀(� %+∀%. ∀(��

�

�&%(� #∀� +&(� /Ψ� #∀(� +/%(�!−+� /%(� %∀� (/%�� )&(�  ∃)#&%�∗∀(� ∀%� # ∃ �∀� (∗)&!&� 6∀∋� ∀##∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(�∀%�!∀()∀+�&%��−%∀�∃&!0∀�.2 (/#∀∃∀%���∀##∀�,−∀�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�

�/−��)/ %��.−�1Γ� ∃∀%��∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�(/ ��&−�∃/ %(�∗0&#∀�5�#&�∃/ � ∗�

.∀�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�&6∀+�−%�∃ % ∃−∃�.∀��∃����=�Η�9�Ι∗?����

�

�∀� )#−(∋� .&%(� #∀� +&(� .∀� ∃−!(� /−� .∀� �/ �−!∀(� +/∃)/!�&%�� .∀(� 1& ∀(� &6∀+� 6−∀� 5� #2∗�&0∀∋� #&� . (�&%+∀�

+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀� #∀�% 6∀&−�.∀� #&�)&!� ∀�(−)∗! ∀−!∀�.∀� #&�)#−(�7&−�∀�1& ∀�∀�� #∀�)/ %��#∀�

)#−(� )!/+7∀� .∀� #&� # ∃ �∀� (∗)&!&� 6∀� %∀� )∀−�� ∆�!∀�  %3∗! ∀−!∀� 5� #&� . 33∗!∀%+∀� .∀� % 6∀&−� ∀%�!∀� +∀(� .∀−=�

)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5��∃���=�Η�9�Ι�
2����2/14∀+� 3�∗�&%��.∀�)!∗(∀!6∀!�#∀(�7&1 �&%�(�.∀(�

6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #&� 6−∀� +!∗∗∀� ./%%∀� (−!� −%∀�

)!/)! ∗�∗�! 6∀!& %∀�+/%(�!− �∀�/−�+/%(�!−+� 1#∀�.&%(�−%∀�6/+&� /%�.27&1 �&���

�

�%3 %∋�.&%(�#∀�+&(�.∀��∀!!&((∀(�&++∀(( 1#∀(�/−�.∀�1&#+/%(∋�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�#∀�

% 6∀&−�3 % �.∀�)#&%+7∀!�∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�%∀�)∀−��∆�!∀� %3∗! ∀−!∀�5�.∀−=�

3/ (�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5���∃���=�Η�9�Ι��
0���


#� +/%6 ∀%��.2∀%�∀%.!∀�)&!�Κ�∀!!&((∀�&++∀(( 1#∀Κ∋�%/%�)&(�−%∀�&++∀(( 1 # �∗� �∀+7% ,−∀�%∗+∀(( �∗∀�)/−!�

−%∀�!& (/%�.2∀%�!∀� ∀%∋�∃& (�−%∀�&++∀(( 1 # �∗�.∀�Κ# ∀−�.∀�6 ∀Κ∋�∃∆∃∀�/++&( /%%∀#���2/14∀+� 3�∗�&%��.∀�

)!∗(∀!6∀!� #∀(� 7&1 �&%�(� .∀(� 6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #∀�

1&#+/%� /−� #&� �/ �−!∀<�∀!!&((∀� +!∗∀� −%∀� 6−∀� (−!� #&� )!/)! ∗�∗� ! 6∀!& %∀� ∀�� −% ,−∀∃∀%�� ( � #&� # ∃ �∀�

(∗)&!&� 6∀�./%%∀�(−!�−%�∀()&+∀�+/%(�!− ��/−�+/%(�!−+� 1#∀�.&%(�−%∀�.∀(� %&� /%�.27&1 �&���

�

�∴����
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�.∀�#&�∃&!0∀�.∀�!∀+−#���

•  #∀(� +7∀∃ %∗∀(∋� /−6!&0∀(� �∀+7% ,−∀(� ∀�� &−�!∀(� (−)∀!(�!−+�−!∀(� Β+7&−33∀! ∀(∋� &%�∀%%∀(∋�

)&!&�/%%∀!!∀(∋�0&!.∀<+/!)(∋�∀�+����Χ�.∗)&((&%��.∀�#&��/ �−!∀∋�

•  �/−�∀�(& ## ∀�.∀�∃/ %(�.∀��∋��∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�/−�∀3/ (� ( � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� )/−!!/%�� ∆�!∀� &.∃ (∀(� )/−!�

#	 ∃)#&%�&� /%�.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�

�

��	�������������
���	�	������������	���	��������������
�����

��	���,���	����

�������������
��
���	��
�

�� ∃/ %(� ,−∀� #∀(� 1Γ� ∃∀%�(� %∀� (/ ∀%�� +/%� 0−(∋� #&� . (�&%+∀� #∀(� (∗)&!&%�� ./ �� ∆�!∀� �∀##∀� ,−∀�

( ∃−#�&%∗∃∀%��#∀(�+/%. � /%(�.∀�)&((&0∀�∀��.∀�3/%+� /%%∀∃∀%��.−�∃&�∗! ∀#�.∀�#−��∀�+/%�!∀�#2 %+∀%. ∀�

(/ ∀%��(&� (3& �∀(∋��/−��∀%�)! 6 #∗0 &%��&−�∃ ∀−=�#	∀%(/#∀ ##∀∃∀%���

�

�

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  25 

��	�������������
������������
�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��#∀�!&))/!��.∀�#&�(−!3&+∀�)!/4∀�∗∀�&−�(/#�.∀(�6/#−∃∀(�7/!(�Υ−6!∀�.∀�

#2∀%(∀∃1#∀� .∀(� +/%(�!−+� /%(� /−�  %(�&##&� /%(∋� 5� #&� (−!3&+∀� .−� �∀!!& %� Β#∀(� 1&#+/%(∋� #/00 &(∋� �∀!!&((∀(∋�

) (+ %∀(�%/%�+/−6∀!�∀(∋�.∗1/!.(�.∀��/ �−!∀�%∀�(/%��)&(�)! (�∀%�+/∃)�∀�.&%(�#∀�+&#+−#Χ���

�2∀%�!∀%�� ∗0&#∀∃∀%�� )&(� .&%(� #∀� +&#+−#∋� #∀(� 0&!&0∀(� /−� &−�!∀(� #/+&−=� ∀%�∀!!∗(� ∀%� �/�&# �∗� /−�

)&!� ∀##∀∃∀%�∋�( �−%�(/#�&!� 3 + ∀#�&++∀(( 1#∀�∀(��!∀+/%(� �−∗�&−<.∀((−(∋�∀%�+/%� %− �∗�&6∀+�#∀�(/#�%&�−!∀#���

�


%� .∗)&((∀∃∀%�� .−� ���� .∀� ��]� ∃&= ∃−∃� (∀!&� &−�/! (∗� )/−!� #∀(� +/%(�!−+� /%(� !∀∃)# ((&%�� .∀(�

+! �8!∀(� .∀� )∀!3/!∃&%+∀(� ∗%∀!0∗� ,−∀(� /−� +/∃)/!�&%�� .∀(� ∗,− )∀∃∀%�(� .∀� )!/.−+� /%� .	∗%∀!0 ∀(�

!∀%/−6∀#&1#∀(��

�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��# ∃ �∗�5�ϑ Φ��

�

�∀�+/∀33 + ∀%��.	∀∃)! (∀�&−�(/#�%∀�(	&))# ,−∀�)&(�)/−!�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3���

�

�

��	��������ϑ���
��	������,��������������	���	�����
�

�∀�% 6∀&−�&#� ∃∗�! ,−∀�.−�)#&%+7∀!�#∀�)#−(�1&(�.∀�#&�+/%(�!−+� /%�%∀�.∀6!&�)&(�∆�!∀� %3∗! ∀−!�5�#&�+/�∀�

.−��∀!!& %�%&�−!∀#�Β)! (�&−�)/ %��#∀�)#−(�1&(�.&%(�#2∀∃)! (∀�.∀�#&�+/%(�!−+� /%Χ���

�

�&�7&−�∀−!�.∀(�%/−6∀##∀(�+/%(�!−+� /%(�%∀�./ ��)&(�∀=+∗.∀!���% 6∀&−=�7/!(�(/#∋�#∀�,−&�! 8∃∀�% 6∀&−�%∀�

)/−6&%��∆�!∀�&#/!(�,−∀�.∀(�+/∃1#∀(�&∃∗%&0∗(�(/ ��Κ��Π��Π+/∃1#∀(Κ���

�&%(�#∀�+&(�.∀�+/∃1#∀(�&∃∗%&0∗(∋� #�%∀�(∀!&�&−�/! (∗�,−2−%�(∀−#�% 6∀&−�.&%(�#∀(�+/∃1#∀(���∀��∀�!80#∀�

∀(��6∗! 3 ∗∀�+/−)∀�)&!�+/−)∀�∀%�+&(�.∀�+/%(�!−+� /%(�&6∀+�.∀(�.∗+&#&0∀(�.∀�% 6∀&−=��

�

�&!�& ##∀−!(∋�#&�7&−�∀−!�.∀(�&1! (�.∀�4&!. %(�%∀�3& (&%��)&(�+/!)(�&6∀+�#&�+/%(�!−+� /%�)! %+ )&#∀�∃∀(−!∗∀�

5�)&!� !�.−�% 6∀&−�.−�(/#�%&�−!∀#�Β&−�+∀%�!∀�.∀�#2&1! Χ�4−(,−2&−�(/∃∃∀��Β�/ �−!∀�+/∃)! (∀Χ�.∀�#2&1! ∋�%∀�

./ ��)&(�∀=+∗.∀!��∋���∃���

 
�(/�)&∋/768)73&∋/�493534(/�(∋�+3=37(�/4016173Χ(�%∀�)/−!!/%��∀=+∗.∀!�Φ .ϑ�=�.∀�7&−�∀−!�5�#2&)#/∃1�.∀�

#&�# ∃ �∀���∀��∀�7&−�∀−!�)&((∀�5��∋���∃8�!∀(�( �#&�# ∃ �∀�(∗)&!&� 6∀�∀%�,−∀(� /%�+/!!∀()/%.�&−(( �5�−%∀�

# ∃ �∀�&6∀+�#&�:/%∀�
��

�∀��∀�7&−�∀−!�(∀�∃∀(−!∀�5�#2&)#/∃1�.∀�#&�# ∃ �∀�+/∃∃∀�(− ����

<�� �#∀�)/ %��∀(��( �−∗�5����∃�/−�∃/ %(�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%��.∀�#&�6/ ∀�.∀�+ !+−#&� /%�)−1# ,−∀∋�#&�

7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�.−�3/%.�.∀��!/��/ !�/−�.∀�#2&++/�∀∃∀%��#∀�)#−(�)!/+7∀��

<�� �#∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�

∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��

�

� �∀##∀(�(2&))− ∀%��5�−%∀�+/%(�!−+� /%�.∗45� ∃)#&%�∗∀�∀%�# ∃ �∀�.∀�)!/)! ∗�∗�(−!�#∀�3/%.(�6/ ( %∋�/−�5�−%�

∃−!�.∀�+#Η�−!∀∋�#&�7&−�∀−!�.∀(�+/%(�!−+� /%(�∀%�# ∃ �∀�(∗)&!&� 6∀�(∀!&�# ∃ �∗∀�5�+∀##∀∋�(/ ��.−�1Γ� ∃∀%��

∀= (�&%�∋� (/ �� .−� ∃−!� ∀= (�&%��� �∀��∀� # ∃ �&� /%� .∀� 7&−�∀−!� .∀(� +/%(�!−+� /%(� ∗. 3 ∗∀(� ∀%� # ∃ �∀�

(∗)&!&� 6∀� %∀� (2&))# ,−∀� )&(� .&%(� #∀� +&(� .2/)∗!&� /%� .2∀%(∀∃1#∀� &−=� # ∃ �∀(� (∗)&!&� 6∀(� +!∗∗∀(� )&!�

#2/)∗!&� /%��

�

�∴����
������

�/!(,−∀�#∀−!(�+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�#2 ∃)/(∀%�∋�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�

3& 1#∀�∀∃)! (∀��)/−!!/%��∆�!∀�∀=∀∃)�∗(�.∀�#&�!80#∀�.∀�7&−�∀−!���

�

�&%(�#∀�+&(�.∀�+/%(�!−+� /%(�)!∗∀= (�&%�∀(�)!∗(∀%�&%��−%∀�7&−�∀−!�(−)∗! ∀−!∀�5�+∀##∀�3 =∗∀�+ <.∀((−(∋�

.&%(� −%� 1−�� .∀� 1/%%∀�  %�∗0!&� /%� &!+7 �∀+�−!&#∀∋� #∀−!(� ∀=�∀%( /%(� )/−!!/%�� )!∗(∀%�∀!� −%∀� 7&−�∀−!�

∗0&#∀∋�&−�)#−(∋�5�+∀##∀�.−�1Γ� �)!∗∀= (�&%���



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  26 

��	��������������
��	��,	�������
�

��
��
�����

�∀(�. ()/( � /%(�.∀�#2&!� +#∀������<���.−��/.∀�.∀�#2
!1&% (∃∀�(/%��&))# +&1#∀(���

���� ��	���� ��� ����
	��	�����
� &
	�� 	��������� ��&
	�� ����	��� ∀��� ����� 	���	��� ��� ������	��
���� ���

�	���	��
���������������������������
	��
��������	����	���
��
��������	��	�+�
��
�	������	����������������

�������
�� 
�	���	������#
����
��������	�������������	�������������	����
������
�	������	
�	��

���
��

�����	��

	�����������
�	&
��������� ����������
��������
��������∗�������
�	�������	������������∀�������

�����	��
����������	����
������������
����.��

�

�/−��(�/+Ζ&0∀�∀%�)#∀ %�& !�.∀6!&�∆�!∀�. (( ∃−#∗�&−�∃ ∀−=�.∀(�!∀0&!.(∋�)&!�.∀(�)&# ((&.∀(�∀(�7∗� ,−∀(∋�

.∀(�7& ∀(�&−=�∀()8+∀(�∀��3/!∃∀(�6&! ∗∀(∋�∀�+�Τ��

�

�∴����
�����

�∀(� . ()/( � /%(� .∗!/0&�/ !∀(� &−=� )!∀(+! )� /%(� .−� )!∗(∀%�� &!� +#∀� (∀!/%�� )/(( 1#∀(�#/!(,−	∀##∀(�

)∀!∃∀��!/%����

•  #&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�./∃∀(� ,−∀(�(/#& !∀(��7∀!∃ ,−∀(�/−�)7/�/6/#�&⊥,−∀(∋�

•  /−�.∀��/−(�&−�!∀(�. ()/( � 3(� %. 6 .−∀#(�.∀�)!/.−+� /%�.	∗%∀!0 ∀�!∀%/−6∀#&1#∀∋�

•  /−� #	−� # (&� /%� ∀%� 3&Ο&.∀� .−� 1/ (� /−� .∀� �/−�� &−�!∀� ∃&�∗! &−� !∀%/−6∀#&1#∀� )∀!∃∀��&%��

.2∗6 �∀!�.∀(�∗∃ (( /%(�.∀�0&:�5�∀33∀��.∀�(∀!!∀∋�

•  /−�#&�!∗&# (&� /%�.∀��/ �−!∀(�6∗0∗�&# (∗∀(�/−�!∀�∀%&%��#∀(�∀&−=�)#−6 &#∀(���

�

�

�

��	�������������	�	��������	�
�

�∀�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�+/!!∀()/%.&%��&−=�1∀(/ %(�.∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�&.∃ (∀(�

./ �� ∆�!∀� &((−!∗� ∀%� .∀7/!(� .∀(� 6/ ∀(� )−1# ,−∀(� /−� )! 6∗∀(� /−6∀!�∀(� 5� #&� + !+−#&� /%� 0∗%∗!&#∀�� �∀�

(�&� /%%∀∃∀%��.∀6!&�∆�!∀�&((−!∗�(−!�#∀��∀!!& %�.2&(( ∀��∀�.∀�#&�+/%(�!−+� /%�/−�.∀�#2 %(�&##&� /%�∀��(∀#/%�

#∀(�∃/.&# �∗(�(− 6&%�∀(��

�

�∀� %/∃1!∀� .∀� (�&� /%%∀∃∀%�� ./ �� ∆�!∀� &.&)�∗� 5� #&� .∀(� %&� /%� ∀�� 5� #2−(&0∀� .∀(� /++−)&%�(� ∀��

−� # (&�∀−!(��

�

�∀(�:/%∀(�.∀�∃&%Υ−6!∀�./ 6∀%��∆�!∀� %.∗)∀%.&%�∀(�.∀(�6/ ∀(�)−1# ,−∀(�∀��!∀()∀+�∀!�#∀(�!80#∀(�.	&++8(�

3 =∗∀(�5�#	&!� +#∀���+ <.∀((−(��

�

�

��	��������������
�������������	�
���	�	���� ���
��������������������
�

�/−!� 3&+ # �∀!� #	 %(∀!� /%�.∀(�+/%(�!−+� /%(�/−�  %(�&##&� /%(�%/−6∀##∀(�.&%(� #∀�( �∀∋�.∀(�&∃∗%&0∀∃∀%�(�

)&Φ(&0∀!(�)∀−6∀%��∆�!∀� ∃)/(∗(��

�

�

�

���	����������
��������	�����,��������∃�	�����	�����������
�

��	��������∀������!!�����	��%����
�	�����������
�


#�%	∀(��)&(�3 =∗�.∀�+/∀33 + ∀%��.	/++−)&� /%�.−�(/#�/−�.∀�.∀%( �∗�∃ % ∃&#∀�)&!�#∀�)!∗(∀%��&!� +#∀��

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  27 

���	���������������	�������
��������,�����	���	���� �	�����, �

���	����	������	�����������	��
�

��	��������.���������	����� ��
�����������	��������
��!���������������	�−����

�	�������������	�����

#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

�

�

��	��������Φ���������	�������
�����������	������∃��!���	���	������	�������,����

���������	���������	����−����
�


#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀��

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  28 

�

	�	������������������
�

�

�

�

�673)+(�������Φ�98��&9(�9(�+%�621∋3/=(�#�

�

�/. 3 ∗�)&!��∗+!∀��%;����<����.−����3∗6! ∀!������<�&!�������

�

Κ����/��������	������	����
���
�����/�����;0��.�1�����
�&
	�������������/�������	������	��������
��	��

����	��

	����
�	��������������������
�������&
	������	
�������	������
���.��

�

��	�∀��� ���� �����������∀���� �
� ���� 	����� �������� ������
	���
�� �
�� ��� ���� ��+���
�� ���������������
�

� ��
��
� �� ��� ��	��+�	��� �������
�� ������ /���� ;0� ��
� ���� ������
�� ��������
�� ���	� �����	��	� ����

����
	��
����� �� ������
�	� ����� ����������� ��� ��

�� /����� ���� �	���
�
����� ������������
� �
� ���

�	��	����
�����
� ��� 	
������
� ����������
� ���� �����
����� ������������
� �
� ���∀�������
� ��� ���

/���.���������
	��
�����∗����
���
�	���������
���	��������	������
�������������	�
����������������
�

���������������
������	��
�������	��������	������
���������∀�������
����
�	���������/�����	�������	�

�����	���
�
�����������������
��
�����	��	����
�����
����	
������
.��

�

��	�∀��� ���� �����������∀���� �
� ���� 	����� �������� ������
	���
�� �
�� ��� ���� ��+���
�� ���������������
�

� ��
��
��������	��+�	����������
��������/����;0�����
���������������
����������
�����	������	��	�

��������
	��
�������������
�	����������������������

��/�������������	
�	�������	������
�������
�&
	��

����	���������������������
�������������	�������������������������	��������Κ�

�

�

������������
����
�����������

�

�1�<&∋(����#�:/%∀�5�−!1&% (∀!�5�6/+&� /%�)! %+ )&#∀�.	7&1 �&���

�

�1�<&∋(�������:/%∀�5�−!1&% (∀!�5�6/+&� /%�)! %+ )&#∀�.2&+� 6 �∗(�∗+/%/∃ ,−∀(�

�

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  29 

�
�
�	�����#���������
�

�

���
���	�������������	�������

���������

�

�

�

�����	������������������

�
�

�∀(� :/%∀(� 5� −!1&% (∀!� (/%�� .∀(� :/%∀(� %&�−!∀##∀(� /−6∀!�∀(� 5� #	−!1&% (&� /%� 3−�−!∀� .∀� #&� +/∃∃−%∀∋�

)! %+ )&#∀∃∀%�� &33∀+�∗∀(� 5� #27&1 �&� /%�� �##∀(� &++∀)�∀%�� �/−�∀3/ (� −%∀� )#−!&# �∗� .∀� 3/%+� /%(�

Β+/∃∃∀!+∀(∋�(∀!6 +∀(ΤΧ���

�

�/%(� �−&%�� #∀� )!/#/%0∀∃∀%��  ∃∃∗. &�� .−� 1Γ� � ∀= (�&%�∋� +∀(� :/%∀(� (∀!/%�� /!0&% (∗∀(� (∀#/%� .∀(�

)! %+ )∀(� .∗3 % (� )&!� #∀(� /! ∀%�&� /%(� .	&∃∗%&0∀∃∀%�� ∀�� .∀� )!/0!&∃∃&� /%∋� 6 (&%�� 5� ∗6 �∀!� −%�

0&() ##&0∀�.	∀()&+∀��

�

�∀(� +/%(�!−+� /%(� %	Φ� (∀!/%�� &−�/! (∗∀(� ,−∀� .&%(� #∀� +&.!∀� .	−%∀� /−� )#−( ∀−!(� /)∗!&� /%(�

.	&∃∗%&0∀∃∀%�� .	∀%(∀∃1#∀� ∀�� +∀� &3 %� .∀� 0&!&%� !� #&� +/7∗!∀%+∀� −!1&% (� ,−∀� & %( � ,−∀� #&� 3& (&1 # �∗�

�∀+7% ,−∀�∀��3 %&%+ 8!∀�.∀�#	&∃∗%&0∀∃∀%���

�

�

���	����������	��������%����
�	�����	�����%�	�����	�����������
�

�

�/−�∀�/++−)&� /%�∀��−� # (&� /%�.−�(/#�%/%� %�∀!. �∀�/−�%/%�(/−∃ (∀�5�.∀(�+/%. � /%(�)&!� +−# 8!∀(�&−=�

&!� +#∀(���∀����∀(��&.∃ (∀��

�

�

��	���������#�����
�	������	��	�����	��������������	����	����

�

�/%�� %�∀!. �(���

- �∀(�+/%(�!−+� /%(�5�−(&0∀�&0! +/#∀∋�

- �∀(�+&∃)(�.2&++−∀ #�)/−!��∀%�∀(�∀��+&!&6&%∀(∋�

- �∀(��∀!!& %(�.2&++−∀ #�.∀(�7&1 �&� /%(�#∗08!∀(�.∀�#/ ( !(∋�

- �∀(�)&!+(�.2&��!&+� /%(�/−6∀!�(�&−�)−1# +∋��

- �∀(�.∗)Η�(�.∀�6∗7 +−#∀(�.∗(&33∀+�∗(�/−� %∀!�∀(∋�

- �∀(��∀!!& %(�&33∀+�∗(�&−�0&!&0∀�+/##∀+� 3�.∀�+&!&6&%∀(∋�

- �∀(�+&!! 8!∀(��

- �∀�.∗)Η��.∀�6∗7 +−#∀(� %∀!�∀(∋�

- �∀(�/++−)&� /%(�∀��−� # (&� /%(�.−�(/#�5�6/+&� /%� %.−(�! ∀##∀∋��

�

�

�

��	����� ���� #� ����
�	����� �	� �	�����	����� ��� ���� ��������� �� ���� �����	�����


��	�����������

�

�∀(� +/%(�!−+� /%(� (/%�� &.∃ (∀(� (/−(� !∗(∀!6∀� ,−	∀##∀(� (	 %�80!∀%�� .&%(� −%∀� /−� )#−( ∀−!(� /)∗!&� /%(�

.2&∃∗%&0∀∃∀%��.2∀%(∀∃1#∀�+/%+∀!%&%���/−��/−�)&!� ∀�.2−%∀�:/%∀��
�∀��!∀()∀+�∀%��#∀(�)! %+ )∀(�.∀(�

/! ∀%�&� /%(�.2&∃∗%&0∀∃∀%��∀��.∀�)!/0!&∃∃&� /%��

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  30 

�%�/−�!∀∋� #�∀(��!&))∀#∗�,−2 #�+/%6 ∀%��.2&))# ,−∀!�#∀������.−�� 4/%%& (∋�%/�&∃∃∀%��∀%�+∀�,−2 #�)!∗6/ ��

&+�−∀##∀∃∀%����

- #&�!∗&# (&� /%�.2−%∀�.∀%( �∗�1!−�∀�∃ % ∃&#∀�.∀����#/0∀∃∀%�(�)&!�7∀+�&!∀�)/−!��/−�∀�/−6∀!�−!∀�.∀�

:/%∀�5�#2−!1&% (&� /%�.∀�)#−(�.2−%�7∀+�&!∀∋�/−�4−=�&)/( � /%�.2/−6∀!�−!∀�.∀�:/%∀(�5�#2−!1&% (&� /%�

 %3∗! ∀−!∀(�5�−%�7∀+�&!∀�∃& (��/�&# (&%��−%∀�(−)∀!3 + ∀�.∀�)#−(�.2−%�7∀+�&!∀���&�.∀%( �∗�.∀(�:/%∀(�

�
�∀(��∀%�/−�!∀�∀%+&.!∗∀�.&%(�#∀(�/! ∀%�&� /%(�.2&∃∗%&0∀∃∀%��∀��.∀�)!/0!&∃∃&� /%��

�

- _−∀� �/−�∀� /)∗!&� /%� %/−6∀##∀� .∀� )#−(� .∀� �!∀%�∀� #/0∀∃∀%�(� +/∃)/!�∀!&� &−� ∃/ %(� ��]� .∀�

#/0∀∃∀%�(� #/+&� 3(� 5� #/Φ∀!� ∃/.∗!∗� &−� (∀%(� .∀� #2&!� +#∀� ��� .∀� #&� #/ � ����
�� Β/)∗!&� /%(�

+/%6∀%� /%%∗∀(�&6∀+�)#&3/%.�.∀�!∀((/−!+∀(Χ∋�,− �)/−!!/%��)&!�& ##∀−!(�3& !∀�#2/14∀��.2−%��!&%(3∀!��5�

#2 %�∗! ∀−!� .−� �∀!! �/ !∀� +/∃∃−%&#�� � %( ∋� �/−�� /−� )&!� ∀� .∀(� /1# 0&� /%(� .∀� !∗&# (&� /%� .∀� �∀#(�

#/0∀∃∀%�(�  %+/∃1&%��5� #&�:/%∀��
�. �∀��<��5������ (/%�� �!&%(3∗!∗∀(�(−!� #∀�(∀+�∀−!��∗�.∀� #&� !−∀�

�∀−6∀∋�5�7&−�∀−!�.∀����#/0∀∃∀%�(�#/+&� 3(�5�#/Φ∀!�∃/.∗!∗��

�∀�)#−(∋�.&%(�#∀�+&(�/Ψ�.2&−�!∀(�#/0∀∃∀%�(�#/+&� 3(�(/+ &−=�(∀!& ∀%��!∗&# (∗(�)/(�∗! ∀−!∀∃∀%��5�#2∀%�!∗∀�

∀%�6 0−∀−!�.−�)!∗(∀%����
���

- �/ ��&−�(∀ %�.2−%∀�:/%∀��
�)!/)/(&%��−%�%/∃1!∀�.∀�#/0∀∃∀%�(�#/+&� 3(�(/+ &−=�(−)∗! ∀−!(�

5�(∀(�/1# 0&� /%(�&−�� �!∀�.−�����∋�

- �/ ��∀%�.∀7/!(�.2−%∀�:/%∀��
�

�∀�%/∃1!∀�.∀�#/0∀∃∀%�(�#/+&� 3(�(/+ &−=�(−))#∗∃∀%�& !∀(�6 ∀%.!&�∀%�!∗.−+� /%�.∀(�∀= 0∀%+∀(�5�+∀�

� �!∀�.∀�#&�:/%∀��
�����1�
�
��=���.�

�

- _−∀�#&�)&!��.∀(�#/0∀∃∀%�(�& .∗(�.&%(�#&�)!/.−+� /%�%/−6∀##∀�./ ��&��∀ %.!∀�&−�∃/ %(���]��

�

�

�&%(�+∀�+&.!∀∋�(/%��&.∃ (�.&%(�#&�∃∀(−!∀�/Ψ� #(�%2∀%�!&ς%∀%��)&(�.∀�.&%0∀!�∀%��∀!∃∀(�.∀�(∗+−! �∗�∀��.∀�

(&#−1! �∗� )−1# ,−∀∋� .2 %+/%6∗% ∀%�(� /−� .∀� %− (&%+∀(� 0!&6∀(� Β6 (−∀##∀(∋� (/%/!∀(� /−� /#3&+� 6∀(Χ� 4−0∗∀(�

 %+/∃)&� 1#∀(�&6∀+�#27&1 �&�����

- �∀(�+/%(�!−+� /%(�5�6/+&� /%�&!� (&%&#∀∋�%/%�(/−∃ (∀(�5�&−�/! (&� /%�&−�� �!∀�.∀(�  %(�&##&� /%(�

+#&((∗∀(�)/−!�#	∀%6 !/%%∀∃∀%�∋�

- �∀(� &33/− ##∀∃∀%�(� ∀�� ∀=7&−((∀∃∀%�(� .∀� (/#� # ∗(� 5� −%∀�  %(�&##&� /%∋� −%∀� +/%(�!−+� /%� /−� −%�

&∃∗%&0∀∃∀%��&−�/! (∗�.&%(�#&�:/%∀�∀��.&%(�#&�# ∃ �∀�.2−%∀�7&−�∀−!�.∀���∃�Β7/!∃ (�#∀(��!&6&−=�

.2&∃∗%&0∀∃∀%��%∗+∀((& !∀(�&−�!∀∃1#& ∀∃∀%��.∀(��∀!!& %(�4−(,−25�#&�+/�∀�.∀�3/%.�.∀��!/��/ !�

/−�5�#&�!∗&# (&� /%�.∀�1&(( %(�.∀�!∗�∀%� /%�∀��/−6!&0∀(�.2 %3!&(�!−+�−!∀�,− �%∀�(/%��)&(�# ∃ �∗(Χ��

�

�%3 %∋� �/−�∀(� #∀(� /++−)&� /%(� ∀�� −� # (&� /%(� .−� (/#� %/%�  %�∀!. �∀(� /−� (/−∃ (∀(� 5� .∀(� +/%. � /%(�

)&!� +−# 8!∀(�)&!� #∀(�&!� +#∀(���∀���∋� (/%��&.∃ (∀(�(/−(�+/%. � /%�.∀�%∀�)&(�+!∗∀!�.∀�(/−(<(/#�∀%�∀!!∗�

�/�&#∀∃∀%��/−�)&!� ∀##∀∃∀%��∀��.∀�!∗&# (∀!�−%�6 .∀<(&% �& !∀�&.&)�∗�5�#&�%&�−!∀�.−�! (,−∀�.∀�!∀∃/%�∗∀�

.∀�%&))∀�+/%%−��

�

3������(� 4��
��� ���� ������
����� �
� �
�����
����� ��� ���� 	��
��
� ���������� ��
	�� ��
	��� �������
�����

�	�����������	
�����3����������5���������0	������������������������	
�����3�����!����	������	����
����

�����������	�
���
�����������	�
�������∀���.�

�

�

�

���	�������(7������������	���������%����
�	�����	�
��������	�����,�����

����%�	�����	�����������
�

��	���������#��������	��������

�

�&�6/ ! ∀∋� #∀(�&++8(�6∗7 +−#∀(�∀��#∀(�+7∀∃ %∀∃∀%�(�) ∗�/%% ∀!(�./ 6∀%��!∀()∀+�∀!�#∀(�)! %+ )∀(�.	&++8(�

3 0−!∗(�&−=�&63(∋7173&∋/�9%1=4∋1;(=(∋7�(7�9(�06&;61==173&∋��

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  31 

�))Ε/�

�

�/−�� �∀!!& %� ∀%+#&6∗� ∀(��  %+/%(�!−+� 1#∀∋� 5� ∃/ %(� ,−∀� (/%� )!/)! ∗�& !∀� %∀� )!/.− (∀� −%∀� (∀!6 �−.∀� .∀�

)&((&0∀�(−33 (&%�∀� %(� �−∗∀�)&!�&+�∀�&−�7∀%� ,−∀�/−�)&!�6/ ∀�4−. + & !∀∋�∀%�&))# +&� /%�.∀�#2&!� +#∀��ϑ��

.−�+/.∀�+ 6 #��

�

�/!(,−∀�#∀��∀!!& %�∀(��! 6∀!& %�.∀�.∀−=�/−�)#−( ∀−!(�6/ ∀(�)−1# ,−∀(∋� #2&++8(�(−!�+∀##∀�.∀�+∀(�6/ ∀(�,− �

)!∗(∀%�∀!& ��−%∀�0∆%∀�/−�−%�! (,−∀�)/−!�#&�+ !+−#&� /%�)∀−��∆�!∀� %�∀!. ���

�

�/−�∀� /)∗!&� /%� ./ �� )!∀%.!∀� #∀� ∃ % ∃−∃� .2&++8(� (−!� #∀(� 6/ ∀(� )−1# ,−∀(�� �∀(� +&!&+�∗! (� ,−∀(� .∀(�

&++8(�+7&!!∀� ∀!(�./ 6∀%��∆�!∀�&.&)�∗∀(�5�#2/)∗!&� /%�∀��%/�&∃∃∀%��)∀!∃∀��!∀�.∀�(&� (3& !∀�&−=�!80#∀(�

.∀�.∗3∀%(∀�+/%�!∀� #2 %+∀%. ∀∋�∀��&∃∗%&0∗(�.∀� 3&Ο/%�5�&))/!�∀!� #&�∃/ %.!∀�0∆%∀�5� #&�(∗+−! �∗�∀��5� #&�

+ !+−#&� /%�)−1# ,−∀��

�

�&363(�

�

�∀(�. ∃∀%( /%(∋�3/!∃∀(�∀��+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�.∀(�6/ ∀(�./ 6∀%��∆�!∀�&.&)�∗∀(�&−=�/)∗!&� /%(�

/−�+/%(�!−+� /%(�,−2∀##∀(�./ 6∀%��.∀((∀!6 !��

�

�/!(,−2∀##∀(�(/%��.∀(� %∗∀(�5�.∀((∀!6 !�)#−(�.∀��!/ (�#/0∀∃∀%�(∋� #∀(� ∃)&((∀(�.∗3 % � 6∀(�/−6∀!�∀(�5�#&�

+ !+−#&� /%�)−1# ,−∀�+/∃)/!�∀!/%��5�#∀−!�∀=�!∗∃ �∗�−%∀�& !∀�)∀!∃∀��&%��&−=�6∗7 +−#∀(�.∀�3& !∀�.∀∃ <

�/−!��

�

�&%(�#∀(�/)∗!&� /%(�.2∀%(∀∃1#∀∋�#∀�+7/ =�.−��!&+∗�.∀(�.∀((∀!�∀(�&−�/∃/1 #∀(�∀��6/ ∀(�) ∗�/%%∀(∋�./ ��

)!∗(∀!6∀!� #&� )/(( 1 # �∗� .∀� !&++/!.∀∃∀%�� &−=� .∀((∀!�∀(� .∀(� /)∗!&� /%(� 6/ ( %∀(� ∀= (�&%�∀(� /−�

∗6∀%�−∀##∀(��

�

�∀�% 6∀&−�&#� ∃∗�! ,−∀�.∀� #&�+7&−((∗∀�6∗7 +−#∀(�.∀6!&��∀% !�+/∃)�∀�.∀� #&� +/�∀�.∀(� )#−(�7&−�∀(�∀&−=�

+/%%−∀(∋� (&−3� )/%+�−∀##∀∃∀%�� )/−!� %∀� )&(� %− !∀� 5� #&� !∗&# (&� /%� .∀� (Φ(�8∃∀(� .∀� 0∀(� /%� .∀(� ∀&−=�

)#−6 &#∀(��∀#(�,−∀�%/−∀(�)&!�∀=∀∃)#∀��

�

�

��	�������∀�#�������	��
�������������,�

�

�/−(� #∀(� . ()/( � 3(� )!/4∀�∗(� !∀#&� 3(� 5� #2&# ∃∀%�&� /%� ∀%� ∀&−� ∀�� 5� #2&((& % ((∀∃∀%�� .∀6!/%�� ∆�!∀�

+/%3/!∃∀(�5�#&�!∗0#∀∃∀%�&� /%�∀%�6 0−∀−!�∀��∆�!∀�+/∃)&� 1#∀(�&6∀+�#∀(�/! ∀%�&� /%(�.2&∃∗%&0∀∃∀%��∀��

.∀�)!/0!&∃∃&� /%��

�

�18�0&712+(�

�

�/−�∀� +/%(�!−+� /%� /−�  %(�&##&� /%� %/−6∀##∀� %∗+∀(( �&%�� −%∀� &# ∃∀%�&� /%� ∀%� ∀&−� )/�&1#∀� ./ �� ∆�!∀�

!&++/!.∗∀�&−�!∗(∀&−�+/##∀+� 3�.∀�. (�! 1−� /%�.2∀&−�)/�&1#∀��

�

�//13∋3//(=(∋7�

�

�&−=�−(∗∀(�

�/−�∀� +/%(�!−+� /%� /−�  %(�&##&� /%� %/−6∀##∀� ./ �� ∗6&+−∀!� (∀(� ∀&−=� −(∗∀(� )&!� .∀(� +&%&# (&� /%(�

(/−�∀!!& %∀(� !&++/!.∗∀(� &−� !∗(∀&−� +/##∀+� 3� .2&((& % ((∀∃∀%�∋� #/!(,−2 #� ∀= (�∀� ∀%� +&)&+ �∗� &.&)�∗∀∋�

+/%3/!∃∗∃∀%��&−=�!80#∀∃∀%�(�(&% �& !∀(�∀%�6 0−∀−!��

�

�2∗6&+−&� /%�.∀(�∀&−=�−(∗∀(�.&%(�#∀(�3/((∗(∋�+/−!(�.2∀&−�/−�∗0/−�(�.2∀&−=�)#−6 &#∀(∋�∀(�� %�∀!. �∀��

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  32 

�&−=�)#−6 &#∀(�

�

�∀(�&∃∗%&0∀∃∀%�(�%∗+∀((& !∀(�&−�# 1!∀�∗+/−#∀∃∀%��.∀(�∀&−=�)#−6 &#∀(�∀��∗6∀%�−∀##∀∃∀%��+∀−=�6 (&%��5�

#&�# ∃ �&� /%�.∀(�.∗1 �(�∗6&+−∗(�.∀�#&�)!/)! ∗�∗�/−�5�#2 %3 #�!&� /%�.&%(�#∀�(/#�(/%��5�#&�+7&!0∀�∀=+#−( 6∀�

.−�)!/)! ∗�& !∀�,− �./ ��!∗&# (∀!�#∀(�. ()/( � 3(�&.&)�∗(�5�#2/)∗!&� /%�∀��&−��∀!!& %��

�

�(/�(18Β�0+8Χ31+(/�06&06(/��∀##∀(�,−∀�#∀(�∀&−=�.∀��/ �−!∀(�(∀!/%��!∀+−∀ ## ∀(�∀��!∗−� # (∗∀(�&−�&%��,−∀�

)/(( 1#∀� &6&%��  %3 #�!&� /%� (−!� #∀� �∀!!& %��
%� (�/+Ζ&0∀� .∀(� ∀&−=� )#−6 &#∀(� )!/)!∀(� Β)/−!� !∗−� # (&� /%Χ∋�

.	−%� ∃8�!∀� +−1∀� )&!� 3/Φ∀!� ∃ % ∃−∃∋� ∀(�� )!∗+/% (∗� )/−!� �/−�∀� %/−6∀##∀� +/%(�!−+� /%� )! %+ )&#∀�

.	7&1 �&� /%��

�

�/−�∀3/ (∋� ∀%� +&(� .	 ∃)/(( 1 # �∗� .	 %3 #�!&� /%� �/�&#∀� /−� )&!� ∀##∀� # ∗∀� 5� #&� %&�−!∀� .−� (/#� /−� 5� −%∀�

( �−&� /%�3/%+ 8!∀� !!∗∃∗. &1#∀∋�−%�. ()/( � 3�.∀�!∗�∀%� /%�.∀(�∀&−=�)#−6 &#∀(�(−!�#∀��∀!!& %�.	&(( ∀��∀�.−�

)!/4∀��)/−!!&�∆�!∀� ∃)/(∗�&6&%��&++∀)�&� /%�.∀�!∀4∀��.−�(−!)#−(�.&%(�#∀�∃ # ∀−�/−�#∀�!∗(∀&−∋�∀%�+&(�.∀�

)!∗(∀%+∀�.∀�+∀#− <+ �∀%�+&)&+ �∗�&.&)�∗∀���∀�. ()/( � 3�+7/ ( �)/−!�Φ�)&!6∀% !�.∀6!&�∆�!∀�+/%3/!∃∀�&−=�

%/!∃∀(�∀%�6 0−∀−!��

�

�∀(�)∗� � /%%& !∀(�./ 6∀%��!∗&# (∀!�5�#∀−!�+7&!0∀�∀=+#−( 6∀�−%�. ()/( � 3�&.&)�∗�)/−!�!∀+−∀ ## !�∀��∗)−!∀!�

+(/�(18Β�0+8Χ31+(/�/&83++4(/�Β)&!�∀=∀∃)#∀�#∀(�∀&−=�&Φ&%��!− ((∀#∗�(−!�.∀(�(−!3&+∀(�.∀�+ !+−#&� /%�/−�.∀�

(�&� /%%∀∃∀%�� .∀� 6∗7 +−#∀(� ∃/�/! (∗(Χ∋� &6&%�� �/−�� !∀4∀�� .&%(� #∀� ∃ # ∀−� .8(� ,−∀� #&� (−)∀!3 + ∀�

 ∃)∀!∃∗&1 # (∗∀�./%��∀##∀(�(/%�� ((−∀(�&��∀ %�����∃[�.2−%�(∀−#��∀%&%����

�

�%�+&(�.∀�)!∗(∀%+∀�.2−%�!∗(∀&−�.2∀&−=�)#−6 &#∀(�(−33 (&%��&6∀+�−%�. ∃∀%( /%%∀∃∀%��∀��−%∀�&#� ∃∗�! ∀�

&.&)�∗(∋� #∀� !&++/!.∀∃∀%��5�+∀#− <+ �)/−!!&�∆�!∀� ∃)/(∗�)/−!� #∀(�∀&−=�)#−6 &#∀(�.∀(�∀()&+∀(�+/##∀+� 3(�

.2−%∀� /)∗!&� /%� �∀##∀(� ,−∀� 6/ ∀(�  ∃)∀!∃∗&1#∀(� + !+−#∗∀(� %/−6∀##∀(� &6∀+� ∗6∀%�−∀##∀∃∀%�� 5� #&� +7&!0∀�

∀=+#−( 6∀�.−�)!/)! ∗�& !∀�/−�.∀�#	&∃∗%&0∀−!�−%∀�# ∃ �&� /%�.−�.∗1 ��&++∀)�∗�∀��−%��!& �∀∃∀%��.∀(�∀&−=�

Β.∀((&1#∀−!∋�(∗)&!&�∀−!�5�7Φ.!/+&!1−!∀ΤΧ��

�&%(�#∀�+&(�+/%�!& !∀∋�#∀(�&∃∗%&0∀−!(�./ 6∀%��!∗&# (∀!�5�#∀−!�+7&!0∀�∀=+#−( 6∀�−%�. ()/( � 3�&.&)�∗�)/−!�

!∀+−∀ ## !� #∀(� ∀&−=� )#−6 &#∀(� .∀(� ∀()&+∀(� +/##∀+� 3(� .2−%∀� /)∗!&� /%� �∀##∀(� ,−∀� +∀##∀(� .∀(� 6/ ∀(�

 ∃)∀!∃∗&1#∀(�+ !+−#∗∀(�%/−6∀##∀(�∀%�!∀()∀+�&%��#&�!∗0#∀∃∀%�&� /%�∀= (�&%�∀���

�

�#∀+�! + �∗∋��∗#∗)7/%∀�∀���∗#∗. 33−( /%�

�

�∀(�!∗(∀&−=�∀��1!&%+7∀∃∀%�(�%/−6∀&−=�./ 6∀%��∆�!∀�!∗&# (∗(�∀%�(/−�∀!!& %��

�

� 6∀!(�

�

�&%(� �/−�∀� #&� :/%∀∋� #∀(� . ()/( � /%(� .∀� #2&!� +#∀� �� ���<�� .−� �/.∀� .∀� #2
!1&% (∃∀∋� %/�&∃∃∀%�∋�

.∀∃∀−!∀%�� &))# +&1#∀(� �� ���	�∀���� ����
�� 
���� ��� ��� ���
���
���� ��� ��� ����
	��
���� ��� ���

������������
� �	���
��� ���� 
	���� � ��	
��
� ��	� ���� 	����� � �������� ��� ���
	���
���� �������

���������������
����������
	���
����������
	���
�����
���������	������	�����	�	���������	
������	���
�����

��	�����������
	��	��������������	�������
�&
	������	����������
�	�
�������
��
������
������������	��

������∀��	� ����� ∀���� ������ �
� ��	� ∀������ ������
���
�� �����∀��� ��� ��	� ∀���� �������������	�� ��� ��	�����

�����������
	���� �������
�&
	��� ���
���.�

�


#�∀(��!&))∀#∗�∗0&#∀∃∀%��#&�. ()/( � /%�.−��+7∗∃&�.	�∃∗%&0∀∃∀%��∀���.∀��∀(� /%�.∀(��&−=�Β����Χ�.∀�

#&� Θ/−0∀� &+�−∀##∀∃∀%�� ∀%� 6 0−∀−!∋� )!∗6/Φ&%�� ,−	∀%� +&(� .∀� )!/4∀�� /−� /)∗!&� /%� .	&∃∗%&0∀∃∀%�∋� .∀�

+/%(�!−+� /%�/−�.	 %(�&##&� /%�+/%+∀!%&%��−%∀�(−)∀!3 + ∀�−!1&% (∗∀� %�∀!+∀)�&%��−%�1&(( %�.	&−�∃/ %(�

−%�7∀+�&!∀∋�#∀�!∀4∀��.∀(�∀&−=�)#−6 &#∀(�∀(��(/−∃ (�5�#&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�+/##∀+�∀−!(∋�.∗+&%�∀−!(�

∀��.	∗+!∆�∀∃∀%��)/−!�.∀(�)#− ∀(�.∀�!∗+−!!∀%+∀�&−�∃ % ∃−∃�.∀����&%(��

�

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  33 

��	�������.�#������	����	�−��������	��������

�


#�%	∀(��)&(� ∃)/(∗�.∀�+&!&+�∗! (� ,−∀�)&!� +−# 8!∀�)/−!�,−	−%��∀!!& %�(/ ��+/%(�!−+� 1#∀���

�

��	����� ��Φ�#� ��
���	�	���� ���� ����	���	����� 
��� ��

��	� ��,� ������ �	� ��
������


����−����

�

�−+−%∀�!80#∀�.2 ∃)#&%�&� /%�%2∀(�� ∃)/(∗∀�)&!�!&))/!��&−=�∀∃)! (∀(�&−�!∀(�,−∀�#∀(�6/ ∀(�/−6∀!�∀(�5�#&�

+ !+−#&� /%�)−1# ,−∀�.∀(�6/ �−!∀(∋�,−2∀##∀(�(/ ∀%��)−1# ,−∀(�/−�)! 6∗∀(���

�

�∀(�%/−6∀##∀(�+/%(�!−+� /%(∋�&−�!∀(�,−∀�+∀##∀(�.∀(� %∗∀(�&−�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�&−�/∃/1 #∀(∋�

)∀−6∀%��∆�!∀� ∃)#&%�∗∀(���

<�(/ ��∀%�!∀()∀+�&%��−%�!∀+−#�.2&−�∃/ %(���=�)&!�!&))/!��5�#2&# 0%∀∃∀%�∋�

<�(/ ��5�#2&# 0%∀∃∀%��.∀�#&�!−∀�(−!��/−��/−�)&!� ∀�.−�1Γ� ∃∀%�∋�

�

�∀(� %/−6∀##∀(� +/%(�!−+� /%(� .∀(� %∗∀(� &−� (�&� /%%∀∃∀%�� .∀(� 6∗7 +−#∀(� &−�/∃/1 #∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(� ∀%� !∀()∀+�&%�� −%� !∀+−#� .2&−� ∃/ %(� ��∃� &−� .!/ �� .∀� #2∀%�!∗∀� .∀� 0&!&0∀� )&!� !&))/!�� 5�

#2&# 0%∀∃∀%�∋�(&−3�5�. ()/(∀!�.2−%∀�+/−!�.2∗6/#−� /%�)∀!∃∀��&%��.2∀33∀+�−∀!�#∀(�∃&%Υ−6!∀(�.2&++8(�&−�

0&!&0∀�∀%�.∀7/!(�.∀�#&�6/ ∀�.∀�.∀((∀!�∀���

�

�∴����
������������
�����2����
���
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�#∀(�(& ## ∀(�.2&−�)#−(��∋���∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�&%(�#∀�+&(�.∀�+ !+/%(�&%+∀(�)&!� +−# 8!∀(�Β6 !&0∀�&++∀%�−∗∋�+!/ (∀∃∀%��.∀�6/ ∀(∋�3/!�∀�)∀%�∀∋�/−�)/−!�

.∀(� ∃/� 3(� .∀� !∀+7∀!+7∀� .−� ∃∀ ##∀−!� ∀%(/#∀ ##∀∃∀%�Χ∋� −%� !∀+−#� . 33∗!∀%�� .−� )! %+ )∀� + <.∀((−(� (∀!&�

&.∃ (∋�/−�)/−!!&�∆�!∀� ∃)/(∗�)/−!�.∀(�∃/� 3(�.∀�(∗+−! �∗��

�

� � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� (∀!/%�� &.∃ (∀(� )/−!� #	 ∃)#&%�&� /%�

.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�	&0 ((&%��.∀�#	&))# +&� /%�%/�&∃∃∀%��.∀(�. ()/( � /%(�.∀�#	&!� +#∀������<��<��.−�+/.∀�.∀�#	−!1&% (∃∀∋�

#∀(�!80#∀(�∗. +�∗∀(�(∀!/%��&))!∗+ ∗∀(�&−�!∀0&!.�.∀(�. 6 ( /%(� ((−∀(�.∀�#2/)∗!&� /%�Β#/� ((∀∃∀%�∋�)∀!∃ (�

6&#&%��. 6 ( /%�)&!+∀##& !∀∋�/−�&−�!∀(Χ��

�

�

��	�������Γ�#���
���	�	������������	���	�����
�����

��	���,�����	�����
���	�����

�

��
��
�����

�∀(� +/%(�!−+� /%(� )∀−6∀%�� (	 ∃)#&%�∀!� ∀%� # ∃ �∀� (∗)&!&� 6∀�� �&%(� +∀� +&(∋�  #� ∀(��  %�∀!. �� .∀� +!∗∀!� −%∀�

/−6∀!�−!∀�.&%(�−%�∃−!�.∀�+/%(�!−+� /%� ∃)#&%�∗�∀%�# ∃ �∀�(∗)&!&� 6∀∋�+!∗&%��4/−!�/−�6−∀��

�

�&%(� #∀� +&(� /Ψ� #∀(� +/%(�!−+� /%(� %∀� (/%�� )&(�  ∃)#&%�∗∀(� ∀%� # ∃ �∀� (∗)&!&� 6∀∋� ∀##∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(�∀%�!∀()∀+�&%��−%∀�∃&!0∀�.2 (/#∀∃∀%���∀##∀�,−∀�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�

�/−��)/ %��.−�1Γ� ∃∀%��∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�(/ ��&−�∃/ %(�∗0&#∀�5�#&�∃/ � ∗�

.∀�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�&6∀+�−%�∃ % ∃−∃�.∀��=����=�Η�9�Ι∗?�Χ��

�

�∀� )#−(∋� .&%(� #∀� +&(� .∀� ∃−!(� /−� .∀� �/ �−!∀(� +/∃)/!�&%�� .∀(� 1& ∀(� &6∀+� 6−∀� 5� #2∗�&0∀∋� #&� . (�&%+∀�

+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀� #∀�% 6∀&−�.∀� #&�)&!� ∀�(−)∗! ∀−!∀�.∀� #&�)#−(�7&−�∀�1& ∀�∀�� #∀�)/ %��#∀�

)#−(� )!/+7∀� .∀� #&� # ∃ �∀� (∗)&!&� 6∀� %∀� )∀−�� ∆�!∀�  %3∗! ∀−!∀� 5� #&� . 33∗!∀%+∀� .∀� % 6∀&−� ∀%�!∀� +∀(� .∀−=�

)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5��∃���=�Η�9�Ι
2����2/14∀+� 3�∗�&%��.∀�)!∗(∀!6∀!�#∀(�7&1 �&%�(�.∀(�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  34 

6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #&� 6−∀� +!∗∗∀� ./%%∀� (−!� −%∀�

)!/)! ∗�∗�! 6∀!& %∀�+/%(�!− �∀�/−�+/%(�!−+� 1#∀�.&%(�−%∀�6/+&� /%�.27&1 �&���

�

�%3 %∋�.&%(�#∀�+&(�.∀��∀!!&((∀(�&++∀(( 1#∀(�/−�.∀�1&#+/%(∋�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�#∀�

% 6∀&−�3 % �.∀�)#&%+7∀!�∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�%∀�)∀−��∆�!∀� %3∗! ∀−!∀�5�.∀−=�

3/ (�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5���∃���=�Η�9�Ι��
0���


#� +/%6 ∀%��.2∀%�∀%.!∀�)&!�Κ�∀!!&((∀�&++∀(( 1#∀Κ∋�%/%�)&(�−%∀�&++∀(( 1 # �∗� �∀+7% ,−∀�%∗+∀(( �∗∀�)/−!�

−%∀�!& (/%�.2∀%�!∀� ∀%∋�∃& (�−%∀�&++∀(( 1 # �∗�.∀�Κ# ∀−�.∀�6 ∀Κ∋�∃∆∃∀�/++&( /%%∀#���2/14∀+� 3�∗�&%��.∀�

)!∗(∀!6∀!� #∀(� 7&1 �&%�(� .∀(� 6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #∀�

1&#+/%� /−� #&� �/ �−!∀<�∀!!&((∀� +!∗∀� −%∀� 6−∀� (−!� #&� )!/)! ∗�∗� ! 6∀!& %∀� ∀�� −% ,−∀∃∀%�� ( � #&� # ∃ �∀�

(∗)&!&� 6∀�./%%∀�(−!�−%�∀()&+∀�+/%(�!− ��/−�+/%(�!−+� 1#∀�.&%(�−%∀�.∀(� %&� /%�.27&1 �&���

�

�∴����
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�.∀�#&�∃&!0∀�.∀�!∀+−#���

•  #∀(� +7∀∃ %∗∀(∋� /−6!&0∀(� �∀+7% ,−∀(� ∀�� &−�!∀(� (−)∀!(�!−+�−!∀(� Β+7&−33∀! ∀(∋� &%�∀%%∀(∋�

)&!&�/%%∀!!∀(∋�0&!.∀<+/!)(∋�∀�+����Χ�.∗)&((&%��.∀�#&��/ �−!∀∋�

•  �/−�∀�(& ## ∀�.∀�∃/ %(�.∀��∋��∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�/−�∀3/ (� ( � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� )/−!!/%�� ∆�!∀� &.∃ (∀(� )/−!�

#	 ∃)#&%�&� /%�.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�

��	���������#���
���	�	������������	���	��������������
�����

��	���,���	������������

�����
��
���	��

�

�� ∃/ %(� ,−∀� #∀(� 1Γ� ∃∀%�(� %∀� (/ ∀%�� +/%� 0−(∋� #&� . (�&%+∀� #∀(� (∗)&!&%�� ./ �� ∆�!∀� �∀##∀� ,−∀�

( ∃−#�&%∗∃∀%��#∀(�+/%. � /%(�.∀�)&((&0∀�∀��.∀�3/%+� /%%∀∃∀%��.−�∃&�∗! ∀#�.∀�#−��∀�+/%�!∀�#2 %+∀%. ∀�

(/ ∀%��(&� (3& �∀(∋��/−��∀%�)! 6 #∗0 &%��&−�∃ ∀−=�#	∀%(/#∀ ##∀∃∀%���

�

�

��	���������#���
������������

�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��#∀�!&))/!��.∀�#&�(−!3&+∀�)!/4∀�∗∀�&−�(/#�.∀(�6/#−∃∀(�7/!(�Υ−6!∀�.∀�

#2∀%(∀∃1#∀� .∀(� +/%(�!−+� /%(� /−�  %(�&##&� /%(∋� 5� #&� (−!3&+∀� .−� �∀!!& %� Β#∀(� 1&#+/%(∋� #/00 &(∋� �∀!!&((∀(∋�

) (+ %∀(�%/%�+/−6∀!�∀(∋�.∗1/!.(�.∀��/ �−!∀�%∀�(/%��)&(�)! (�∀%�+/∃)�∀�.&%(�#∀�+&#+−#Χ���

�2∀%�!∀%�� ∗0&#∀∃∀%�� )&(� .&%(� #∀� +&#+−#∋� #∀(� 0&!&0∀(� /−� &−�!∀(� #/+&−=� ∀%�∀!!∗(� ∀%� �/�&# �∗� /−�

)&!� ∀##∀∃∀%�∋�( �−%�(/#�&!� 3 + ∀#�&++∀(( 1#∀�∀(��!∀+/%(� �−∗�&−<.∀((−(∋�∀%�+/%� %− �∗�&6∀+�#∀�(/#�%&�−!∀#���

�


%� .∗)&((∀∃∀%�� .−� ���� .∀� ��]� ∃&= ∃−∃� (∀!&� &−�/! (∗� )/−!� #∀(� +/%(�!−+� /%(� !∀∃)# ((&%�� .∀(�

+! �8!∀(� .∀� )∀!3/!∃&%+∀(� ∗%∀!0∗� ,−∀(� /−� +/∃)/!�&%�� .∀(� ∗,− )∀∃∀%�(� .∀� )!/.−+� /%� .	∗%∀!0 ∀(�

!∀%/−6∀#&1#∀(��

�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��# ∃ �∗�5�ϑ .��

�

�∀�+/∀33 + ∀%��.	∀∃)! (∀�&−�(/#�%∀�(	&))# ,−∀�)&(�)/−!�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3���

�

�

�

�

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  35 

��	��������ϑ�#�
��	������,��������������	���	�����

�

�∀�% 6∀&−�&#� ∃∗�! ,−∀�.−�)#&%+7∀!�#∀�)#−(�1&(�.∀�#&�+/%(�!−+� /%�%∀�.∀6!&�)&(�∆�!∀� %3∗! ∀−!�5�#&�+/�∀�

.∀(�)#−(�7&−�∀(�∀&−=�+/%%−∀(�∀��.∀6!&�∆�!∀�&�∃ % ∃&�(−)∗! ∀−!�.∀����+∃�&−�% 6∀&−�.−��∀!!& %�%&�−!∀#�

Β)! (�&−�)/ %��#∀�)#−(�1&(�.&%(�#2∀∃)! (∀�.∀�#&�+/%(�!−+� /%Χ���

�

�&�7&−�∀−!�.∀(�%/−6∀##∀(�+/%(�!−+� /%(�%∀�./ ��)&(�∀=+∗.∀!��∋���∃8�!∀(�5�#&�(&1# 8!∀�∀����% 6∀&−=�7/!(�

(/#∋�#∀��!/ ( 8∃∀�% 6∀&−�%∀�)/−6&%��∆�!∀�&#/!(�,−∀�.∀(�+/∃1#∀(�&∃∗%&0∗(�(/ ��Κ��Π��Π+/∃1#∀(Κ��

�&%(�#∀�+&(�.∀�+/∃1#∀(�&∃∗%&0∗(∋� #�%∀�(∀!&�&−�/! (∗�,−2−%�(∀−#�% 6∀&−�.&%(�#∀(�+/∃1#∀(���∀��∀�!80#∀�

∀(��6∗! 3 ∗∀�+/−)∀�)&!�+/−)∀�∀%�+&(�.∀�+/%(�!−+� /%(�&6∀+�.∀(�.∗+&#&0∀(�.∀�% 6∀&−=��

�

�&!�& ##∀−!(∋�#&�7&−�∀−!�.∀(�&1! (�.∀�4&!. %(�%∀�3& (&%��)&(�+/!)(�&6∀+�#&�+/%(�!−+� /%�)! %+ )&#∀�∃∀(−!∗∀�

5�)&!� !�.−�% 6∀&−�.−�(/#�%&�−!∀#�Β&−�+∀%�!∀�.∀�#2&1! Χ�4−(,−2&−�(/∃∃∀��Β�/ �−!∀�+/∃)! (∀Χ�.∀�#2&1! ∋�%∀�

./ ��)&(�∀=+∗.∀!��∋���∃��

�

�&−3�∀%�+&(�.2&++/!.�/−�.2&−�/! (&� /%�.∀�+/%(�!− !∀�+/∃∃−%∀�&6∀+�#∀�3/%.�6/ ( %�Β)∀!∃ (�0!/−)∗�)&!�

∀=∀∃)#∀Χ∋� #∀(� +/%(�!−+� /%(� ∗. 3 ∗∀(� ∀%� # ∃ �∀� (∗)&!&� 6∀� %∀� )/−!!/%�� ∀=+∗.∀!� �∋��� ∃� .∀� 7&−�∀−!�

∃∀(−!∗∀�5�#2&)#/∃1�.∀�#&�# ∃ �∀��

�∀��∀�7&−�∀−!�(∀�∃∀(−!∀�5�#2&)#/∃1�.∀�#&�# ∃ �∀�+/∃∃∀�(− ����

<� � � #∀� )/ %�� ∀(�� ( �−∗� 5� ���∃� /−� ∃/ %(� .∀� . (�&%+∀� .∀� #2&# 0%∀∃∀%�� .∀� #&� 6/ ∀� .∀� + !+−#&� /%�

)−1# ,−∀∋� #&� 7&−�∀−!� (∀� ∃∀(−!∀� 5� )&!� !� .−� % 6∀&−� .−� 3/%.� .∀� �!/��/ !� /−� .∀� #2&++/�∀∃∀%�� #∀� )#−(�

)!/+7∀��

<�� �#∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�

.−�% 6∀&−�∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��

�

�/!(,−2∀##∀(� %∀� (/%�� % � &++/#∗∀(∋� % � 4/ %� 6∀(� /−�  %�∗0!∗∀(� &−� 1Γ� ∃∀%�� )! %+ )&#∋� #∀(� +/%(�!−+� /%(�

&%%∀=∀(� .∀� #27&1 �&�� ∀�� #∀(� &1! (� .∀� 4&!. %� ∗. 3 ∗(� ∀%� # ∃ �∀� .∀� #2&# 0%∀∃∀%�� .∀(� 6/ ∀(� /−6∀!�∀(� 5� #&�

+ !+−#&� /%� 6∗7 +−#∀� )−1# ,−∀∋� %∀� )/−!!/%�� ∀=+∗.∀!� �∋��� ∃� .∀� 7&−�∀−!� ∃∀(−!∗∀� 5� #2&)#/∃1� .∀�

#2&# 0%∀∃∀%��∀��)&!�!&))/!��&−�% 6∀&−�.∀�3/%.�.∀��!/��/ !��

�

�∴����
������

�/!(,−∀�#∀−!(�+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�#2 ∃)/(∀%�∋�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�

3& 1#∀�∀∃)! (∀�)/−!!/%��∆�!∀�∀=∀∃)�∗(�.∀�#&�!80#∀�.∀�7&−�∀−!��

�

�

�

��	����������#���
��	��,	�������

�

�4∋461+374/�

�∀(�+/%(�!−+� /%(∋�Φ�+/∃)! (�#∀(�&%%∀=∀(∋�./ 6∀%��)!∗(∀%�∀!�−%�&()∀+��+/∃)&� 1#∀�&6∀+�#∀�+&!&+�8!∀�/−�

#2 %�∗!∆��.∀(�# ∀−=�&6/ ( %&%�(∋�.−�( �∀�∀��.∀(�)&Φ(&0∀(���∀(�6/#−∃∀(�.∀(��/ �(�∀��#∀(�∃&�∗! &−=�./ 6∀%��

∆�!∀�+7/ ( (�.∀�∃&% 8!∀�5�+/∃)/(∀!�−%��/−��7/∃/08%∀�&6∀+� #∀(� ∃∃∀−1#∀(�∀= (�&%�(�./%�� #&�,−&# �∗�

&!+7 �∀+�−!&#∀� ∃∗! �∀� .2∆�!∀� !∀()∀+�∗∀∋� (&%(� �/−�∀3/ (� +/%(� �−∀!� −%� )&(� +7∀� .2&!+7 �∀+�−!∀� )(∀−./<

!∗0 /%&#∀��

�

�2&()∀+��.∀(�+/%(�!−+� /%(�5�−(&0∀�.2&+� 6 �∗�/−�.2∗,− )∀∃∀%�(�+/##∀+� 3(�,− ∋�)&!�#∀−!�(−!3&+∀�/−�#∀−!�

6/#−∃∀∋�%∀�)∀−6∀%��(2&(( ∃ #∀!�5�.∀(�1Γ� ∃∀%�(��!&. � /%%∀#(�Β7&%0&!(∋�(&##∀�.∀(�3∆�∀(∋�ΤΧ�.∀6!&∋�)&!�#∀�

4∀−� .∀(� 3/!∃∀(� ∀�� #2−� # (&� /%� .∀� ∃&�∗! &−=� ∀�� .∀� �∀+7% ,−∀(� &))!/)! ∗∀(∋� ∀=)! ∃∀!� −%∀� +∀!�& %∀�

!∀+7∀!+7∀� .&%(� #∀� 1−�� .∀� �!&.− !∀� .∀� 3&Ο/%� ∀(�7∗� ,−∀� #∀−!� +&!&+�8!∀� 3/%+� /%%∀#� ∀�� .	&((−!∀!� #∀−!�

1/%%∀� %�∗0!&� /%�&−�+&.!∀�1Γ� ��

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  36 

�∀(� ∗#∗∃∀%�(� (∀� !&))/!�&%�� &−� +/∃∃∀!+∀� Β.∀6&%�−!∀(� .∀� ∃&0&( %(� ∀�� #∀−!(� ∀%(∀ 0%∀(Χ� ./ 6∀%�� ∆�!∀�

 %�∗0!∗(�.&%(�#&�+/∃)/( � /%�&!+7 �∀+�−!&#∀�.∀(�1Γ� ∃∀%�(�(&%(�)/!�∀!�&��∀ %�∀�)&!� #∀−!(�. ∃∀%( /%(∋�

#∀−!(�+/−#∀−!(∋�#∀(�∃&�∗! &−=�∀∃)#/Φ∗(∋�&−�+&!&+�8!∀�.∀�#2∀%6 !/%%∀∃∀%���

�

�∀(�. ()/( � /%(�.∗!/0&�/ !∀(�(∀!/%��)/(( 1#∀(�#/!(,−	∀##∀(�)∀!∃∀��!/%����

•  #&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�./∃∀(� ,−∀(�(/#& !∀(��7∀!∃ ,−∀(�/−�)7/�/6/#�&⊥,−∀(∋�

•  /−�.∀��/−(�&−�!∀(�. ()/( � 3(� %. 6 .−∀#(�.∀�)!/.−+� /%�.	∗%∀!0 ∀�!∀%/−6∀#&1#∀∋�

•  /−� #	−� # (&� /%� ∀%� 3&Ο&.∀� .−� 1/ (� /−� .∀� �/−�� &−�!∀� ∃&�∗! &−� !∀%/−6∀#&1#∀� )∀!∃∀��&%��

.2∗6 �∀!�.∀(�∗∃ (( /%(�.∀�0&:�5�∀33∀��.∀�(∀!!∀∋�

•  /−�#&�!∗&# (&� /%�.∀��/ �−!∀(�6∗0∗�&# (∗∀(�/−�!∀�∀%&%��#∀(�∀&−=�)#−6 &#∀(���

�

�

	&3786(/�

Α/!∃∀(�.∀��/ �−!∀(�

�2 #�∀= (�∀�−%∀�)∀%�∀∋�∀##∀�./ ��!∀)!∀%.!∀�#&�./∃ %&%�∀�.∀(�)∀%�∀(�.−�(∀+�∀−!∋�&6∀+�−%�∃ % ∃−∃�.∀���;�

)/−!�#∀(�%/−6∀##∀(�+/%(�!−+� /%(�5�−(&0∀�.27&1 �&� /%���∀��∀�)∀%�∀�∃ % ∃&#∀�%∀�(2&))# ,−∀�)&(�)/−!�#∀(�

&))∀%� (∋� 6∗!&%.&(∋� )∀!0/#&(∋� 6∀!! 8!∀(� /−�  %(�&##&� /%(� .−� ∃∆∃∀� �Φ)∀∋� &��∀%&%�(� &−� 1Γ� ∃∀%��

.27&1 �&� /%��

�

�∀(� �/ �−!∀(�5�−%�(∀−#�6∀!(&%��(−!�6/#−∃∀� (/#∗�%∀�(/%��&−�/! (∗∀(�,−∀�)/−!� #∀(�&))∀%� (�∀��&%%∀=∀(��

�∗&%∃/ %(∋�∀##∀(�)∀−6∀%��∆�!∀�&.∃ (∀(�∀%�+&(�.2∀=�∀%( /%�.∀�1Γ� ∃∀%�(�)! %+ )&−=∋�/−�( �∀##∀(�∀%�!∀%��

.&%(�#&�+/∃)/( � /%�.2−%�∀%(∀∃1#∀�.∀��/ �−!∀(�.∗+&#∗∀(��

�

�∀(��/ �−!∀(<�∀!!&((∀(�(/%��&−�/! (∗∀(�(/−(�!∗(∀!6∀�.−�!∀()∀+��.∀�#2&!� +#∀�Ε�.−�)!∗(∀%��+7&) �!∀���

�

�&�∗! &−=�.∀�+/−6∀!�−!∀�

�/%��  %�∀!. �(� #∀(� ∃&�∗! &−=� %/%� !∀6∆�−(∋� 1! ##&%�(∋� .∀� ∃&−6& (� &()∀+�� .∀� (−!3&+∀∋� /−� ./%�� #∀�

6 ∀ ## ((∀∃∀%��&#�8!∀�#2&()∀+���

�

�1746318Β�(7�)&8+(86/�


%∀�+∀!�& %∀�7/∃/0∗%∗ �∗�.∀6!&�∆�!∀�!∀+7∀!+7∗∀�.&%(�#∀��!& �∀∃∀%��.∀��/−�∀(�#∀(�3&Ο&.∀(��

�

�∀(� 3&Ο&.∀(� .	7&1 �&� /%� ./ 6∀%�� ∆�!∀� )∀ %�∀(� /−� ∀%.− �∀(� 5� #2∀=+∀)� /%� .∀(� ) ∀!!∀(� .∀(� %∗∀(� .8(�

#2/! 0 %∀� 5� !∀(�∀!�6 ( 1#∀(� Β∀%+&.!∀∃∀%�(∋� 1&%.∀&−=∋� +/!% +7∀(∋� ΤΧ� 5�∃/ %(� ,−∀� #∀(�∃&�∗! &−=� −� # (∗(�

(/ ∀%�∋�.∀�)&!�#∀−!�%&�−!∀�∀��#∀−!�∃ (∀�∀%�Υ−6!∀∋�.2−%∀�,−&# �∗�(−33 (&%�∀�)/−!�!∀(�∀!�&))&!∀%�(��

�∀(�&−�!∀(�∃−!(�)∀−6∀%��∆�!∀�∀%.− �(�/−�4/ %�/Φ∗(�5�3#∀−!�Β∀%.− ��. ��5�) ∀!!∀�6−∀∋�4/ %�(�. �(�1∀−!!∗(Χ��

�∀(�∃−!(�.∀�+#Η�−!∀�∀%�) ∀!!∀(�∃/%�∗∀(�5�(∀+�+/%(∀!6∀!/%��+∀��&()∀+��.∀�) ∀!!∀�&))&!∀%�∀��

�

�/%�� %�∀!. �(���

��#∀(� ∃ �&� /%(�.∀�∃&�∗! &−=∋��∀##∀(�,−∀�3&−((∀(�1! ,−∀(∋�3&−=�)&%(�.∀�1/ (∋�∀�+���∋�

��#2∀∃)#/ �.∀�+/−#∀−!(�+! &!.∀(�/−�. (+/!.&%�∀(�(−!�#∀(�∃−!(∋�∃∀%− (∀! ∀(�/−��/−��&−�!∀�∗#∗∃∀%��

6 ( 1#∀�.∀�#&�6/ ∀�)−1# ,−∀��

�

�+Λ786(/��

�� ∃/ %(� ,−2∀##∀(� %∀� !∗)/%.∀%�� 5� .∀(� %∗+∀(( �∗(� !∗(−#�&%�� .∀� #&� %&�−!∀� /−� .−� +&!&+�8!∀� .∀(�

+/%(�!−+� /%(�∗. 3 ∗∀(�(−!�#∀��∀!!& %∋�#∀(�%/−6∀##∀(�+#Η�−!∀(�./ 6∀%��!∀()∀+�∀!�−%∀�7&−�∀−!�∃&= ∃&#∀�.∀�

��∃8�!∀(�∀��∆�!∀�+/%(� �−∗∀(���

� ��(/ ��)&!�.∀(�∃−!(�∀%�) ∀!!∀�/−�∃&Ο/%%∗(�.	−%∀�7&−�∀−!�∃ % ∃−∃�.∀��∋���∃∋�

� ��(/ ��)&!�.∀(�0! ##&0∀(�(−!∃/%�&%��∗6∀%�−∀##∀∃∀%��−%∀�∃−!∀��∀�.2−%∀�7&−�∀−!�∃&= ∃&#∀�.∀�

ϑ ∀.�=∋�./−1#∗(�.∀�7& ∀(�6 6∀(∋�

� ��(/ ��)&!�.∀(�0! ##∀(∋�(−!∃/%�&%��∗6∀%�−∀##∀∃∀%��−%∀�∃−!∀��∀�.2−%∀�7&−�∀−!�∃&= ∃&#∀�.∀�

ϑ �.�=∋�

� ��(/ ��)&!��/−(�&−�!∀(�. ()/( � 3(�5�+#& !∀�<�6/ ∀�(−!∃/%�&%��∗6∀%�−∀##∀∃∀%��−%∀�∃−!∀��∀�.2−%∀�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  37 

7&−�∀−!�∃&= ∃&#∀�.∀�ϑ �.=∋�./−1#∗(�/−�%/%�.∀�7& ∀(�6 6∀(��

�

�&�7&−�∀−!�.∀(�+#Η�−!∀(∋�5�#2&)#/∃1�.∀�#&�# ∃ �∀�(∀�∃∀(−!∀�+/∃∃∀�(− ����

<�� �#∀�)/ %��∀(��( �−∗�5����∃�/−�∃/ %(�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%��.∀�#&�6/ ∀�.∀�+ !+−#&� /%�)−1# ,−∀∋�#&�

7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�.−�3/%.�.∀��!/��/ !�/−�.∀�#2&++/�∀∃∀%��#∀�)#−(�)!/+7∀��

<�� �#∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�

∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��

�

�&�7&−�∀−!�∀��#&�%&�−!∀�.∀(�+#Η�−!∀(�( �−∗∀(�)!8(�.∀(�+&!!∀3/−!(�/−�.&%(�#&�)&!� ∀� %�∗! ∀−!∀�.∀(�6 !&0∀(�

)∀−6∀%��3& !∀�#2/14∀�∋�(−!�&6 (�.∀(�(∀!6 +∀(�0∀(� /%%& !∀(�.∀�#&�6/ ! ∀∋�.∀�)!∀(+! )� /%(�()∗+ &#∀(�∀%�6−∀�

.2&((−!∀!�#&�6 ( 1 # �∗�∀��#&�(∗+−! �∗�.∀�#&�+ !+−#&� /%�.∀(�6∗7 +−#∀(�∀��.∀(�) ∗�/%(��

�

�3Χ(6/�

�∀(� + �∀!%∀(� .∀� 0&:� /−� .∀� ∃&:/−�� ./ 6∀%�� ∆�!∀� . ()/(∗∀(� (−!� #∀(� �∀!!& %(� .∀� 3&Ο/%� 5� ∆�!∀� #∀� ∃/ %(�

)/(( 1#∀�6 ( 1#∀(�.∀(�6/ ∀(�.∀�.∀((∀!�∀��

�

�∀(�&1! (�.∀�4&!. %(�6 ( 1#∀(�.∀)− (�#2∀()&+∀�)−1# +�.∀6!/%��∆�!∀�!∗&# (∗(�.&%(�.∀(�3/!∃∀(�∀��∃&�∗! &−=�

)∀!∃∀��&%��−%∀� %�∗0!&� /%�7&!∃/% ∀−(∀�.&%(�#2∀%6 !/%%∀∃∀%���

�

�	−%∀� ∃&% 8!∀� 0∗%∗!&#∀∋� #∀(� . ()/( � 3(� �∀+7% ,−∀(� .	 %(�&##&� /%� �7∀!∃ ,−∀(� ∀=�∗! ∀−!(� Β)/∃)∀(� 5�

+7&#∀−!∋� +# ∃&� (∀−!(∋� ∀�+�Χ� .∀6!/%�� ∆�!∀�  %�∗0!∗(� +/!!∀+�∀∃∀%�� .&%(� #	∀%(∀∃1#∀� &!+7 �∀+�−!&#� /−�

)&Φ(&0∗��

�

�∀(�. ()/( � /%(�. 33∗!∀%�∀(�)/−!!/%��∗0&#∀∃∀%��∆�!∀�&.∃ (∀(∋�#/!(,−∀�#2∗+/%/∃ ∀�.−�)!/4∀��#∀�4−(� 3 ∀∋�

)/−!�.∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�

��	����������#��	�	��������	�

�

��
��
�����

�∀�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�+/!!∀()/%.&%��&−=�1∀(/ %(�.∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�&.∃ (∀(�

./ �� ∆�!∀� &((−!∗� ∀%� .∀7/!(� .∀(� 6/ ∀(� )−1# ,−∀(� /−� )! 6∗∀(� /−6∀!�∀(� 5� #&� + !+−#&� /%� 0∗%∗!&#∀∋� (−!� #∀�

�∀!!& %�.2&(( ∀��∀�.∀�#&�+/%(�!−+� /%�/−�.∀�#2 %(�&##&� /%�∀��(∀#/%�#∀(�∃/.&# �∗(�+ <&)!8(���

�


#� (∀!&�∀= 0∗�&−�∃ % ∃−∃�)/−!�#∀(�+/%(�!−+� /%(�5�−(&0∀�.	7&1 �&� /%�����)#&+∀�.∀�(�&� /%%∀∃∀%��)&!�

�!&%+7∀�.∀�.ϑ=Μ�9(�/8651)(�9(�0+1∋)∗(6�.∀(� %∗∀�5�#	7&1 �&�∋�(&+7&%��,−∀��/−�∀��!&%+7∀�+/∃∃∀%+∗∀�

+/∃)�∀� +/∃∃∀� −%∀� �!&%+7∀� +/∃)#8�∀� ∀�� ,−	 #� %∀� )/−!!&� )&(� ∆�!∀�  ∃)/(∗� )#−(� .∀� �!/ (� )#&+∀(� .∀�

(�&� /%%∀∃∀%��)&!�#/0∀∃∀%���

�

�%� �/−�∀� 7Φ)/�78(∀∋� #∀(� :/%∀(� .∀� ∃&%Υ−6!∀� ./ 6∀%�� ∆�!∀�  %.∗)∀%.&%�∀(� .∀(� 6/ ∀(� )−1# ,−∀(� ∀��

!∀()∀+�∀!�#∀(�!80#∀(�.	&++8(�3 =∗∀(�5�#	&!� +#∀���+ <.∀((−(��

�


%� /−� )#−( ∀−!(� #/+&−=� 3∀!∃∗(� ./ 6∀%�� ∆�!∀� &∃∗%&0∗(� )/−!� #∀� (�&� /%%∀∃∀%�� .∀(� 6∗#/(� ∀�� .∀(�

)/−((∀��∀(�.&%(��/−�∀�/)∗!&� /%�.∀�+/%(�!−+� /%��+!∗&%��)#−(�.∀����∃[�.∀�(−!3&+∀�.∀�)#&%+7∀!�&33∀+�∗∀�

5� #	7&1 �&����	∀()&+∀�.∗. ∗�./ ��∆�!∀�(−33 (&%��∀��)!/)/!� /%%∗�&−�)!/4∀��.∀�+/%(�!−+� /%∋�∀��./ ��∆�!∀�

(−(+∀)� 1#∀�.	&++−∀ ## !�.∀−=�6∗#/(�)&!�#/0∀∃∀%��&−�∃/ %(���

�

�∴����
������

�%����	
��������!6����6���������������	���������������∀����� ���������
�������� ����	����∀�������������	��

����� �����������������������	��������
.�

�

1Χ��	&!� +#∀������<�<���.−��/.∀�.∀�#	
!1&% (∃∀�(	&))# ,−∀���



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  38 

7�∃..%��	�∀��������������������	������������������	������
��������	�������
�
��������
����	�������+�������

��
�	������ ���������� ������
� &
	�� 	��������� ��	� ��� 
�		���� �������

�� ��� ����� ���� ����	�������
�

�������
.�∃..%�

��	�∀��� �������������	�������	���������� �������������������������
���������������	�
�����	�����������

���
����� ��
�����	���� �������
����� 	����
��
���� 
	����
��������������	����
��	
������ ��� ���
� &
	�� 
����

∀��

���������������
�����������
�����
�����	������������∀�����������
�	������	������&�������
��������
��
����

������������������������
�	�������������	�������������
�
��������
�� ��
��
����������	�����	������
����

�
���
������	� ���
����������	�
��������
��������∀����
��������������������������������������������	���	����

����
�
��������
�	�������
��� ��&���������
����.��

)�� ���������� ����� 
��� ��	��� ��� ����������	�� ��� ��	���� ��� ��� ��� ��������� ��� ����������
���� �� ����

�����	�
�����	�����������
�&
	��
���������	��	��������������������	
�����
�����������������	������
����

�����	���������������
�
��������
����������������
�������������������	
������.�66!�8�������	����
�����.��

��	�∀��������	������
�
��������
����
���	�����������
�������������	��������������������������
�	������

�������	���	��������
�
��������
�����
�
	������������
������	�������� ���� ��	����	��������������	����
�

�	
������ ����� ��� ���
� ����� &
	�� �	���� ��� ����
��� ��� 
��
� ��� ��� ��	
���� �� ����������� ������ ���������

��
�	���
���.9�

�

��	����������#���
�������������	�
���	�	���� ���
��������������������

�

�∗3 % � /%����&!�∀()&+∀(�# 1!∀(∋�  #�./ ��∆�!∀�∀%�∀%.−�#∀(�∀()&+∀(�%/%�/++−)∗(�)&!�.∀(�+/%(�!−+� /%(�/−�

 %(�&##&� /%(�&.∃ (∀(∋�∀��%/%�−� # (∗(�)&!�.−�(�&� /%%∀∃∀%��∀��.∀(�+ !+−#&� /%(�&−�/∃/1 #∀(∋�/−�&−�!∀(�

−� # (&� /%(�&−�/! (∗∀(��

�

�∀(� /)∗!&� /%(� .2&∃∗%&0∀∃∀%�� .2∀%(∀∃1#∀� .∀6!/%�� ∆�!∀� +/∃)&� 1#∀(� &6∀+� #∀(� )!∀(+! )� /%(�

)&Φ(&08!∀(�)!∗6−∀(�.&%(�#∀(�/! ∀%�&� /%(�.2&∃∗%&0∀∃∀%��∀��.∀�)!/0!&∃∃&� /%���

�

�∀(�/)∗!&� /%(�.2&∃∗%&0∀∃∀%��.2∀%(∀∃1#∀�.∀�)#−(�.∀�������∃[.∀6!/%��)!∗(∀%�∀!�−%�∃ % ∃−∃�.∀��Ν�

.2∀()&+∀(�# 1!∀(�+/##∀+� 3(��

�

�

���	����������
��������	�����,��������∃�	�����	�����������
�

��	��������∀�#����!!�����	��%����
�	�����������

�


#�%	∀(��)&(�3 =∗�.∀�+/∀33 + ∀%��.	/++−)&� /%�.−�(/#�/−�.∀�.∀%( �∗�∃ % ∃&#∀�)&!�#∀�)!∗(∀%��&!� +#∀��

�

�

���	���������������	�������
��������,�����	���	���� �	�����, �

���	����	������	�����������	��
�

�

��	��������.���������	�������
�����������	��������
��!���������������	�−����

�	�������������	�����

#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

�

��	��������Φ���������	�������
�����������	������∃��!���	���	������	�������,����

���������	���������	����−����
�


#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀�� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  39 

�
�
�	�����#����������
�

�

���
���	�������������	�������

���������

�

�

�����	�������������������
�

�&�:/%∀��
��∀(��−%∀�:/%∀�5�−!1&% (∀!�5�6/+&� /%�.	&+� 6 �∗(�∗+/%/∃ ,−∀(��

�

�##∀� +/%(� �−∀� #∀� +/∃)#∗∃∀%�� .∀� #&� :/%∀� 
�� )/−!� &((−!∀!� 5� #&� �/∃∃−%∀� ∀�� 5� #&� �/∃∃−%&−�∗� .∀�

�/∃∃−%∀(�(/%�.∗6∀#/))∀∃∀%��∗+/%/∃ ,−∀��

�


%∀�)&!� ∀�.∀�#&�:/%∀�∀(��&33∀+�∗∀�)&!�#&�1&%.∀�.∀�1!− ��# ∗∀�5�#&������ϑ�.&%(�#&,−∀##∀�.∀(�)!∀(+! )� /%(�

.2 (/#&� /%� &+/−(� ,−∀� (/%��  ∃)/(∗∀(� &−=� +/%(�!−+� /%(� (∀#/%� #&� !80#∀∃∀%�&� /%� ∀%� 6 0−∀−!�

Β&+�−∀##∀∃∀%��#2&!!∆�∗�.−����∃& ������∃/. 3 ∗�)&!�#2&!!∆�∗�.−����4− ##∀������Χ��

�


%∀�)&!� ∀�.∀�#&�:/%∀�∀(��&33∀+�∗∀�∗0&#∀∃∀%��)&!�#∀(�:/%∀(�.∀�.&%0∀!�.∀��#&�+&%&# (&� /%�.∀��!&%()/!��

.27Φ.!/+&!1−!∀(� .∀� �∗3∀%(∀� �/∃∃−%∀∋� .&%(� #∀(,−∀##∀(� �/−�� �!&6&−=� /−� +/%(�!−+� /%� ∀(�� (/−∃ (� 5�

)!∀(+! )� /%(� +/%3/!∃∗∃∀%�� 5� #&� !∗0#∀∃∀%�&� /%� ∀%� 6 0−∀−!∋� !&))∀#∗∀� .&%(� #∀� � �!∀� �� Κ� ()/( � /%(�

0∗%∗!&#∀(Κ�.−�)!∗(∀%��!80#∀∃∀%���

�

�

���	����������	��������%����
�	�����	�����%�	�����	�����������
�

�

�/−�∀�/++−)&� /%�∀��−� # (&� /%�.−�(/#�%/%� %�∀!. �∀�/−�%/%�(/−∃ (∀�5�.∀(�+/%. � /%(�)&!� +−# 8!∀(�&−=�

&!� +#∀(���∀����∀(��&.∃ (∀��

�

�

��	����������#�����
�	������	��	�����	��������������	����	����
�

�∀(�/++−)&� /%(�∀��−� # (&� /%(�.−�(/#�(− 6&%�∀(�(/%�� %�∀!. �∀(���

�

- �∀�+&∃) %0∋�#∀�(�&� /%%∀∃∀%��.∀�+&!&6&%∀(� (/#∗∀(∋�& %( �,−∀�#∀(�7&1 �&� /%(�#∗08!∀(�.∀�#/ ( !(∋�

- �∀(�+/%(�!−+� /%(�5�−(&0∀�.27&1 �&� /%�(&−3�+∀##∀(�&−�/! (∗∀(�5�#	&!� +#∀��
��∋�

- �∀(�)&!+(�.	&��!&+� /%(�/−6∀!�(�&−�)−1# +∋�

- �∀(�.∗)Η�(�.∀�6∗7 +−#∀(�.∗(&33∀+�∗(∋�

- �∀(�+&!! 8!∀(∋�

- �∀(�) (+ %∀(��

�

��	����� ����� #� ����
�	����� �	� �	�����	����� ��� ���� ��������� �� ���� �����	�����


��	�����������
�

�∀(� +/%(�!−+� /%(� (/%�� &.∃ (∀(� (/−(� !∗(∀!6∀� ,−	∀##∀(� (	 %�80!∀%�� .&%(� −%∀� /−� )#−( ∀−!(� /)∗!&� /%(�

.2&∃∗%&0∀∃∀%��.2∀%(∀∃1#∀�+/%+∀!%&%���/−��/−�)&!� ∀�.∀�#&�:/%∀��
��∀��!∀()∀+�∀%��#∀(�)! %+ )∀(�.∀(�

&63(∋7173&∋/�9∃1=4∋1;(=(∋7�(7�9(�06&;61==173&∋��

�

�&%(�+∀�+&.!∀∋�#∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�.2&+� 6 �∗(�∗+/%/∃ ,−∀(�(/%��&.∃ (∀(�.&%(�#&�∃∀(−!∀�

/Ψ�∀##∀(�%2∀%�!&ς%∀%��)&(�.∀�.&%0∀!�∀%��∀!∃∀(�.∀�(∗+−! �∗�∀��.∀�(&#−1! �∗�)−1# ,−∀∋�.2 %+/%6∗% ∀%�(�/−�

.∀� %− (&%+∀(� 0!&6∀(� Β6 (−∀##∀(∋� (/%/!∀(� /−� /#3&+� 6∀(Χ� 4−0∗∀(�  %+/∃)&� 1#∀(� &6∀+� #&� )!/= ∃ �∗� .∀�

#27&1 �&���



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  40 

�

�&�.∀(� %&� /%�.27&1 �&��∀(��∗0&#∀∃∀%��&.∃ (∀�( ���

- ∀##∀�∀(��. !∀+�∀∃∀%��# ∗∀�∀��%∗+∀((& !∀�5�−%∀�&+� 6 �∗�&.∃ (∀�.&%(�#&�:/%∀∋�

- #&�)&!� ∀�7&1 �&1#∀�∀(�� %�∗0!∗∀�/−�&++/#∗∀�&−�1Γ� ∃∀%��.2&+� 6 �∗∋��

- .&%(�#&�# ∃ �∀�.∀����∃[�.∀�(−!3&+∀�.∀�)#&%+7∀!�)&!�#/0∀∃∀%�∋�

- ∀��.&%(�#&�# ∃ �∀�.	−%∀�−% �∗�)&!� %(�&##&� /%�∗+/%/∃ ,−∀��

�

�∀(� &33/− ##∀∃∀%�(� ∀�� ∀=7&−((∀∃∀%�(� .∀� (/#� (/%�� &−�/! (∗(� (/−(� !∗(∀!6∀� ,−2 #(� (/ ∀%�� # ∗(� 5� −%∀�

 %(�&##&� /%∋� −%∀� +/%(�!−+� /%� /−� −%� &∃∗%&0∀∃∀%�� &−�/! (∗� .&%(� #&� :/%∀� ∀�� .&%(� #&� # ∃ �∀� .2−%∀�

7&−�∀−!�.∀���∃�Β7/!∃ (�#∀(��!&6&−=�.2&∃∗%&0∀∃∀%��%∗+∀((& !∀(�&−�!∀∃1#& ∀∃∀%��.∀(��∀!!& %(�4−(,−25�

#&�+/�∀�.∀�3/%.�.∀��!/��/ !�/−�5�#&�!∗&# (&� /%�.∀�1&(( %(�.∀�!∗�∀%� /%�∀��/−6!&0∀(�.2 %3!&(�!−+�−!∀�,− �

%∀�(/%��)&(�# ∃ �∗(Χ��

�

�∀(�Κ#/+/∃/� 6∀(�&# ∃∀%�& !∀(Κ�.∀��Φ)∀�Κ(−)∀!∀��∀(�&# ∃∀%�& !∀(Κ�(/%��(/−∃ (∀(�&−�!∀()∀+��.−������.−�

� 4/%%& (� )!∗6/Φ&%�� &+�−∀##∀∃∀%�� #∀−!� # ∃ �&� /%� 5� ���� ∃[� .∀� (−!3&+∀� .∀� 6∀%�∀� ∃&= ∃−∃� .&%(� #∀(�

+/∃∃−%∀(�.∀�% 6∀&−���+/∃∃∀������9�������
����

�

�%3 %∋� �/−�∀(� #∀(� /++−)&� /%(� ∀�� −� # (&� /%(� .−� (/#� %/%�  %�∀!. �∀(� /−� (/−∃ (∀(� 5� .∀(� +/%. � /%(�

)&!� +−# 8!∀(�)&!� #∀(�&!� +#∀(���∀���∋� (/%��&.∃ (∀(�(/−(�+/%. � /%�.∀�%∀�)&(�+!∗∀!�.∀�(/−(<(/#�∀%�∀!!∗�

�/�&#∀∃∀%��/−�)&!� ∀##∀∃∀%��∀��.∀�!∗&# (∀!�−%�6 .∀<(&% �& !∀�&.&)�∗�5�#&�%&�−!∀�.−�! (,−∀�.∀�!∀∃/%�∗∀�

.∀�%&))∀�+/%%−��

�

3�������(��

4��
�������������
������
��
�����
������������	��
��
�������������
	����
	����������
������	��������

���	
�����3����������5���������0	������������������������	
�����3�����!����	������	����
���������������	�
��

�
�����������	�
�������∀���.�

�

�

�

���	�������������	���������%����
�	�����	�
��������	�����,��������

�%�	�����	�����������
�

�

��	����������#��������	��������
�

�))Ε/�

�/−�� �∀!!& %� ∀%+#&6∗� ∀(��  %+/%(�!−+� 1#∀∋� 5� ∃/ %(� ,−∀� (/%� )!/)! ∗�& !∀� %∀� )!/.− (∀� −%∀� (∀!6 �−.∀� .∀�

)&((&0∀�(−33 (&%�∀� %(� �−∗∀�)&!�&+�∀�&−�7∀%� ,−∀�/−�)&!�6/ ∀�4−. + & !∀∋�∀%�&))# +&� /%�.∀�#2&!� +#∀��ϑ��

.−�+/.∀�+ 6 #��

�

�/!(,−∀�#∀��∀!!& %�∀(��! 6∀!& %�.∀�.∀−=�/−�)#−( ∀−!(�6/ ∀(�)−1# ,−∀(∋� #2&++8(�(−!�+∀##∀�.∀�+∀(�6/ ∀(�,− �

)!∗(∀%�∀!& ��−%∀�0∆%∀�/−�−%�! (,−∀�)/−!�#&�+ !+−#&� /%�)∀−��∆�!∀� %�∀!. ���

�

�/−�∀� /)∗!&� /%� ./ �� )!∀%.!∀� #∀� ∃ % ∃−∃� .2&++8(� (−!� #∀(� 6/ ∀(� )−1# ,−∀(�� �∀(� +&!&+�∗! (� ,−∀(� .∀(�

&++8(�+7&!!∀� ∀!(�./ 6∀%��∆�!∀�&.&)�∗∀(�5�#2/)∗!&� /%�∀��%/�&∃∃∀%��)∀!∃∀��!∀�.∀�(&� (3& !∀�&−=�!80#∀(�

.∀�.∗3∀%(∀�+/%�!∀� #2 %+∀%. ∀∋�∀��&∃∗%&0∗(�.∀� 3&Ο/%�5�&))/!�∀!� #&�∃/ %.!∀�0∆%∀�5� #&�(∗+−! �∗�∀��5� #&�

+ !+−#&� /%�)−1# ,−∀��

�

�

�&363(�

�∀(�. ∃∀%( /%(∋�3/!∃∀(�∀��+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�.∀(�6/ ∀(�./ 6∀%��∆�!∀�&.&)�∗∀(�&−=�/)∗!&� /%(�

/−�+/%(�!−+� /%(�,−2∀##∀(�./ 6∀%��.∀((∀!6 !��

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  41 

�&%(�#∀(�/)∗!&� /%(�.2∀%(∀∃1#∀∋�#∀�+7/ =�.−��!&+∗�.∀(�.∀((∀!�∀(�&−�/∃/1 #∀(�∀��6/ ∀(�) ∗�/%%∀(∋�./ ��

)!∗(∀!6∀!� #&� )/(( 1 # �∗� .∀� !&++/!.∀∃∀%�� &−=� .∀((∀!�∀(� .∀(� /)∗!&� /%(� 6/ ( %∀(� ∀= (�&%�∀(� /−�

∗6∀%�−∀##∀(��

�

�∀�% 6∀&−�&#� ∃∗�! ,−∀�.∀� #&�+7&−((∗∀�6∗7 +−#∀(�.∀6!&��∀% !�+/∃)�∀�.∀� #&� +/�∀�.∀(� )#−(�7&−�∀(�∀&−=�

+/%%−∀(∋� (&−3� )/%+�−∀##∀∃∀%�� )/−!� %∀� )&(� %− !∀� 5� #&� !∗&# (&� /%� .∀� (Φ(�8∃∀(� .∀� 0∀(� /%� .∀(� ∀&−=�

)#−6 &#∀(��∀#(�,−∀�%/−∀(�)&!�∀=∀∃)#∀��

�

�

��	��������∀#�������	��
�������������,�
�

�/−(� #∀(� . ()/( � 3(� )!/4∀�∗(� !∀#&� 3(� 5� #2&# ∃∀%�&� /%� ∀%� ∀&−� ∀�� 5� #2&((& % ((∀∃∀%�� .∀6!/%�� ∆�!∀�

+/%3/!∃∀(�5�#&�!∗0#∀∃∀%�&� /%�∀%�6 0−∀−!��

�

�18�0&712+(�

�

�/−�∀� +/%(�!−+� /%� /−�  %(�&##&� /%� %/−6∀##∀� %∗+∀(( �&%�� −%∀� &# ∃∀%�&� /%� ∀%� ∀&−� )/�&1#∀� ./ �� ∆�!∀�

!&++/!.∗∀�&−�!∗(∀&−�+/##∀+� 3�.∀�. (�! 1−� /%�.2∀&−�)/�&1#∀��

�

�//13∋3//(=(∋7�

�

�&−=�−(∗∀(�

�

�/−�∀� +/%(�!−+� /%� /−�  %(�&##&� /%� %/−6∀##∀� ./ �� ∗6&+−∀!� (∀(� ∀&−=� −(∗∀(� )&!� .∀(� +&%&# (&� /%(�

(/−�∀!!& %∀(� !&++/!.∗∀(� &−� !∗(∀&−� +/##∀+� 3� .2&((& % ((∀∃∀%�∋� #/!(,−2 #� ∀= (�∀� ∀%� +&)&+ �∗� &.&)�∗∀∋�

+/%3/!∃∗∃∀%��&−=�!80#∀∃∀%�(�(&% �& !∀(�∀%�6 0−∀−!��

�

�2∗6&+−&� /%�.∀(�∀&−=�−(∗∀(�.&%(�#∀(�3/((∗(∋�+/−!(�.2∀&−�/−�∗0/−�(�.2∀&−=�)#−6 &#∀(∋�∀(�� %�∀!. �∀��

�

�∀(� ∀&−=�  %.−(�! ∀##∀(� )/−!!/%�� ∆�!∀� !∀3−(∗∀(� /−� &.∃ (∀(� &)!8(� )!∗�!& �∀∃∀%�� +/%3/!∃∗∃∀%�� &−=�

!80#∀(�∀%�6 0−∀−!��

�

�&−=�)#−6 &#∀(�

�

�∀(�&∃∗%&0∀∃∀%�(�%∗+∀((& !∀(�&−�# 1!∀�∗+/−#∀∃∀%��.∀(�∀&−=�)#−6 &#∀(�∀��∗6∀%�−∀##∀∃∀%��+∀−=�6 (&%��5�

#&�# ∃ �&� /%�.∀(�.∗1 �(�∗6&+−∗(�.∀�#&�)!/)! ∗�∗�/−�5�#2 %3 #�!&� /%�.&%(�#∀�(/#�(/%��5�#&�+7&!0∀�∀=+#−( 6∀�

.−�)!/)! ∗�& !∀�,− �./ ��!∗&# (∀!�#∀(�. ()/( � 3(�&.&)�∗(�5�#2/)∗!&� /%�∀��&−��∀!!& %��

�

�18Β� 0+8Χ31+(/� ∋&∋� /&83++4(/� �� �∀(� ∀&−=� )#−6 &#∀(� )!/)!∀(� �∀##∀(� ,−∀� #∀(� ∀&−=� .∀� �/ �−!∀(� (∀!/%��

!∀+−∀ ## ∀(�∀��!∗−� # (∗∀(�&−�&%��,−∀�)/(( 1#∀�&6&%�� %3 #�!&� /%�(−!�#∀��∀!!& %���

�/−�∀3/ (∋� ∀%� +&(� .	 ∃)/(( 1 # �∗� .	 %3 #�!&� /%� �/�&#∀� /−� )&!� ∀##∀� # ∗∀� 5� #&� %&�−!∀� .−� (/#� /−� 5� −%∀�

( �−&� /%�3/%+ 8!∀� !!∗∃∗. &1#∀∋�−%�. ()/( � 3�.∀�!∗�∀%� /%�.∀(�∀&−=�)#−6 &#∀(�(−!�#∀��∀!!& %�.	&(( ∀��∀�.−�

)!/4∀��)/−!!&�∆�!∀� ∃)/(∗�&6&%��&++∀)�&� /%�.∀�!∀4∀��.−�(−!)#−(�.&%(�#∀�∃ # ∀−�/−�#∀�!∗(∀&−∋�∀%�+&(�.∀�

)!∗(∀%+∀�.∀�+∀#− <+ �∀%�+&)&+ �∗�&.&)�∗∀���∀�. ()/( � 3�+7/ ( �)/−!�Φ�)&!6∀% !�.∀6!&�∆�!∀�+/%3/!∃∀�&−=�

%/!∃∀(�∀%�6 0−∀−!��

�

�18Β� 0+8Χ31+(/� /&83++4(/� �� �∀(� )∗� � /%%& !∀(� ./ 6∀%�� !∗&# (∀!� 5� #∀−!� +7&!0∀� ∀=+#−( 6∀� −%� . ()/( � 3�

&.&)�∗�)/−!�!∀+−∀ ## !�∀��∗)−!∀!� #∀(�∀&−=�)#−6 &#∀(�(/− ##∗∀(� Β)&!�∀=∀∃)#∀� #∀(�∀&−=�&Φ&%��!− ((∀#∗�(−!�

.∀(� (−!3&+∀(� .∀� + !+−#&� /%� /−� .∀� (�&� /%%∀∃∀%�� .∀� 6∗7 +−#∀(� ∃/�/! (∗(Χ∋� &6&%�� �/−�� !∀4∀�� .&%(� #∀�

∃ # ∀−�.8(�,−∀�#&�(−)∀!3 + ∀� ∃)∀!∃∗&1 # (∗∀�./%��∀##∀(�(/%�� ((−∀(�&��∀ %�����∃[�.2−%�(∀−#��∀%&%����

�

�

�/−�∀3/ (∋�∀%�+&(�.∀�)!∗(∀%+∀�.2−%�!∗(∀&−�.2∀&−=�)#−6 &#∀(�(−33 (&%��&6∀+�−%�. ∃∀%( /%%∀∃∀%��∀��−%∀�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  42 

&#� ∃∗�! ∀�&.&)�∗(∋�#∀�!&++/!.∀∃∀%��5�+∀#− <+ �(∀!&�&++∀)�∗�5�#&�+7&!0∀�∀=+#−( 6∀�.−�)!/)! ∗�& !∀�/−�.∀�

#2&∃∗%&0∀−!∋�&6∀+�−%∀�# ∃ �&� /%�.−�.∗1 ��!∀4∀�∗�∀��−%��!& �∀∃∀%��.∀(�∀&−=�Β.∀((&1#∀−!∋�(∗)&!&�∀−!�5�

7Φ.!/+&!1−!∀ΤΧ� ( � %∗+∀((& !∀�� �∀(� . ()/( � 3(� +7/ ( (� )/−!� Φ� )&!6∀% !� .∀6!/%�� ∆�!∀� +/%3/!∃∀(� &−=�

%/!∃∀(�∀%�6 0−∀−!��

�

�+()763)374 �74+40∗&∋(�(7�74+493558/3&∋�

�

�∀(� !∗(∀&−=� ∀�� 1!&%+7∀∃∀%�(� %/−6∀&−=� ./ 6∀%�� ∆�!∀� !∗&# (∗(� ∀%� (/−�∀!!& %� (&−3� . 33 +−#�∗� �∀+7% ,−∀�

∃&4∀−!∀��

�

�3Χ(6/�

�

�/−!� #2&))# +&� /%� .∀(� . ()/( � /%(� .−� )!∗(∀%�� &!� +#∀∋� ( � +/∃)�∀� �∀%−� .∀� #&� .∀(� %&� /%� .∀� #&�

+/%(�!−+� /%�)!/4∀�∗∀∋� #∀(�!∗(∀&−=�)−1# +(�%∀�(/%��)&(�.∀�+&)&+ �∗�(−33 (&%�∀∋� #∀�)∀!∃ (�.∀�+/%(�!− !∀�

)/−!!&�∆�!∀�!∀3−(∗�/−�∆�!∀�(/−∃ (�5�.∀(�)!∀(+! )� /%(�()∗+ &#∀(�)∀!∃∀��&%��.∀�)&## ∀!�#2 %(−33 (&%+∀�.∀(�

!∗(∀&−=���

�

�&%(� �/−�∀� #&� :/%∀∋� #∀(� . ()/( � /%(� .∀� #2&!� +#∀� �� ���<�� .−� �/.∀� .∀� #2
!1&% (∃∀∋� %/�&∃∃∀%�∋�

.∀∃∀−!∀%�� &))# +&1#∀(� �� ���	�∀���� ����
�� 
���� ��� ��� ���
���
���� ��� ��� ����
	��
���� ��� ���

������������
� �	���
��� ���� 
	���� � ��	
��
� ��	� ���� 	����� � �������� ��� ���
	���
���� �������

���������������
����������
	���
����������
	���
�����
���������	������	�����	�	���������	
������	���
�����

��	�����������
	��	��������������	�������
�&
	������	����������
�	�
�������
��
������
������������	��

������∀��	� ����� ∀���� ������ �
� ��	� ∀������ ������
���
�� �����∀��� ��� ��	� ∀���� �������������	�� ��� ��	�����

�����������
	���� �������
�&
	��� ���
�����

�

�

��	��������.�#������	����	�−��������	��������
�


#�%	∀(��)&(� ∃)/(∗�.∀�+&!&+�∗! (� ,−∀�)&!� +−# 8!∀�)/−!�,−	−%��∀!!& %�(/ ��+/%(�!−+� 1#∀��

�

�

��	����� ���Φ� �� ��
���	�	���� ���� ����	���	����� 
��� ��

��	� ��,� ������ �	�

��
������
����−����

�

��
��
�����
�∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�(	 ∃)#&%�∀!/%��∀%�!∀+−#���

<�.2&−�∃/ %(��.�=Ε76(/�)&!�!&))/!��5�#2&# 0%∀∃∀%��.∀�#&������ϑ�∀= (�&%��&−�∃/∃∀%��.∀�#2&))!/1&� /%�

.−���
∋�

<�.2&−�∃/ %(��ϑ�=Ε76(/�5�)&!� !�.∀�#&�# ∃ �∀�∀= (�&%�∀�.−�+7∀∃ %�3/!∀(� ∀!�1/!.&%��#&�# ∃ �∀�/−∀(��.∀�#&�

:/%∀∋�

<�∀��5�&−�∃/ %(���=Ε76(/�.∀(�&−�!∀(�6/ ∀(�/−6∀!�∀(�5�#&�+ !+−#&� /%�6∗7 +−#∀�)−1# ,−∀��

�

�∀(�+/%(�!−+� /%(�5�−(&0∀�.∀�(�&� /%%∀∃∀%��.∀6!/%�� !∀()∀+�∀!�∀%�/−�!∀�−%�!∀+−#�.	&−�∃/ %(�.�=�&−�

.!/ �� .∀(� ∀%�!∗∀(� .∀� 0&!&0∀� )&!� !&))/!�� 5� #	&# 0%∀∃∀%�� .∀(� 6/ ∀(� /−6∀!�∀(� 5� #&� + !+−#&� /%� 6∗7 +−#∀�

)−1# ,−∀∋� (&−3� 5� . ()/(∀!� .2−%∀� +/−!� .2∗6/#−� /%� )∀!∃∀��&%�� .2∀33∀+�−∀!� #∀(� ∃&%Υ−6!∀(� .2&++8(� &−�

0&!&0∀�∀%�.∀7/!(�.∀�#&�6/ ∀�.∀�.∀((∀!�∀���

�

�∴����
������������
�����2����
���
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�#∀(�(& ## ∀(�.2&−�)#−(��∋���∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�&%(�#∀�+&(�.∀�+ !+/%(�&%+∀(�)&!� +−# 8!∀(�Β6 !&0∀�&++∀%�−∗∋�+!/ (∀∃∀%��.∀�6/ ∀(∋�3/!�∀�)∀%�∀∋�/−�)/−!�

.∀(� ∃/� 3(� .∀� !∀+7∀!+7∀� .−� ∃∀ ##∀−!� ∀%(/#∀ ##∀∃∀%�Χ∋� −%� !∀+−#� . 33∗!∀%�� .−� )! %+ )∀� + <.∀((−(� (∀!&�

&.∃ (∋�/−�)/−!!&�∆�!∀� ∃)/(∗�)/−!�.∀(�∃/� 3(�.∀�(∗+−! �∗��



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  43 

� � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� (∀!/%�� &.∃ (∀(� )/−!� #	 ∃)#&%�&� /%�

.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�


#�%2∀(��)&(�)!∗6−�,−∀�#∀(�!80#∀(�3 =∗∀(�)&!�#∀�)!∗(∀%��&!� +#∀�)− ((∀%��∆�!∀�∗+&!�∗∀(�∀%�&))# +&� /%�.∀(�

. ()/( � /%(�.∀�#	&!� +#∀������<��<��.−��/.∀�.∀�#	
!1&% (∃∀��

�

�

��	����� ���Γ� �� ��
���	�	���� ���� ����	���	����� 
��� ��

��	� ��,� ����	���

��
���	�����
�

��
��
�����
�∀(� +/%(�!−+� /%(� ./ 6∀%�� !∀()∀+�∀!� −%∀� ∃&!0∀� .∀� !∀+−#� .2&−� ∃/ %(� �ϑ� =� )&!� !&))/!�� 5� −%∀� # ∃ �∀�

(∗)&!&� 6∀� +/%(� �−&%�� −%∀� # ( 8!∀� −!1& %∀�  .∀%� 3 ∗∀� .&%(� #∀(� /! ∀%�&� /%(� .2&∃∗%&0∀∃∀%�� ∀�� .∀�

)!/0!&∃∃&� /%�/−�#/!(,−∀�#&�# ∃ �∀�(∗)&!&� 6∀�+/!!∀()/%.�5�−%∀�# ∃ �∀�&6∀+�−%∀�:/%∀�−!1& %∀�&33∀+�∗∀�

5�#27&1 �&���

�

�%�.∀7/!(�.∀�+∀(�+&(�)&!� +−# ∀!∋�#∀(�+/%(�!−+� /%(�)∀−6∀%��(	 ∃)#&%�∀!�∀%�# ∃ �∀�(∗)&!&� 6∀���&%(�+∀��∀�

7Φ)/�78(∀∋� �/−�∀(� #∀(� . ()/( � /%(� ./ 6∀%�� ∆�!∀� )! (∀(∋� ∀%� )&!� +−# ∀!� )&!� #	∗�&1# ((∀∃∀%�� .∀� ∃−!(�

+/−)∀<3∀−∋�)/−!�∗6 �∀!�#&�)!/)&0&� /%�.∀(� %+∀%. ∀(��

�

�&%(� #∀� +&(� /Ψ� #∀(� +/%(�!−+� /%(� %∀� (/%�� )&(�  ∃)#&%�∗∀(� ∀%� # ∃ �∀� (∗)&!&� 6∀∋� ∀##∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(�∀%�!∀()∀+�&%��−%∀�∃&!0∀�.2 (/#∀∃∀%���∀##∀�,−∀�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�

�/−��)/ %��.−�1Γ� ∃∀%��∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�(/ ��&−�∃/ %(�∗0&#∀�5�#&�∃/ � ∗�

.∀�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�&6∀+�−%�∃ % ∃−∃�.∀���=�Β���∃��.�α7Λ�Χ��

�

�∴����
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�.∀�#&�∃&!0∀�.∀�!∀+−#���

•  #∀(� +7∀∃ %∗∀(∋� /−6!&0∀(� �∀+7% ,−∀(� ∀�� &−�!∀(� (−)∀!(�!−+�−!∀(� Β+7&−33∀! ∀(∋� &%�∀%%∀(∋�

)&!&�/%%∀!!∀(∋�0&!.∀<+/!)(∋�∀�+����Χ�.∗)&((&%��.∀�#&��/ �−!∀∋�

•  �/−�∀�(& ## ∀�.∀�∃/ %(�.∀��∋��∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�/−�∀3/ (� ( � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� )/−!!/%�� ∆�!∀� &.∃ (∀(� )/−!�

#	 ∃)#&%�&� /%�.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�∀!�& %∀(�!80#∀(�3 =∗∀(�)&!�#∀�)!∗(∀%��&!� +#∀�)/−!!/%��∆�!∀�∗+&!�∗∀(�∀%�&))# +&� /%�.∀(�. ()/( � /%(�.∀�

#	&!� +#∀������<��<��.−��/.∀�.∀�#	
!1&% (∃∀��

�

�

��	����������#���
���	�	������������	���	��������������
�����

��	���,���	����

�������������
��
���	��
�

�� ∃/ %(� ,−∀� #∀(� 1Γ� ∃∀%�(� %∀� (/ ∀%�� +/%� 0−(∋� #&� . (�&%+∀� #∀(� (∗)&!&%�� ./ �� ∆�!∀� �∀##∀� ,−∀�

( ∃−#�&%∗∃∀%��#∀(�+/%. � /%(�.∀�)&((&0∀�∀��.∀�3/%+� /%%∀∃∀%��.−�∃&�∗! ∀#�.∀�#−��∀�+/%�!∀�#2 %+∀%. ∀�

(/ ∀%��(&� (3& �∀(∋��/−��∀%�)! 6 #∗0 &%��&−�∃ ∀−=�#	∀%(/#∀ ##∀∃∀%���

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  44 

��	����������#���
������������
�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��#∀�!&))/!��.∀�#&�(−!3&+∀�)!/4∀�∗∀�&−�(/#�.∀(�6/#−∃∀(�7/!(�Υ−6!∀�.∀�

#2∀%(∀∃1#∀� .∀(� +/%(�!−+� /%(� /−�  %(�&##&� /%(∋� 5� #&� (−!3&+∀� .−� �∀!!& %� Β#∀(� 1&#+/%(∋� #/00 &(∋� �∀!!&((∀(∋�

) (+ %∀(�%/%�+/−6∀!�∀(∋�.∗1/!.(�.∀��/ �−!∀�%∀�(/%��)&(�)! (�∀%�+/∃)�∀�.&%(�#∀�+&#+−#Χ���

�2∀%�!∀%�� ∗0&#∀∃∀%�� )&(� .&%(� #∀� +&#+−#∋� #∀(� 0&!&0∀(� /−� &−�!∀(� #/+&−=� ∀%�∀!!∗(� ∀%� �/�&# �∗� /−�

)&!� ∀##∀∃∀%�∋�( �−%�(/#�&!� 3 + ∀#�&++∀(( 1#∀�∀(��!∀+/%(� �−∗�&−<.∀((−(∋�∀%�+/%� %− �∗�&6∀+�#∀�(/#�%&�−!∀#���

�


%� .∗)&((∀∃∀%�� .−� ���� .∀� ��]� ∃&= ∃−∃� (∀!&� &−�/! (∗� )/−!� #∀(� +/%(�!−+� /%(� !∀∃)# ((&%�� .∀(�

+! �8!∀(� .∀� )∀!3/!∃&%+∀(� ∗%∀!0∗� ,−∀(� /−� +/∃)/!�&%�� .∀(� ∗,− )∀∃∀%�(� .∀� )!/.−+� /%� .	∗%∀!0 ∀(�

!∀%/−6∀#&1#∀(��

�

�∀�+/∀33 + ∀%��.2∀∃)! (∀�&−�(/#�∀(��# ∃ �∗�5�ϑ Φ��

�

�∀�+/∀33 + ∀%��.	∀∃)! (∀�&−�(/#�%∀�(	&))# ,−∀�)&(�)/−!�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3���

�

�

��	���������ϑ���
��	������,��������������	���	�����
�

�∀�% 6∀&−�&#� ∃∗�! ,−∀�.−�)#&%+7∀!�#∀�)#−(�1&(�.∀�#&�+/%(�!−+� /%�%∀�.∀6!&�)&(�∆�!∀� %3∗! ∀−!�5�#&�+/�∀�

.∀(�)#−(�7&−�∀(�∀&−=�+/%%−∀(�∀��.∀6!&�∆�!∀�&�∃ % ∃&�(−)∗! ∀−!�.∀����+∃�&−�% 6∀&−�.−��∀!!& %�%&�−!∀#�

Β)! (�&−�)/ %��#∀�)#−(�1&(�.&%(�#2∀∃)! (∀�.∀�#&�+/%(�!−+� /%Χ���

�

�&�7&−�∀−!�.∀(�%/−6∀##∀(�+/%(�!−+� /%(�)&!�!&))/!��&−��∀!!& %∋�%∀�./ ��)&(�∀=+∗.∀!��ϑ=�5�#&�(&1# 8!∀�/−�

5�#&�1&(∀�.∀�#2&+!/�8!∀��

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�.∀�#&�7&−�∀−!�#∀(�+7∀∃ %∗∀(∋�/−6!&0∀(��∀+7% ,−∀(�∀��&−�!∀(�

(−)∀!(�!−+�−!∀(�Β+7&−33∀! ∀(∋�&%�∀%%∀(∋�)&!&�/%%∀!!∀(∋�0&!.∀<+/!)(∋�∀�+����Χ�.∗)&((&%��.∀�#&��/ �−!∀��

�%��/−��)/ %��.∀�#&�(&1# 8!∀∋�#&�7&−�∀−!�(∀�∃∀(−!∀�+/∃∃∀�(− ����

•  � �#∀�)/ %��∀(��( �−∗�5����∃�/−�∃/ %(�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%��.∀�#&�6/ ∀�.∀�+ !+−#&� /%�

)−1# ,−∀∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�3/%.�.∀��!/��/ !�/−�.∀�#2&++/�∀∃∀%���

•  � � #∀� )/ %�� (∀� ( �−∀� 5� )#−(� .∀� ��� ∃� .∀� . (�&%+∀� .∀� #2&# 0%∀∃∀%�∋� #&� 7&−�∀−!� (∀� ∃∀(−!∀� 5�

)&!� !�.−�(/#�%&�−!∀#��

�

�(/�)&∋/768)73&∋/�493534(/�(∋�+3=37(�/4016173Χ(�%∀�)/−!!/%��∀=+∗.∀!��ϑ�=�.∀�7&−�∀−!�5�#2&)#/∃1�.∀�#&�

# ∃ �∀���

�∀��∀�7&−�∀−!�(∀�∃∀(−!∀�5�#2&)#/∃1�.∀�#&�# ∃ �∀�+/∃∃∀�(− ����

<� � � #∀� )/ %�� ∀(�� ( �−∗� 5� ���∃� /−� ∃/ %(� .∀� . (�&%+∀� .∀� #2&# 0%∀∃∀%�� .∀� #&� 6/ ∀� .∀� + !+−#&� /%�

)−1# ,−∀∋� #&� 7&−�∀−!� (∀� ∃∀(−!∀� 5� )&!� !� .−� % 6∀&−� .−� 3/%.� .∀� �!/��/ !� /−� .∀� #2&++/�∀∃∀%�� #∀� )#−(�

)!/+7∀��

<�� �#∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�

.−�% 6∀&−�∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��

�

�∴����
������

�/!(,−∀�#∀−!(�+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�#2 ∃)/(∀%�∋�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�

3& 1#∀�∀∃)! (∀��)/−!!/%��∆�!∀�∀=∀∃)�∗(�.∀�#&�!80#∀�.∀�7&−�∀−!���

�

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  45 

��	�����������#���
��	��,	�������
�

��
��
�����

�∀(�. ()/( � /%(�.∀�#2&!� +#∀������<���.−��/.∀�.∀�#2
!1&% (∃∀�(/%��&))# +&1#∀(���

���� ��	���� ��� ����
	��	�����
� &
	�� 	��������� ��&
	�� ����	��� ∀��� ����� 	���	��� ��� ������	��
���� ���

�	���	��
���������������������������
	��
��������	����	���
��
��������	��	�+�
��
�	������	����������������

�������
�� 
�	���	������#
����
��������	�������������	�������������	����
������
�	������	
�	��

���
��

�����	��

	�����������
�	&
��������� ����������
��������
��������∗�������
�	�������	������������∀�������

�����	��
����������	����
������������
����.��

�

�/−��(�/+Ζ&0∀�∀%�)#∀ %�& !�.∀6!&�∆�!∀�. (( ∃−#∗�&−�∃ ∀−=�.∀(�!∀0&!.(∋�)&!�.∀(�)&# ((&.∀(�∀(�7∗� ,−∀(∋�

.∀(�7& ∀(�&−=�∀()8+∀(�∀��3/!∃∀(�6&! ∗∀(∋�∀�+�Τ��

�

�∴����
�����

�∀(� . ()/( � /%(� .∗!/0&�/ !∀(� &−=� )!∀(+! )� /%(� .−� )!∗(∀%�� &!� +#∀� (∀!/%�� )/(( 1#∀(�#/!(,−	∀##∀(�

)∀!∃∀��!/%����

•  #&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�./∃∀(� ,−∀(�(/#& !∀(��7∀!∃ ,−∀(�/−�)7/�/6/#�&⊥,−∀(∋�

•  /−�.∀��/−(�&−�!∀(�. ()/( � 3(� %. 6 .−∀#(�.∀�)!/.−+� /%�.	∗%∀!0 ∀�!∀%/−6∀#&1#∀∋�

•  /−� #	−� # (&� /%� ∀%� 3&Ο&.∀� .−� 1/ (� /−� .∀� �/−�� &−�!∀� ∃&�∗! &−� !∀%/−6∀#&1#∀� )∀!∃∀��&%��

.2∗6 �∀!�.∀(�∗∃ (( /%(�.∀�0&:�5�∀33∀��.∀�(∀!!∀∋�

•  /−�#&�!∗&# (&� /%�.∀��/ �−!∀(�6∗0∗�&# (∗∀(�/−�!∀�∀%&%��#∀(�∀&−=�)#−6 &#∀(��

�

�%� +&(� .∀� 1Γ� ∃∀%�� .∀� (�/+Ζ&0∀� (∀∃ � /−6∀!�∋� #2/! ∀%�&� /%� .−� 1Γ� ∃∀%�� /−� #∀(� &∃∗%&0∀∃∀%�(� (−!� #∀�

�∀!!& %� .∀6!/%�� !∀+7∀!+7∀!� −%∀� 6 ( 1 # �∗� &∃/ %.! ∀� .∀� #&� )&!� ∀� /−6∀!�∀� ∀�� .−. �� (�/+Ζ&0∀� .∀)− (� #&�

�����ϑ��

�

�����
�
∴������
��
�������Α�β����������
Θ���
����

�

�/%��  %�∀!. �(� #	∀∃)#/ � 5� %−� .∀� ∃&�∗! &−=� .∀(� %∗(� 5� ∆�!∀� !∀+/−6∀!�(� Β∃−!(� .∀� )&!)& %0(� 1!−�(� )&!�

∀=∀∃)#∀Χ∋� #∀(� ∃&�∗! &−=� 1! ##&%�(∋� .∀� ∃&−6& (� &()∀+�� .∀� (−!3&+∀∋� /−� ./%�� #∀� 6 ∀ ## ((∀∃∀%�� &#�8!∀�

#2&()∀+�� & %( � #∀� +7&−∃∀�� �∀� (7 %0#∀� ∀�� #∀(� )#&,−∀(� �!&%(#−+ .∀(� )∀−6∀%�� ∆�!∀� −� # (∗(� −% ,−∀∃∀%�� .∀�

∃&% 8!∀��!8(�)/%+�−∀##∀�∀��# ∃ �∗∀�∀%�(−)∀!3 + ∀∋�)/−!�#∀(�1∀(/ %(�3/%+� /%%∀#(�.−�1Γ� ∃∀%���

�

�/−!� #∀� �!& �∀∃∀%�� .∀(� 3&Ο&.∀(� ∀�� .∀(� �/ �−!∀(∋� #∀(� %−&%+∀(� �!/)� +#& !∀(� (/%��  %�∀!. �∀(� &−� )!/3 �� .∀�

%−&%+∀(� %�∀!∃∗. & !∀(�,− �(∀�∃∆#∀!/%��&−=�%−&%+∀(�∃/Φ∀%%∀(�∀��)!/3/%.∀(�.∀(�)&Φ(&0∀(��

�∀(�+/−#∀−!(�6 6∀(��∀##∀(�,−∀�#∀�1#&%+∋� #∀�%/ !�)−!�/−�(∀�!&))!/+7&%��.−�4&−%∀∋�1#∀−∋�6∀!��/−�∃&0∀%�&�

6 3(∋�%∀�(/%��&−�/! (∗∀(�,−2∀%�∗#∗∃∀%��)/%+�−∀#�)/−!�(/−# 0%∀!�−%∀�+/!% +7∀�/−�−%�∀%+&.!∀∃∀%��∃& (�

)&(� (/−(� #&� 3/!∃∀� .2−%� &)#&�∋� ∀�� #&� (−!3&+∀� & %( � +/#/!∗∀� %∀� )/−!!&� )&(� ∆�!∀� (−)∗! ∀−!∀� 5� ��� ]� .∀� #&�

(−!3&+∀�.∀�#&�3&Ο&.∀��

�∀�1/ (�)∀−���/−��5�3& ��∆�!∀�−%�∗#∗∃∀%��.∀�+/∃)/( � /%�.&%(�#∀��!& �∀∃∀%��.2−%∀�3&Ο&.∀�/−�)&!� ∀�.∀�

3&Ο&.∀���

�

�(��  %�∀!. �∀�#2−� # (&� /%�(−!�+∀(�3&Ο&.∀(�/−��/ �−!∀(�.∀��/−��∗#∗∃∀%��!∗3#∗+7 ((&%��Β)&%%∀&−=∋��Η#∀(ΤΧ��

,− �)/−!!& ∀%��&�� !∀!�.∀�3&Ο/%�∀=+∀(( 6∀�#∀�!∀0&!.�.∀(�&−�/∃/1 # (�∀(���

�

�

��
�
����

�

Α/!∃∀(�.∀��/ �−!∀(�

�∀(� �/ �−!∀(<�∀!!&((∀� &++−∀ ##&%�� .2∗6∀%�−∀##∀(�  %(�&##&� /%(� �∀+7% ,−∀(� /−� )&%%∀&−=� )7/�/6/#�&⊥,−∀(�

./ 6∀%��. ()/(∀!�.2−%�&+!/�8!∀�(−33 (&%��)/−!�#∀(�. (( ∃−#∀!��

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  46 

�
Θ����

�

�∀(�  %(�&##&� /%(� .∀� 0∗% ∀� +# ∃&� ,−∀� %∀� .∀6!/%�� )&(� ∆�!∀� 6 ( 1#∀(� /−� (∀!/%�� )∀−� 6 ( 1#∀(� .∀)− (� #&�

�����ϑ��

�

�&�∃ (∀�∀%�Υ−6!∀�.∀�)&%%∀&−=�(/#& !∀(� %�∗0!∀!&∋�)&!�#∀−!��& ##∀∋�#∀−!(�)!/)/!� /%(�∀��#∀−!�#/+&# (&� /%�

#∀�(/−+ �.∀�#2 ∃)&+��(−!�#∀�)&Φ(&0∀�∀��.2−%∀�1/%%∀� %�∗0!&� /%�&−�+&!&+�8!∀�&!+7 �∀+�−!&#�.−�1Γ� ∃∀%���

�/−!�+∀��Φ)∀�.2 %(�&##&� /%(∋�  #�∀(��)/(( 1#∀�.∀�(∀�!∗3∗!∀!�5�#&�3 +7∀�Κ�/%(�!− !∀�/−�!∀(�&−!∀!Κ�.−������

Κ�∀(�)&%%∀&−=�(/#& !∀(∋�#∀(�∗+/%/∃ ∀(�.2∗%∀!0 ∀(Κ���

�

�∀(� ∀%(∀ 0%∀(� 6 ( 1#∀(� .∀)− (� #&� ��� ��ϑ� .∀6!/%�� ∆�!∀� &))/(∗∀(� (−!� #∀(� 3&Ο&.∀(�∀�� %/%� (−!� �/ �−!∀∋� % �

. ()/( � 3(�&%+!∗(�&−�(/#��

�

�∴����
�����

�

�∀(� . ()/( � /%(� .∗!/0&�/ !∀(� &−=� )!∀(+! )� /%(� .−� )!∗(∀%�� &!� +#∀� (∀!/%�� )/(( 1#∀(�#/!(,−	∀##∀(�

)∀!∃∀��!/%����

•  #&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�./∃∀(� ,−∀(�(/#& !∀(��7∀!∃ ,−∀(�/−�)7/�/6/#�&⊥,−∀(∋�

•  /−�.∀��/−(�&−�!∀(�. ()/( � 3(� %. 6 .−∀#(�.∀�)!/.−+� /%�.	∗%∀!0 ∀�!∀%/−6∀#&1#∀∋�

•  /−� #	−� # (&� /%� ∀%� 3&Ο&.∀� .−� 1/ (� /−� .∀� �/−�� &−�!∀� ∃&�∗! &−� !∀%/−6∀#&1#∀� )∀!∃∀��&%��

.2∗6 �∀!�.∀(�∗∃ (( /%(�.∀�0&:�5�∀33∀��.∀�(∀!!∀∋�

•  /−�#&�!∗&# (&� /%�.∀��/ �−!∀(�6∗0∗�&# (∗∀(�/−�!∀�∀%&%��#∀(�∀&−=�)#−6 &#∀(���

�

�

��	��������������	�	��������	�
�

�∀�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�+/!!∀()/%.&%��&−=�1∀(/ %(�.∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�&.∃ (∀(�

./ �� ∆�!∀� &((−!∗� ∀%� .∀7/!(� .∀(� 6/ ∀(� )−1# ,−∀(� /−� )! 6∗∀(� /−6∀!�∀(� 5� #&� + !+−#&� /%� 0∗%∗!&#∀�� �∀�

(�&� /%%∀∃∀%��.∀6!&�∆�!∀�&((−!∗�(−!�#∀��∀!!& %�.2&(( ∀��∀�.∀�#&�+/%(�!−+� /%�/−�.∀�#2 %(�&##&� /%�∀��(∀#/%�

#∀(�∃/.&# �∗(�(− 6&%�∀(��

�

�∀� %/∃1!∀� .∀� (�&� /%%∀∃∀%�� ./ �� ∆�!∀� &.&)�∗� 5� #&� .∀(� %&� /%� ∀�� 5� #2−(&0∀� .∀(� /++−)&%�(� ∀��

−� # (&�∀−!(��

�

�∀(�%/−6∀##∀(�6/ ∀(�.∀6!/%��+/∃)!∀%.!∀�.∀(�∀∃)#&+∀∃∀%�(�.∀�(�&� /%%∀∃∀%��7/!(�+#Η�−!∀�∀%�%/∃1!∀�

(−33 (&%��)/−!�#∀(�6 ( �∀−!(�∀��!∗)&!� (�.&%(�#2∀%(∀∃1#∀�.∀�#2/)∗!&� /%��

�

�∀(�:/%∀(�.∀�∃&%Υ−6!∀�./ 6∀%��∆�!∀� %.∗)∀%.&%�∀(�.∀(�6/ ∀(�)−1# ,−∀(�∀��!∀()∀+�∀!�#∀(�!80#∀(�.	&++8(�

3 =∗∀(�5�#	&!� +#∀���+ <.∀((−(��

�

�

�

��	���������������
�������������	�
���	�	���� ���
��������������������
�

�∀(�& !∀(�.∀�(�&� /%%∀∃∀%��&∃∗%&0∗∀(�∀%�(−!3&+∀�./ 6∀%��∆�!∀�)#&%�∗∀(�.2&−�∃/ %(�−%�&!1!∀�.∀�7&−�∀�

� 0∀�)/−!���∀∃)#&+∀∃∀%�(�Β/−�∗,− 6&#∀%��(−!3&+∀�.∀���∀∃)#&+∀∃∀%�(�.∀�6∗7 +−#∀(�#∗0∀!(Χ��

�

�/−!�3&+ # �∀!�#	 %(∀!� /%�.∀(�+/%(�!−+� /%(�/−� %(�&##&� /%(�.&%(�#∀�( �∀∋�9(/�1=4∋1;(=(∋7/�01:/1;(6/�

/&∋7� 3=0&/4/�91∋/� +(/�&63(∋7173&∋/�9∃1=4∋1;(=(∋7�(7�9(�06&;61==173&∋���∀(� .∀!% 8!∀(� )!∗6/ ∀%��

%/�&∃∃∀%�� .∀(� /1# 0&� /%(� .∀� )#&%�∀!� &6∀+� # (�∀� .2∀((∀%+∀(� ()∗+ 3 ,−∀(� ∀��  %�∀!. (∀%�� #∀(� ∃−!(� .∀�

+#Η�−!∀�)#∀ %(∋�5�#&�3&6∀−!�.∀�7& ∀(∋�(−!�#&�# ( 8!∀�−!1& %∀�%/!.�∀%�!∀�&−�!∀(��

�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  47 

�

���	����������
��������	�����,��������∃�	�����	�����������
�

�

��	���������∀�#����!!�����	��%����
�	�����������
�


#�%	∀(��)&(�3 =∗�.∀�+/∀33 + ∀%��.	/++−)&� /%�.−�(/#�/−�.∀�.∀%( �∗�∃ % ∃&#∀�)&!�#∀�)!∗(∀%��&!� +#∀��

�

�

�

�

���	���������������	�������
��������,�����	���	���� �	�����, �

���	����	������	�����������	��
�

�

��	���������.���������	�������
�����������	��������
��!���������������	�−����

�	�������������	�����

�

#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

�

�

��	����� ����Φ� �� ������	����� ��
������ ��� ��	����� �∃��!���	���	����� �	� ������,�

������������	���������	����−����

�

#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀��

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  48 

�

	�	����������������������� ���	���������	�!����	������
�

�

�

�673)+(��Ο����Γ�98��&9(�9(�+%�621∋3/=(�91∋/�/1�Χ(6/3&∋�3//8(�98�94)6(7�∋Π�ϑ�����ϑ�98����54Χ63(6�

�ϑ���

�

?�����/�������	����������
���
����/�����;�.�1�����
�&
	�������������/������	�������������
��	��������

��������� �∀������ ��� ����� �� �	�
���	� ��� 	������ ��� ��
��
���� ��	�����∀���� �������∀��� ���

�������∀�������
�		�����	������.��

�

)��/����;�������
��������&
	����
�	������(��

•  ���������
	��
������
����
����
�������������	�������� ����
�
������	������>��

•  ���� ����
	��
����� �
� ���
����
����� ��������	��� �� ���� �∀�������
�� ������
���� ��� �� ���� ��	������

��������� �
�� ��	�� ∀�������� ��� ���
� ���� �������
������ ����� ��� �	����� ������ ��
���
�� ��	�������

���
�	���������	��
�
	������������
�������
	���2����������
�������
�����
�∀�������������	
��
�����

�

���
��������������	�����������������
�	�����
�������∗�����.��

�

���� �������
����� ���� 
	���� �������� �	������
�� ��� �������∀���
� ���� ����� ���� ���
��	�� ������
��� ���

�������
���������� �
��������������?��������	
������.��!6���≅.��

�

)�� /���� ;� ��
� ��������
� ��
�	���� ��� �������
���� ��� !�� ��� ���	
����� 3.� �!6��!�� ��� �+�������
� ���

���
���
���������#
����
����	�����������
����������������������
���	��+�∀�������	
������
.�≅�

�

�

�673)+(��Ο������98��&9(�9(�+%�621∋3/=(�91∋/�/1�Χ(6/3&∋�3//8(�98�94)6(7�∋Π�ϑ�����ϑ�98����54Χ63(6�

�ϑ���

�

?����/�������
�	�������
���	��
�
	������
���
�����/�����Α�Β.�1�����
�&
	�������������/������
�	������
�

��	��
�
	����������
��	������������������∀�����������������	�
���	����	������(��

�%�∋��
�������∀����
��������
���������� ��
�����������
�	�����������∗�������
�������	���
�	&
��

��
�����
��������
����������
+�
�∀����+��
�	�∀�������������∀���>��

�%�∋��
������� ��
������������ ����
�
������	��
�
	��>��

�%�∋��
�������	���	��

	��������������
�	���.��

�

)��/����Α��������
��������&
	����
�	������(�

•  ���������
	��
������
����
����
�������������	�������� ����
�
������	�������
���	��
�
	��>��

•  ���� ����
	��
����� �
� ���
����
����� ��������	��� �� ���� �∀�������
�� ������
���� ��� �� ���� ��	������

��������� �
�� ��	�� ∀�������� ��� ���
� ���� �������
������ ����� ��� �	����� ������ ��
���
�� ��	�������

���
�	���������	��
�
	������������
�������
	���2����������
�������
�����
�∀�������������	
��
�����

�

���
��������������	�����������������
�	�����
�������∗�����.��

�

�����������
��������� 
	�������������	������
������������∀���
���������� �������
��	������������
�����


	�����	
�� ��� ����������
� ��������
���� ���� ����� ���
������� �� ���	
����� �.� �!6�?�� ������ ∀��� ����� ����

���
��	��������
�������������
���������� �
��������������?��������	
������.��!6���≅.�

)��/����Α�������
�&
	��������
���������	��

	���������
�	���	����∀������������
���
�����
	�����	
������

���������
��� ��� ����
	��	�� �	����� �� ���	
����� �.� �!6�?.� ���� 
�		����� �	����
��
� ��� ��
�	&
� ���	� ���

������������
������ ����
�
�������	��������
���	��
�
	������
�� �������������	
������������	��

	���

∀�����������������
	�����	
���������������
���������
������������.�≅� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  49 

�
�
�	�����#��������
�

���
���	�������������	�������

����������

�

�����	�����������������
�

�&�:/%∀���∀(��−%∀�:/%∀�!∗(∀!6∗∀�5�#	&+� 6 �∗�&0! +/#∀��

�

�##∀�!∀+/−6!∀�#∀(�(∀+�∀−!(�&0! +/#∀(�.∀�#&��/∃∃−%∀∋�∗,− )∗(�/−�%/%∋�5�)!/�∗0∀!�∀%�!& (/%�.−�)/�∀%� ∀#�

&0!/%/∃ ,−∀∋�1 /#/0 ,−∀�/−�∗+/%/∃ ,−∀�.∀(��∀!!∀(�&0! +/#∀(���

�

�##∀� +/∃)/!�∀� −%� (∀+�∀−!� )&!� +−# ∀!� �)� !∀)∗!∗� &−� � �!∀� .∀� #2&!� +#∀� ����<��� .−� �/.∀� .∀� #2
!1&% (∃∀�

.&%(�#∀,−∀#�#∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�%∗+∀((& !∀(�5�#&�∃ (∀�∀%�6&#∀−!�.∀(�! +7∀((∀(�.−�(/#�/−�.−�

(/−(<(/#� Β!∀((/−!+∀(� %&�−!∀##∀(Χ� (/%�� &−�/! (∗∀(� ∀�� +∀� &3 %� .∀� )!∀%.!∀� ∀%� +/∃)�∀� #&� )!∗∀= (�∀%+∀� &−�

��
�.2 %(�&##&� /%(��∀+7% ,−∀(�# ∗∀(�5�#&�0!&6 8!∀�! 6∀!& %∀�.∀��/−6!∀(��%��#& %∀�∀���&!# ∀%(��

�


%∀� )&!� ∀� .∀� #&� :/%∀� ∀(�� &33∀+�∗∀� )&!� #&� 1&%.∀� .∀� 1!− �� # ∗∀� 5� #&� ��� ��ϑ� ∀�� 5� #&� 6/ ∀� 3∀!!∗∀� .&%(�

#∀(,−∀##∀(� .∀(� )!∀(+! )� /%(� .2 (/#&� /%� &+/−(� ,−∀� (/%��  ∃)/(∗∀(� &−=� +/%(�!−+� /%(� (∀#/%� #&�

!80#∀∃∀%�&� /%� ∀%� 6 0−∀−!� Β&+�−∀##∀∃∀%�� #2&!!∆�∗� .−� ��� ∃& � ����� ∃/. 3 ∗� )&!� #2&!!∆�∗� .−� ��� 4− ##∀��

����Χ��

�


%∀�)&!� ∀�.∀�#&�:/%∀�∀(��&33∀+�∗∀�∗0&#∀∃∀%��)&!�#∀(�:/%∀(�.∀�.&%0∀!�.∀���

<�#&�+&%&# (&� /%�.∀��!&%()/!��.27Φ.!/+&!1−!∀(�.∀��∗3∀%(∀��/∃∃−%∀∋�

<�#∀�0&:/.−+�Θ�
�
���<������9��
���������

.&%(� #∀(,−∀##∀(� �/−�� �!&6&−=� /−� +/%(�!−+� /%� ∀(�� (/−∃ (� 5� )!∀(+! )� /%(� +/%3/!∃∗∃∀%�� 5� #&�

!∗0#∀∃∀%�&� /%�∀%�6 0−∀−!∋�!&))∀#∗∀�.&%(�#∀�� �!∀���Κ� ()/( � /%(�0∗%∗!&#∀(Κ�.−�)!∗(∀%��!80#∀∃∀%���

�

�

���	����������	��������%����
�	�����	�����%�	�����	�����������
�

�

��	��������������
�	������	��	�����	��������������	����	���
�

�∀(� /++−)&� /%(� ∀�� −� # (&� /%(� .−� (/#� &−�!∀(� ,−	&0! +/#∀(� (/%��  %�∀!. �∀(∋� 5� #	∀=+∀)� /%� .∀� +∀##∀(�

(/−∃ (∀(�5�.∀(�+/%. � /%(�)&!� +−# 8!∀(�5�#	&!� +#∀�����

�

�

��	����� ��� �� ����
�	����� �	� �	�����	����� ��� ���� ��������� �� ���� �����	�����


��	����������
�

�/%��&.∃ (�(/−(�+/%. � /%(���

�

- �∀(� 1Γ� ∃∀%�(� ∀��  %(�&##&� /%(� 5� −(&0∀� .	&+� 6 �∗� &−�!∀� ,−	&0! +/#∀� (/−(� !∗(∀!6∀� .∀� +/%(� �−∀!�

−%∀�&+� 6 �∗�%∗+∀((& !∀�5�#	&+� 6 �∗�&0! +/#∀�∀��5�+/%. � /%�.	∆�!∀�( �−∗�5�)!/= ∃ �∗�.∀(�1Γ� ∃∀%�(�

)! %+ )&−=�.	∀=)#/ �&� /%∋�

�

- �∀(� +/%(�!−+� /%(� 5� −(&0∀� .	7&1 �&� /%� ∀�� #∀−!(� &%%∀=∀(∋� (∀−#∀∃∀%�� ( � ∀##∀(� (/%�� # ∗∀(� ∀��

%∗+∀((& !∀(�5�#	&+� 6 �∗�&0! +/#∀∋�∀��( �∀##∀(�(/%�∋�(/ ��  %+/!)/!∗∀(�&−=�1Γ� ∃∀%�(�&0! +/#∀(∋�(/ ��

 ∃)#&%�∗∀(� 5� )!/= ∃ �∗� .∀(� 1Γ� ∃∀%�(� )! %+ )&−=� .	∀=)#/ �&� /%∋� .&%(� #&� # ∃ �∀� .∀� ���� ∃[� .∀�

(−!3&+∀�.∀�)#&%+7∀!�&33∀+�∗∀�5�#27&1 �&��)&!�∀=)#/ �&� /%∋�

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  50 

- �∀(�∗,− )∀∃∀%�(∋�#∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�%∗+∀((& !∀(�&−=�(∀!6 +∀(�)−1# +(�/−�.	 %�∗!∆��

+/##∀+� 3∋� +/∃)&� 1#∀(� &6∀+� #&� )!/�∀+� /%� .∀(� �∀!!∀(� &0! +/#∀(∋� %/�&∃∃∀%�� +∀##∀(� # ∗∀(� &−=�

!∗(∀&−=∋�5�#&�)!&� ,−∀�.∀�#&�!&%./%%∗∀�/−∋�)/%+�−∀##∀∃∀%�∋�&−=�()/!�(�∃/�/! (∗(��

�

�

�%� /−�!∀∋� ∀%� (∀+�∀−!��)� (/%�� ∗0&#∀∃∀%�� &−�/! (∗∀(� #∀(� +/%(�!−+� /%(� ∀��  %(�&##&� /%(� %∗+∀((& !∀(� 5� #&�

∃ (∀�∀%�6&#∀−!�.∀(�! +7∀((∀(�.−�(/#�/−�.−�(/−(<(/# dont celles liées à l'activité d'extraction de matériaux  
et à la valorisation de ces derniers qui est complémentaire, et notamment le broyage, concassage, 
criblage, tamisage…�

�

�%3 %∋� �/−�∀(� #∀(� /++−)&� /%(� ∀�� −� # (&� /%(� .−� (/#� %/%�  %�∀!. �∀(� /−� (/−∃ (∀(� 5� .∀(� +/%. � /%(�

)&!� +−# 8!∀(�)&!� #∀(�&!� +#∀(���∀���∋� (/%��&.∃ (∀(�(/−(�+/%. � /%�.∀�%∀�)&(�+!∗∀!�.∀�(/−(<(/#�∀%�∀!!∗�

�/�&#∀∃∀%��/−�)&!� ∀##∀∃∀%��∀��.∀�!∗&# (∀!�−%�6 .∀<(&% �& !∀�&.&)�∗�5�#&�%&�−!∀�.−�! (,−∀�.∀�!∀∃/%�∗∀�

.∀�%&))∀�+/%%−��

�

3������(� 4��
��� ���� ������
����� �
� �
�����
����� ��� ���� 	��
��
� ���������� ��
	�� ��
	��� �������
�����

�	�����������	
�����3����������5���������0	������������������������	
�����3�����!����	������	����
����

�����������	�
���
�����������	�
�������∀���.�

�

�

���	��������������	���������∃����
�	�����������
�

��	�����������������	��������
�

�))Ε/�

�/−�� �∀!!& %� ∀%+#&6∗� ∀(��  %+/%(�!−+� 1#∀∋� 5� ∃/ %(� ,−∀� (/%� )!/)! ∗�& !∀� %∀� )!/.− (∀� −%∀� (∀!6 �−.∀� .∀�

)&((&0∀�(−33 (&%�∀� %(� �−∗∀�)&!�&+�∀�&−�7∀%� ,−∀�/−�)&!�6/ ∀�4−. + & !∀∋�∀%�&))# +&� /%�.∀�#2&!� +#∀��ϑ��

.−�+/.∀�+ 6 #��

�

�/!(,−∀�#∀��∀!!& %�∀(��! 6∀!& %�.∀�.∀−=�/−�)#−( ∀−!(�6/ ∀(�)−1# ,−∀(∋� #2&++8(�(−!�+∀##∀�.∀�+∀(�6/ ∀(�,− �

)!∗(∀%�∀!& ��−%∀�0∆%∀�/−�−%�! (,−∀�)/−!�#&�+ !+−#&� /%�)∀−��∆�!∀� %�∀!. ���

�

�/−�∀� /)∗!&� /%� ./ �� )!∀%.!∀� #∀� ∃ % ∃−∃� .2&++8(� (−!� #∀(� 6/ ∀(� )−1# ,−∀(�� �∀(� +&!&+�∗! (� ,−∀(� .∀(�

&++8(�+7&!!∀� ∀!(�./ 6∀%��∆�!∀�&.&)�∗∀(�5�#2/)∗!&� /%�∀��%/�&∃∃∀%��)∀!∃∀��!∀�.∀�(&� (3& !∀�&−=�!80#∀(�

.∀�.∗3∀%(∀�+/%�!∀� #2 %+∀%. ∀∋�∀��&∃∗%&0∗(�.∀� 3&Ο/%�5�&))/!�∀!� #&�∃/ %.!∀�0∆%∀�5� #&�(∗+−! �∗�∀��5� #&�

+ !+−#&� /%�)−1# ,−∀��

�

�&363(�

�∀(�. ∃∀%( /%(∋�3/!∃∀(�∀��+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�.∀(�6/ ∀(�./ 6∀%��∆�!∀�&.&)�∗∀(�&−=�/)∗!&� /%(�

/−�+/%(�!−+� /%(�,−2∀##∀(�./ 6∀%��.∀((∀!6 !��

�

�

��	������∀���������	��
�������������,�
�

�/−(� #∀(� . ()/( � 3(� )!/4∀�∗(� !∀#&� 3(� 5� #2&# ∃∀%�&� /%� ∀%� ∀&−� ∀�� 5� #2&((& % ((∀∃∀%�� .∀6!/%�� ∆�!∀�

+/%3/!∃∀(�5�#&�!∗0#∀∃∀%�&� /%�∀%�6 0−∀−!��

� �

�18�0&712+(�

�

�/−�∀�+/%(�!−+� /%�/−� %(�&##&� /%�%∗+∀(( �&%��−%∀�&# ∃∀%�&� /%�∀%�∀&−�)/�&1#∀�./ ��∆�!∀�!&++/!.∗∀�&−�

!∗(∀&−�+/##∀+� 3�.∀�. (�! 1−� /%�.2∀&−�)/�&1#∀��

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  51 

�%� #2&1(∀%+∀� .−� !∗(∀&−� )−1# +� .∀� . (�! 1−� /%� .2∀&−� )/�&1#∀∋� #&� ∃ (∀� ∀%� Υ−6!∀� .2 %(�&##&� /%(�

 %. 6 .−∀##∀(�)∀−��∆�!∀�&−�/! (∗∀∋�(/−(�!∗(∀!6∀�,−∀�#2&# ∃∀%�&� /%�∀%�∀&−�)/�&1#∀�(/ ��&((−!∗∀�.&%(�.∀(�

+/%. � /%(� +/%3/!∃∀(� 5� #&� #∗0 (#&� /%� ∀%� 6 0−∀−!� ∀�� ,−∀� #∀(� /−6!&0∀(� )!/.− (∀%�� −%� 6/#−∃∀� .2∀&−�

(−33 (&%��∀��.∀�,−&# �∗�(&� (3& (&%�∀��

�

�//13∋3//(=(∋7�

�&−=�−(∗∀(�

�

�∀(� ∀&−=� −(∗∀(� .∀� �/−�∀� /! 0 %∀� ./ 6∀%�∋� 5� .∗3&−�� .∀� 1!&%+7∀∃∀%�� )/(( 1#∀� (−!� −%� !∗(∀&−� .2∗0/−��

+/##∀+� 3∋� ∆�!∀� . ! 0∗∀(� )&!� .∀(� +&%&# (&� /%(� (/−�∀!!& %∀(� (−!� .∀(� . ()/( � 3(� .∀� �!& �∀∃∀%�� ∀�� ∆�!∀�

∗6&+−∗∀(�+/%3/!∃∗∃∀%��&−=�∀= 0∀%+∀(�.∀(��∀=�∀(�!∗0#∀∃∀%�& !∀(��

�

�&−=�)#−6 &#∀(�

�

�∀(� ∀&−=� )#−6 &#∀(� (∀!/%�� !∀+−∀ ## ∀(� ∀��  %3 #�!∗∀(� (−!� #∀� �∀!!& %� &−�&%�� ,−∀� )/(( 1#∀�� �∀(� . ()/( � 3(�

+7/ ( (�)/−!�Φ�)&!6∀% !�.∀6!/%��∆�!∀�+/%3/!∃∀(�&−=�%/!∃∀(�∀%�6 0−∀−!��

�

�%� +/∃)#∗∃∀%�� &−=� /1# 0&� /%(� + <.∀((−(∋� #&� !∗&# (&� /%� .∀� + �∀!%∀(� 3&6/! (&%�� #&� !∗�∀%� /%� ∀�� #&�

!∗−� # (&� /%�.	∀&−=�)#−6 &#∀(�∀(��6 6∀∃∀%��!∀+/∃∃&%.∗∀��

�

�

�+()763)374 �74+40∗&∋(�(7�74+493558/3&∋�

�∀(�!∗(∀&−=�∀��1!&%+7∀∃∀%�(�%/−6∀&−=�./ 6∀%��∆�!∀�!∗&# (∗(�∀%�(/−�∀!!& %��

�

�

�3Χ(6/�

�/−!� #2&))# +&� /%� .∀(� . ()/( � /%(� .−� )!∗(∀%�� &!� +#∀∋� ( � +/∃)�∀� �∀%−� .∀� #&� .∀(� %&� /%� .∀� #&�

+/%(�!−+� /%�)!/4∀�∗∀∋� #∀(�!∗(∀&−=�)−1# +(�%∀�(/%��)&(�.∀�+&)&+ �∗�(−33 (&%�∀∋� #∀�)∀!∃ (�.∀�+/%(�!− !∀�

)/−!!&�∆�!∀�!∀3−(∗�/−�∆�!∀�(/−∃ (�5�.∀(�)!∀(+! )� /%(�()∗+ &#∀(�)∀!∃∀��&%��.∀�)&## ∀!�#2 %(−33 (&%+∀�.∀(�

!∗(∀&−=���

�

�&%(� �/−�∀� #&� :/%∀∋� #∀(� . ()/( � /%(� .∀� #2&!� +#∀� �� ���<�� .−� �/.∀� .∀� #2
!1&% (∃∀∋� %/�&∃∃∀%�∋�

.∀∃∀−!∀%�� &))# +&1#∀(� �� ���	�∀���� ����
�� 
���� ��� ��� ���
���
���� ��� ��� ����
	��
���� ��� ���

������������
� �	���
��� ���� 
	���� � ��	
��
� ��	� ���� 	����� � �������� ��� ���
	���
���� �������

���������������
����������
	���
����������
	���
�����
���������	������	�����	�	���������	
������	���
�����

��	�����������
	��	��������������	�������
�&
	������	����������
�	�
�������
��
������
������������	��

������∀��	� ����� ∀���� ������ �
� ��	� ∀������ ������
���
�� �����∀��� ��� ��	� ∀���� �������������	�� ��� ��	�����

�����������
	���� �������
�&
	��� ���
���.�

�

�

��	������.��������	����	�−��������	��������
�


#�%	∀(��)&(� ∃)/(∗�.∀�+&!&+�∗! (� ,−∀�)&!� +−# 8!∀�)/−!�,−	−%��∀!!& %�(/ ��+/%(�!−+� 1#∀��

�

�

��	������Φ�����
���	�	������������	���	�����
�����

��	���,��������	���
������


����−����
�

��
��
�����

�−+−%∀�!80#∀�.2 ∃)#&%�&� /%�%2∀(�� ∃)/(∗∀�)&!�!&))/!��&−=�∀∃)! (∀(�&−�!∀(�,−∀�#∀(�6/ ∀(�/−6∀!�∀(�5�#&�

+ !+−#&� /%�)−1# ,−∀�.∀(�6/ �−!∀(∋�,−2∀##∀(�(/ ∀%��)−1# ,−∀(�/−�)! 6∗∀(���

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  52 

�2 ∃)#&%�&� /%� .∀(� 1Γ� ∃∀%�(� .∀6!&� )∀!∃∀��!∀� #∀(� ∃&%Υ−6!∀(� .∀(� ∀%0 %(� ∀�� ∃&�∗! ∀#(� &0! +/#∀(� ∀%�

.∀7/!(�.∀(�6/ ∀(�)−1# ,−∀(��

�

�∀(�%/−6∀##∀(�+/%(�!−+� /%(�.∀6!/%��(	 ∃)#&%�∀!���

•  (/ ��5�#	&# 0%∀∃∀%�∋�

•  (/ ��.&%(�#∀�)!/#/%0∀∃∀%��.	−%∀�+/%(�!−+� /%�∀= (�&%�∀∋��

•  (/ ��∀%�!∀()∀+�&%��−%�!∀+−#�.2&−�∃/ %(���=�)&!�!&))/!��5�#2&# 0%∀∃∀%���

�

�∀(� %/−6∀##∀(� +/%(�!−+� /%(� .∀(� %∗∀(� &−� (�&� /%%∀∃∀%�� .∀(� 6∗7 +−#∀(� &−�/∃/1 #∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(� ∀%� !∀()∀+�&%�� −%� !∀+−#� .2&−� ∃/ %(� ��∃� &−� .!/ �� .∀� #2∀%�!∗∀� .∀� 0&!&0∀� )&!� !&))/!�� 5�

#2&# 0%∀∃∀%�∋�(&−3�5�. ()/(∀!�.2−%∀�+/−!�.2∗6/#−� /%�)∀!∃∀��&%��.2∀33∀+�−∀!�#∀(�∃&%Υ−6!∀(�.2&++8(�&−�

0&!&0∀� ∀%� .∀7/!(� .∀� #&� 6/ ∀� .∀� .∀((∀!�∀�� 
%� !∀+−#� )#−(�  ∃)/!�&%�� )/−!!&� ∆�!∀�  ∃)/(∗� )/−!� #∀(�

+/%(�!−+� /%(� 5� 6/+&� /%� .∀� (�&� /%%∀∃∀%�� .∀� 6∗7 +−#∀(� &0! +/#∀(� .∀� 0&1&! �� (−)∗! ∀−!� 5� +∀#− � .2−%�

6∗7 +−#∀�#∗0∀!��

�

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#��/−�∀�(& ## ∀�.2&−�)#−(��∋���∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�∴����
������

�&%(�#∀�+&(�.∀�+ !+/%(�&%+∀(�)&!� +−# 8!∀(�Β6 !&0∀�&++∀%�−∗∋�+!/ (∀∃∀%��.∀�6/ ∀(∋�3/!�∀�)∀%�∀∋�/−�)/−!�

.∀(� ∃/� 3(� .∀� !∀+7∀!+7∀� .−� ∃∀ ##∀−!� ∀%(/#∀ ##∀∃∀%�Χ∋� −%� !∀+−#� . 33∗!∀%�� .−� )! %+ )∀� + <.∀((−(� (∀!&�

&.∃ (∋�/−�)/−!!&�∆�!∀� ∃)/(∗�)/−!�.∀(�∃/� 3(�.∀�(∗+−! �∗��

� � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� (∀!/%�� &.∃ (∀(� )/−!� #	 ∃)#&%�&� /%�

.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

��	����� �Γ� �� ��
���	�	���� ���� ����	���	����� 
��� ��

��	� ��,� ����	���

��
���	�����
�

�∀(� +/%(�!−+� /%(� )∀−6∀%�� (	 ∃)#&%�∀!� ∀%� # ∃ �∀� (∗)&!&� 6∀�� �&%(� +∀� +&(∋�  #� ∀(��  %�∀!. �� .∀� +!∗∀!� −%∀�

/−6∀!�−!∀�.&%(�−%�∃−!�.∀�+/%(�!−+� /%� ∃)#&%�∗�∀%�# ∃ �∀�(∗)&!&� 6∀∋�+!∗&%��4/−!�/−�6−∀��

�

�&%(� #∀� +&(� /Ψ� #∀(� +/%(�!−+� /%(� %∀� (/%�� )&(�  ∃)#&%�∗∀(� ∀%� # ∃ �∀� (∗)&!&� 6∀∋� ∀##∀(� ./ 6∀%�� ∆�!∀�

 ∃)#&%�∗∀(�∀%�!∀()∀+�&%��−%∀�∃&!0∀�.2 (/#∀∃∀%���∀##∀�,−∀�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�

�/−��)/ %��.−�1Γ� ∃∀%��∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�(/ ��&−�∃/ %(�∗0&#∀�5�#&�∃/ � ∗�

.∀�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�&6∀+�−%�∃ % ∃−∃�.∀��=����=�Η�9�Ι∗?�Χ��

�

�∀� )#−(∋� .&%(� #∀� +&(� .∀� ∃−!(� /−� .∀� �/ �−!∀(� +/∃)/!�&%�� .∀(� 1& ∀(� &6∀+� 6−∀� 5� #2∗�&0∀∋� #&� . (�&%+∀�

+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀� #∀�% 6∀&−�.∀� #&�)&!� ∀�(−)∗! ∀−!∀�.∀� #&�)#−(�7&−�∀�1& ∀�∀�� #∀�)/ %��#∀�

)#−(� )!/+7∀� .∀� #&� # ∃ �∀� (∗)&!&� 6∀� %∀� )∀−�� ∆�!∀�  %3∗! ∀−!∀� 5� #&� . 33∗!∀%+∀� .∀� % 6∀&−� ∀%�!∀� +∀(� .∀−=�

)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5��∃���=�Η�9�Ι
2����2/14∀+� 3�∗�&%��.∀�)!∗(∀!6∀!�#∀(�7&1 �&%�(�.∀(�

6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #&� 6−∀� +!∗∗∀� ./%%∀� (−!� −%∀�

)!/)! ∗�∗�! 6∀!& %∀�+/%(�!− �∀�/−�+/%(�!−+� 1#∀�.&%(�−%∀�6/+&� /%�.27&1 �&���

�

�%3 %∋�.&%(�#∀�+&(�.∀��∀!!&((∀(�&++∀(( 1#∀(�/−�.∀�1&#+/%(∋�#&�. (�&%+∀�+/∃)�∗∀�7/! :/%�&#∀∃∀%��∀%�!∀�#∀�

% 6∀&−�3 % �.∀�)#&%+7∀!�∀��#∀�)/ %��#∀�)#−(�)!/+7∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀�%∀�)∀−��∆�!∀� %3∗! ∀−!∀�5�.∀−=�

3/ (�#&�. 33∗!∀%+∀�.∀�% 6∀&−�∀%�!∀�+∀(�.∀−=�)/ %�(�∀��./ ��∆�!∀�&−�∃/ %(�∗0&#∀�5���∃���=�Η�9�Ι��
0���


#� +/%6 ∀%��.2∀%�∀%.!∀�)&!�Κ�∀!!&((∀�&++∀(( 1#∀Κ∋�%/%�)&(�−%∀�&++∀(( 1 # �∗� �∀+7% ,−∀�%∗+∀(( �∗∀�)/−!�

−%∀�!& (/%�.2∀%�!∀� ∀%∋�∃& (�−%∀�&++∀(( 1 # �∗�.∀�Κ# ∀−�.∀�6 ∀Κ∋�∃∆∃∀�/++&( /%%∀#���2/14∀+� 3�∗�&%��.∀�

)!∗(∀!6∀!� #∀(� 7&1 �&%�(� .∀(� 6−∀(� )#/%0∀&%�∀(� .∀(� ! 6∀!& %(∋� +∀��∀� . ()/( � /%� %∀� (2&))# ,−∀� ,−∀� ( � #∀�

1&#+/%� /−� #&� �/ �−!∀<�∀!!&((∀� +!∗∀� −%∀� 6−∀� (−!� #&� )!/)! ∗�∗� ! 6∀!& %∀� ∀�� −% ,−∀∃∀%�� ( � #&� # ∃ �∀�

(∗)&!&� 6∀�./%%∀�(−!�−%�∀()&+∀�+/%(�!− ��/−�+/%(�!−+� 1#∀�.&%(�−%∀�.∀(� %&� /%�.27&1 �&���

�



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  53 

�∴����
�����

�∀�(/%��)&(�)! (�∀%�+/∃)�∀�)/−!�#∀�+&#+−#�.∀�#&�∃&!0∀�.∀�!∀+−#���

•  #∀(� +7∀∃ %∗∀(∋� /−6!&0∀(� �∀+7% ,−∀(� ∀�� &−�!∀(� (−)∀!(�!−+�−!∀(� Β+7&−33∀! ∀(∋� &%�∀%%∀(∋�

)&!&�/%%∀!!∀(∋�0&!.∀<+/!)(∋�∀�+����Χ�.∗)&((&%��.∀�#&��/ �−!∀∋�

•  �/−�∀�(& ## ∀�.∀�∃/ %(�.∀��∋��∃�)&!�!&))/!��&−�∃−!�.∀�3&Ο&.∀��

�

�/−�∀3/ (� ( � #	∗+/%/∃ ∀� .−� )!/4∀�� #∀� 4−(� 3 ∀∋� .∀(� . ()/( � /%(� . 33∗!∀%�∀(� )/−!!/%�� ∆�!∀� &.∃ (∀(� )/−!�

#	 ∃)#&%�&� /%�.	/−6!&0∀(�)−1# +(�/−�.	 %�∗!∆��+/##∀+� 3�.∀�3& 1#∀�∀∃)! (∀��

�

�∀(�) (+ %∀(�∀��#∀(�&1! (�.∀�4&!. %�)∀−6∀%��(2 ∃)#&%�∀!�# 1!∀∃∀%���

�

�

��	����� ��� �� ��
���	�	���� ���� ����	���	����� ���� ����� 
��� ��

��	� ��,� ��	����

�������������
��
���	��
�

�� ∃/ %(� ,−∀� #∀(� 1Γ� ∃∀%�(� %∀� (/ ∀%�� +/%� 0−(∋� #&� . (�&%+∀� #∀(� (∗)&!&%�� ./ �� ∆�!∀� �∀##∀� ,−∀�

( ∃−#�&%∗∃∀%��#∀(�+/%. � /%(�.∀�)&((&0∀�∀��.∀�3/%+� /%%∀∃∀%��.−�∃&�∗! ∀#�.∀�#−��∀�+/%�!∀�#2 %+∀%. ∀�

(/ ∀%��(&� (3& �∀(∋��/−��∀%�)! 6 #∗0 &%��&−�∃ ∀−=�#	∀%(/#∀ ##∀∃∀%���

�

�

��	������������
������������
�


#�%	∀(��)&(� ∃)/(∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀��

�

�

�

��	�������ϑ���
��	������,��������������	���	�����
�∀�% 6∀&−�&#� ∃∗�! ,−∀�.−�)#&%+7∀!�#∀�)#−(�1&(�.∀�#&�+/%(�!−+� /%�%∀�.∀6!&�)&(�∆�!∀� %3∗! ∀−!�5�#&�+/�∀�

.−��∀!!& %�%&�−!∀#�Β)! (�&−�)/ %��#∀�)#−(�1&(�.&%(�#2∀∃)! (∀�.∀�#&�+/%(�!−+� /%Χ��

�

��
��
���

�Χ �&�7&−�∀−!�.∀(�%/−6∀##∀(�)&∋/768)73&∋/�1876(/�≅8∃1;63)&+(/�%∀�./ ��)&(�∀=+∗.∀!���% 6∀&−=�7/!(�

(/#∋�#∀��!/ ( 8∃∀�% 6∀&−�%∀�)/−6&%��∆�!∀�&#/!(�,−∀�.∀(�+/∃1#∀(�&∃∗%&0∗(�(/ ��Κ��Π��Π+/∃1#∀(Κ��

�&%(�#∀�+&(�.∀�+/∃1#∀(�&∃∗%&0∗(∋� #�%∀�(∀!&�&−�/! (∗�,−2−%�(∀−#�% 6∀&−�.&%(�#∀(�+/∃1#∀(���∀��∀�!80#∀�

∀(��6∗! 3 ∗∀�+/−)∀�)&!�+/−)∀�∀%�+&(�.∀�+/%(�!−+� /%(�&6∀+�.∀(�.∗+&#&0∀(�.∀�% 6∀&−=��

�

�Χ �&�7&−�∀−!�.∀(�%/−6∀##∀(�)&∋/768)73&∋/�1;63)&+(/∋�)&!�!&))/!��&−��∀!!& %∋�%∀�./ ��)&(�∀=+∗.∀!�

���∃8�!∀(�5�#&�(&1# 8!∀�/−�5�#&�1&(∀�.∀�#2&+!/�8!∀���

�&!�∀=+∀)� /%∋�#&�7&−�∀−!�.∀(�( #/(�∀��.−�∃&�∗! ∀#��∀+7% ,−∀�%2∀(��)&(�# ∃ �∗∀��

�%��/−��)/ %��.∀�#&�(&1# 8!∀�/−�.∀�#&�1&(∀�.∀�#2&+!/�8!∀�#&�7&−�∀−!�(∀�∃∀(−!∀�+/∃∃∀�(− ����

•  � �#∀�)/ %��∀(��( �−∗�5����∃�/−�∃/ %(�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%�∋�#&�7&−�∀−!�(∀�∃∀(−!∀�5�

)&!� !�.−�3/%.�.∀��!/��/ !�/−�.∀�#2&++/�∀∃∀%���

•  � � #∀� )/ %�� (∀� ( �−∀� 5� )#−(� .∀� ��� ∃� .∀� . (�&%+∀� .∀� #2&# 0%∀∃∀%�∋� #&� 7&−�∀−!� (∀� ∃∀(−!∀� 5�

)&!� !�.−�(/#�%&�−!∀#��

�

�Χ �&!�& ##∀−!(∋�#&�7&−�∀−!�.∀(�1263/�9(�Κ1693∋/�%∀�3& (&%��)&(�+/!)(�&6∀+�#&�+/%(�!−+� /%�)! %+ )&#∀�

∃∀(−!∗∀� 5� )&!� !� .−� % 6∀&−� .−� (/#� %&�−!∀#� Β&−� +∀%�!∀� .∀� #2&1! Χ� 4−(,−2&−� (/∃∃∀�� Β�/ �−!∀�

+/∃)! (∀Χ�.∀�#2&1! ∋�%∀�./ ��)&(�∀=+∗.∀!��∋���∃��

�

�Χ �(/� )&∋/768)73&∋/� 493534(/� (∋� +3=37(� /4016173Χ(� %∀� )/−!!/%�� ∀=+∗.∀!� Φ .ϑ� =� .∀� 7&−�∀−!� 5�

#2&)#/∃1� .∀� #&� # ∃ �∀�� �∀��∀� 7&−�∀−!� )&((∀� 5� �∋��� ∃8�!∀(� ( � #&� # ∃ �∀� (∗)&!&� 6∀� ∀%� ,−∀(� /%�

+/!!∀()/%.�&−(( �5�−%∀�# ∃ �∀�&6∀+�#&�:/%∀�
���∀��∀�7&−�∀−!�(∀�∃∀(−!∀�5�#2&)#/∃1�.∀�#&�# ∃ �∀�

+/∃∃∀�(− ����



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  54 

<�� �#∀�)/ %��∀(��( �−∗�5����∃�/−�∃/ %(�.∀�. (�&%+∀�.∀�#2&# 0%∀∃∀%��.∀�#&�6/ ∀�.∀�+ !+−#&� /%�

)−1# ,−∀∋� #&�7&−�∀−!�(∀�∃∀(−!∀�5�)&!� !�.−�% 6∀&−�.−� 3/%.�.∀��!/��/ !�/−�.∀� #2&++/�∀∃∀%�� #∀�

)#−(�)!/+7∀��

<�� � #∀�)/ %��(∀�( �−∀�5�)#−(�.∀����∃�.∀�. (�&%+∀�.∀� #2&# 0%∀∃∀%�∋� #&�7&−�∀−!�(∀�∃∀(−!∀�5�

)&!� !�.−�% 6∀&−�∃/Φ∀%�.−��∀!!& %�)! (�.∀�)&!��∀��.2&−�!∀�.∀�#&�# ∃ �∀�(∗)&!&� 6∀��

�

�∴����
������

�/!(,−∀�#∀−!(�+&!&+�∗! (� ,−∀(��∀+7% ,−∀(�#2 ∃)/(∀%�∋�#∀(�∗,− )∀∃∀%�(�)−1# +(�/−�.2 %�∗!∆��+/##∀+� 3�.∀�

3& 1#∀�∀∃)! (∀�)/−!!/%��∆�!∀�∀=∀∃)�∗(�.∀�#&�!80#∀�.∀�7&−�∀−!��

�

� �∀##∀(�(2&))− ∀%��5�−%∀�+/%(�!−+� /%�.∗45� ∃)#&%�∗∀�∀%�# ∃ �∀�.∀�)!/)! ∗�∗�(−!�#∀�3/%.(�6/ ( %∋�/−�5�−%�

∃−!�.∀�+#Η�−!∀∋�#&�7&−�∀−!�.∀(�+/%(�!−+� /%(�∀%�# ∃ �∀�(∗)&!&� 6∀�(∀!&�# ∃ �∗∀�5�+∀##∀∋�(/ ��.−�1Γ� ∃∀%��

∀= (�&%�∋�(/ ��.−�∃−!�∀= (�&%����

�

�&%(�#∀�+&(�.∀�+/%(�!−+� /%(�)!∗∀= (�&%�∀(�)!∗(∀%�&%��−%∀�7&−�∀−!�(−)∗! ∀−!∀�5�+∀##∀�3 =∗∀�+ <.∀((−(∋�

.&%(� −%� 1−�� .∀� 1/%%∀�  %�∗0!&� /%� &!+7 �∀+�−!&#∀∋� #∀−!(� ∀=�∀%( /%(� )/−!!/%�� )!∗(∀%�∀!� −%∀� 7&−�∀−!�

∗0&#∀∋�&−�)#−(∋�5�+∀##∀�.−�1Γ� �)!∗∀= (�&%���

�

�

��	�������������
��	��,	�������
�

��
��
�����

�∀(�. ()/( � /%(�.∀�#2&!� +#∀������<���.−��/.∀�.∀�#2
!1&% (∃∀�(/%��&))# +&1#∀(���

Κ��� ��	���� ��� ����
	��	�� ���
� &
	�� 	������ ��� ��&
	�� ����	��� ∀��� ����� 	���	��� ��� ������	��
���� ���

�	���	��
����� ����������� ��� ���� ����
	��
������ ��	� ���	� ��
��
����� ���	� �	�+�
��
�	��� ���	����������������

�������
�� 
�	���	������#
����
��������	�������������	�������������	����
������
�	������	
�	��

���
�����

��	��

	�� ��� �� ����
�	&
� ���� ���� � ���������
��� ��� ��
��� ��� ��∗����� ��
�	��� ��� �	������ ������ ∀���� ���

�����	��
����������	����
������������
�����Κ�

�

�/−!�−%∀�1/%%∀� %�∗0!&� /%�.&%(�#∀�)&Φ(&0∀�∀%6 !/%%&%��∀��.&%(�#∀�( �∀∋�(∀!/%��%/�&∃∃∀%��)! (∀(�∀%�

+/∃)�∀�#∀(�+&!&+�∗! (� ,−∀(�(− 6&%�∀(���

•  �∀(�1Γ� ∃∀%�(� (/#∗(�/−�#∀(�∀%(∀∃1#∀(�.∀�1Γ� ∃∀%�(�(∀!/%���!& �∗(�&6∀+�(/ %��

•  
%�&++/∃)&0%∀∃∀%��6∗0∗�&# (∗�.∀(�&1/!.(�.∀(�+/%(�!−+� /%(�(∀!&�!∗&# (∗∋�( �%∗+∀((& !∀∋�

)/−!� %�∗0!∀!�#∀�1Γ� ∃∀%��.&%(�#∀�)&Φ(&0∀���

•  �&� ∃&!0∀� .∀� !∀+−#� ∀%�!∀� #∀� 1Γ� ∃∀%�� ∀�� #&� 6/ ∀� )−1# ,−∀� (∀!&� �!& �∗∀� .∀� )!∗3∗!∀%+∀� ∀%�

+/−!(∋� %�∗0!&%��#∀�(�&� /%%∀∃∀%��∀��#∀(�∃&!0∀(�.∀�∃&%Υ−6!∀��

�

�∴����
������

�

�∀(� . ()/( � /%(� .∗!/0&�/ !∀(� &−=� )!∀(+! )� /%(� .−� )!∗(∀%�� &!� +#∀� (∀!/%�� )/(( 1#∀(�#/!(,−	∀##∀(�

)∀!∃∀��!/%����

•  #&�!∗&# (&� /%�.∀�(Φ(�8∃∀(�./∃∀(� ,−∀(�(/#& !∀(��7∀!∃ ,−∀(�/−�)7/�/6/#�&⊥,−∀(∋�

•  /−�.∀��/−(�&−�!∀(�. ()/( � 3(� %. 6 .−∀#(�.∀�)!/.−+� /%�.	∗%∀!0 ∀�!∀%/−6∀#&1#∀∋�

•  /−� #	−� # (&� /%� ∀%� 3&Ο&.∀� .−� 1/ (� /−� .∀� �/−�� &−�!∀� ∃&�∗! &−� !∀%/−6∀#&1#∀� )∀!∃∀��&%��

.2∗6 �∀!�.∀(�∗∃ (( /%(�.∀�0&:�5�∀33∀��.∀�(∀!!∀∋�

•  /−�#&�!∗&# (&� /%�.∀��/ �−!∀(�6∗0∗�&# (∗∀(�/−�!∀�∀%&%��#∀(�∀&−=�)#−6 &#∀(���

�

�

��	������������	�	��������	�������
�������
�

�∀�(�&� /%%∀∃∀%��.∀(�6∗7 +−#∀(�+/!!∀()/%.&%��&−=�1∀(/ %(�.∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�&.∃ (∀(�

./ �� ∆�!∀� &((−!∗� ∀%� .∀7/!(� .∀(� 6/ ∀(� )−1# ,−∀(� /−� )! 6∗∀(� /−6∀!�∀(� 5� #&� + !+−#&� /%� 0∗%∗!&#∀∋� (−!� #∀�

�∀!!& %�.2&(( ∀��∀�.∀�#&�+/%(�!−+� /%�/−�.∀�#2 %(�&##&� /%���



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  55 

�

�/−!� �/−�∀�%/−6∀##∀�+/%(�!−+� /%∋� #∀�%/∃1!∀�.∀�(�&� /%%∀∃∀%��& %( �,−∀� #∀(�∀()&+∀(�.∀�∃&%Υ−6!∀(�

.∀6!/%��∆�!∀�&.&)�∗(�5�#&�.∀(� %&� /%�∀��5�#	−(&0∀�.∀(�/++−)&%�(�∀��.∀(�−� # (&�∀−!(��

�

�

��	�������������
�������������	�
���	�	���� ���
��������������������
�

�∀(� ∀()&+∀(� # 1!∀(� &−=� &1/!.(� .∀(� +/%(�!−+� /%(� ./ 6∀%�� ∆�!∀� ∀%�!∀�∀%−(�� �∀(� )#&%�&� /%(� (∀!/%�� .∀�

)!∗3∗!∀%+∀�.	∀((∀%+∀(�#/+&#∀(�/−�&.&)�∗∀(�&−�+# ∃&���

�

�/−!� 3&+ # �∀!� #	 %(∀!� /%�.∀(�+/%(�!−+� /%(�/−�  %(�&##&� /%(�%/−6∀##∀(�.&%(� #∀�( �∀∋�.∀(�&∃∗%&0∀∃∀%�(�

)&Φ(&0∀!(�)∀−6∀%��∆�!∀� ∃)/(∗(��

�

�

���	����������
��������	�����,��������∃�	�����	�����������
�

�

��	�������∀������!!�����	��%����
�	�����������
�


#�%	∀(��)&(�3 =∗�.∀�+/∀33 + ∀%��.	/++−)&� /%�.−�(/#�/−�.∀�.∀%( �∗�∃ % ∃&#∀�)&!�#∀�)!∗(∀%��&!� +#∀��

�

�

�

���	���������������	�������
��������,�����	���	���� �	�����, �

���	����	������	�����������	��
�

�

��	�������.���������	�������
�����������	��������
��!���������������	�−�����	�

������������	�����
�


#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

�

�

��	�������Φ���������	�������
�����������	������∃��!���	���	������	�������,����

���������	���������	����−����
�


#�%	∀(��)&(�3 =∗�.∀�)!∀(+! )� /%�)&!� +−# 8!∀���

� �



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  56 

�
�
�	�����#��������

�
�

���
���	�������������	�������

���������

�

�����	�����������������
�
�&�:/%∀���+/−6!∀�#∀(�(∀+�∀−!(�.∀�#&�+/∃∃−%∀∋�∗,− )∗(�/−�%/%∋�5�)!/�∗0∀!�∀%�!& (/%�.∀�#&�,−&# �∗�.∀(�

( �∀(∋� .∀(� ∃ # ∀−=� %&�−!∀#(∋� .∀(� )&Φ(&0∀(� ∀�� .∀� #∀−!�  %�∗!∆�� %/�&∃∃∀%�� .−� )/ %�� .∀� 6−∀� ∀(�7∗� ,−∀∋�

7 (�/! ,−∀� /−� ∗+/#/0 ,−∀∋� (/ �� .∀� #	∀= (�∀%+∀� .	−%∀� ∀=)#/ �&� /%� 3/!∀(� 8!∀∋� (/ �� .∀� #∀−!� +&!&+�8!∀�

.	∀()&+∀�%&�−!∀#�/−�∀%+/!∀�∀%3 %�)−!�+!∗∀!�−%∀�. (+/%� %− �∗�∀%�!∀�. 33∗!∀%�∀(�:/%∀(��

�

�&�:/%∀���∀(��−%∀�:/%∀�.∀�)!/�∀+� /%�(�! +�∀��

�

�##∀�+/∃)/!�∀�(∀+�∀−!����&33∀+�∗�&−=�#/ ( !(∋��/−! (∃∀�∀��+&∃) %0��

�


%∀� )&!� ∀� .∀� #&� :/%∀� ∀(�� &33∀+�∗∀� )&!� #&� 1&%.∀� .∀� 1!− �� # ∗∀� 5� #&� ��� ��ϑ� ∀�� 5� #&� 6/ ∀� 3∀!!∗∀� .&%(�

#∀(,−∀##∀(� .∀(� )!∀(+! )� /%(� .2 (/#&� /%� &+/−(� ,−∀� (/%��  ∃)/(∗∀(� &−=� +/%(�!−+� /%(� (∀#/%� #&�

!80#∀∃∀%�&� /%� ∀%� 6 0−∀−!� Β&+�−∀##∀∃∀%�� #2&!!∆�∗� .−� ��� ∃& � ����� ∃/. 3 ∗� )&!� #2&!!∆�∗� .−� ��� 4− ##∀��

����Χ��

�


%∀�)&!� ∀�.∀�#&�:/%∀�∀(��&33∀+�∗∀�∗0&#∀∃∀%��)&!�#∀(�:/%∀(�.∀�.&%0∀!�.∀���

<�#&�+&%&# (&� /%�.∀��!&%()/!��.27Φ.!/+&!1−!∀(�.∀��∗3∀%(∀��/∃∃−%∀∋�

<�#∀�0&:/.−+�Θ�
�
���<������9��
���������

.&%(� #∀(,−∀##∀(� �/−�� �!&6&−=� /−� +/%(�!−+� /%� ∀(�� (/−∃ (� 5� )!∀(+! )� /%(� +/%3/!∃∗∃∀%�� 5� #&�

!∗0#∀∃∀%�&� /%�∀%�6 0−∀−!∋�!&))∀#∗∀�.&%(�#∀�� �!∀���Κ� ()/( � /%(�0∗%∗!&#∀(Κ�.−�)!∗(∀%��!80#∀∃∀%���

�

�

���	����������	��������∃����
�	�����	�����∃�	�����	�����������
�

�

��	��������������
�	������	��	�����	��������������	����	���
�

�∀(�/++−)&� /%(�∀��−� # (&� /%(�.−�(/#�%/%�∃∀%� /%%∗∀(�5�#	&!� +#∀�(− 6&%��(/%�� %�∀!. �∀(�5�#	∀=+∀)� /%����

�

<�91∋/�7&87(�+1�<&∋(∋�.∀(�+/%(�!−+� /%(�∀�� %(�&##&� /%(�%∗+∀((& !∀(�5�.∀(�∗,− )∀∃∀%�(�+/##∀+� 3(�/−�5�

.∀(�(∀!6 +∀(�)−1# +(��

�

<�(∋�/()7(86����8∋3≅8(=(∋7����

•  .∀(�+&∃)(�.	&++−∀ #�)/−!��∀%�∀(�∀��+&!&6&%∀(∋��

•  .∀(�7&1 �&� /%(�#∗08!∀(�.∀�#/ ( !(�/−�∗,− 6&#∀%�(∋�

•  .∀(�+∀%�!∀(�∗,−∀(�!∀(��

•  �=�∀%( /%�.∀�+/%(�!−+� /%(�∀= (�&%�∀(�

�

�

��	����� ��� �� ����
�	����� �	� �	�����	����� ��� ���� ��������� �� ���� �����	�����


��	����������
�

����&∋7�19=3/(/�(∋�/()7(86����8∋3≅8(=(∋7�∀��(/−(�!∗(∀!6∀�.∀�#&�+&)&+ �∗�.∀(�6/ ∀(�∀��!∗(∀&−=�)−1# +(�

#∀(�.∀((∀!6&%�����

<�#∀(�& !∀(�.∀�4∀−=�∀��.∀�()/!�(�( �∀##∀(�(/%��/−6∀!�∀(�&−�)−1# +∋��



Règlement Thorey En Plaine  VERSION 8 

Mai 2015  57 

<�#∀(�&%%∀=∀(∋�1Γ� ∀(�/−�%/%∋�( �∀##∀(�(/%��# ∗∀(�5�.∀(�+/%(�!−+� /%(�5�−(&0∀�.27&1 �&� /%�( �−∗∀(�.&%(�#&�

:/%∀�.∀(�:/%∀(�4/−=�&%��#∀�(∀+�∀−!∋�

<�#∀(�+/%(�!−+� /%(∋� %(�&##&� /%(�∀��#∀(�&%%∀=∀(�.&%(�#&�∃∀(−!∀�/Ψ����

•  (/ ��∀##∀(�&++/∃)&0%∀%��.∀(�& !∀(�.∀�4∀−=�/−�.∀�()/!�(�/−6∀!�∀(�&−�)−1# +∋��

•  (/ �� ∀##∀(� (/%�� # ∗∀(� &−� 0&!. ∀%%&0∀� ∀�� 5� #2∀=)#/ �&� /%� +/∃∃∀!+ &#∀� .∀(� ∗,− )∀∃∀%�(� ∀��

&+� 6 �∗(�&−�/! (∗(∋�

•  (/ ��∀##∀(�(/%��.∀(� %∗∀(�&−=�#/ ( !(∋�&−��/−! (∃∀�/−�&−=�()/!�(∋��

 
����&∋7�19=3/�91∋/�7&87(�+1�<&∋(�#�

�/−(�!∗(∀!6∀�,−2 #(�%∀�)/!�∀%��)&(�&��∀ %�∀�5�#2 %�∗!∆��.−�( �∀�∀��.∀�#2∀%6 !/%%∀∃∀%����

<�#∀(�& !∀(�.∀�(�&� /%%∀∃∀%��/−6∀!�∀(�&−�)−1# +��

<�#∀(�&33/− ##∀∃∀%�(�∀��∀=7&−((∀∃∀%�(�.−�(/#�(/−(�!∗(∀!6∀�,−2 #(�(/ ∀%��!∀%.−(�%∗+∀((& !∀(�)&!�#&�

!∗&# (&� /%�.2−%∀�/++−)&� /%�/−�−� # (&� /%�.−�(/#�&.∃ (∀�

<�#∀(�+/%(�!−+� /%(�/−� %(�&##&� /%(�.∀�3& 1#∀�∀∃)! (∀�# ∗∀(�#	∀=)#/ �&� /%�3/!∀(� 8!∀∋�/−�5�#2&+� 6 �∗�

+Φ%∗0∗� ,−∀�/−�∀%+/!∀�&−�#/0∀∃∀%��.2&% ∃&−=��

�

��� �(/� 93/0&/373&∋/� 01673)8+3Ε6(/� (2&))# ,−∀%�� &−=� ∗#∗∃∀%�(� )!∗(∀%�&%�� −%�  %�∗!∆�� &!+7 �∀+�−!&#∋�

) ��/!∀(,−∀∋�7 (�/! ,−∀�/−�−!1&% (� ,−∀���∀(�∗#∗∃∀%�(�3 0−!∀%��∀%�&%%∀=∀�.−�!&))/!��.∀�)!∗(∀%�&� /%�

.&%(�#∀(�3 +7∀(�.2 .∀%� 3 +&� /%�&−�)&�! ∃/ %∀���/−(��!&6&−=�&Φ&%��)/−!�∀33∀��.∀�.∗�!− !∀�/−�∃/. 3 ∀!�−%�

.∀�+∀(�∗#∗∃∀%�(∋�∀%�&))# +&� /%�.−�Ε;�.∀�#2&!� +#∀�����<�<��.−�+/.∀�.∀�#2−!1&% (∃∀�∀��%/%�(/−∃ (�5�−%�

!∗0 ∃∀�.∀�.∗+#&!&� /%�/−�.2&−�/! (&� /%∋�./ 6∀%�� 3& !∀� #2/14∀��.	−%∀�.∗+#&!&� /%�)!∗&#&1#∀∋�6/ !∀�.	−%�

)∀!∃ (�.∀�.∗∃/# !�+/%3/!∃∗∃∀%��5�#	&!� +#∀������<�ϑ�.−��/.∀�.∀�#	
!1&% (∃∀���

�

����%�/−�!∀∋��/−�∀(�#∀(�/++−)&� /%(�∀��−� # (&� /%(�.−�(/#�%/%� %�∀!. �∀(�/−�(/−∃ (∀(�5�.∀(�+/%. � /%(�

)&!� +−# 8!∀(�)&!� #∀(�&!� +#∀(���∀���∋� (/%��&.∃ (∀(�(/−(�+/%. � /%�.∀�%∀�)&(�+!∗∀!�.∀�(/−(<(/#�∀%�∀!!∗�

�/�&#∀∃∀%��/−�)&!� ∀##∀∃∀%��∀��.∀�!∗&# (∀!�−%�6 .∀<(&% �& !∀�&.&)�∗�5�#&�%&�−!∀�.−�! (,−∀�.∀�!∀∃/%�∗∀�

.∀�%&))∀�+/%%−��

�

�

3������(�4��
�������������
������
��
�����
������������	��
��
�������������
	����
	����������
������	������

�� ���	
����� 3� ������ ��� 5���� ��� ��0	��������� �� ������� ��� ���	
����� 3� ����!� ���	� �����	����
���� ��� ���

�����	�
���
�����������	�
�������∀���.�

�
�

�

�

���	��������������(7����������	���������%����
�	�����
��������	���

��,��������%�	�����	��������������������	�������
��������,�

����	���	���� �	�����, ����	����	������	�����������	��

�
�


#�(∀!&�3& ��&))# +&� /%�.∀(�&!� +#∀(���5����.∀�#&�:/%∀��∋�(&−3�∀%�+∀�,− �+/%+∀!%∀�#&�∃ (∀�∀%�(/−�∀!!& %�.∀(�

!∗(∀&−=� ∀�� 1!&%+7∀∃∀%�(� .2∗#∀+�! + �∗∋� �∗#∗)7/%∀� ∀�� �∗#∗. 33−( /%∋� ,− � %2∀(�� ,−∀� !∀+/∃∃&%.∗∀� ∃& (�

%/%�/1# 0&�/ !∀�∀%�:/%∀����

�

�

�

�

�


